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DETAILS OF   GROUPS WITH MEMBERS  
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                   Group 7 

1  AMAR NARAYAN SHUKLA  25  NIRMALA DEVI  
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                    Group 8 
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7  Deepak Kumar Bedi  31  Rajeev Pathak  

8  Dhagala Ram  32  Rajshree singh  
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                  Group 9 

9  Dhanpreet Kaur  33  Rakhi Baisoya  
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                  Group 11 

17  JAGDISH CHAND YADAV  41  SHAILENDRA KUMARI VERMA  

18  JAISHA K J  42  Shankar Prasad Sah  

19  Kiran Bhatt  43  SHIVALI SHARMA  

20  Krishan Kumar  44  Shubha shukla  

 
                             Group 6                                  

45             Subrat Kumar Baliarsingh  

21  MADDILA VENKATESH                     Group 12 

22  MOHAMMAD IKHALAQUE  46  SUNITA MOHANTY  
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ÞŝɟɰÍ ÒØɡàɟ Þŝ  a_a_-a  ̀

    SESSION ENDING EXAMINITION 2020 -21 

θÛÝ× ï yÎxÜɟĦŝ 

    SUBJECT-ECONOMICS 

SET 1 

ÞÖ×ï b ÁɰÈɭ                                             ¾àɟ ïĈ×ɟØßÛɠɰ                                yκÐ¾ÍÖ yɰ¾- 80 

Time ï 3 Hours                                         Class XI                                                     M.M. 80 

General Instructions    (ÞɟÖɟę× ȑÑÏɴÜ): 

(i) All questions in both sections are compulsory.ÏɨÑʇ ¿ĔÊʇ ¾ɭ ÞÕɠ ŢĤÑ yȑÑÛɟ×x ßɮ]  
(ii)  Marks for questions are indicted against each question.Ţĕ×ɭ¾ ŢĤÑ ¾ɭ ÞɟÖÑɭ }Ñ¾ɭ yɰ¾ 
ÏÜɟx×ɭ À×ɭ ßʅ]  

(iii) Question No. 1-10 and18-27are very short answer questions carrying 1 mark each. They 

are required to be answered in one sentence.ŢĤÑ Þɰć×ɟ 1-10 ©Ø 18-27 yȑÍ ÙÁȓ }ǡØɡ× 
ŢĤÑ ßʅ] Ţĕ×ɭ¾ ŢĤÑ 1 yɰ¾ ¾ɟ ßɮ]ÞÕɠ ŢĤÑʇ ¾ɟ }ǡØ ¤¾ ÛɟĆ× Öɭ ÏɭÑɟ ßɮ]  
                  Case based questions 

(iv) Question No. 11-12 and 28-29 are short answer questions carrying 3 marks each. 

Answers to them should not normally exceed 60 words each.ŢĤÑ Þɰć×ɟ 11-12 ©Ø 28-29 

ÙÁȓ }ǡØɡ× ŢĤÑ ßʅ] Ţĕ×ɭ¾ ŢĤÑ 3 yɰ¾ ¾ɟ ßɮ] ÞÕɠ ŢĤÑʇ ¾ɟ }ǡØ 60 ÜĜÏʇ Þɭ yκÐ¾ Ñ ßɨ]  
(v) Question No. 13- 15 and 30-32 are also short answer questions carrying 4 marks each. 

Answers to them should not normally exceed 70 words each.ŢĤÑ Þɰć×ɟ 13-15©Ø 30-

32ÙÁȓ }ǡØɡ× ŢĤÑ ßʅ] Ţĕ×ɭ¾ ŢĤÑ 4 yɰ¾ ¾ɟ ßɮ] ÞÕɠ ŢĤÑʇ ¾ɟ }ǡØ 70 ÜĜÏʇ Þɭ yκÐ¾ Ñ ßɨ]  
(vi) Question No. 16 -17 and33-34are long answer questions carrying 6 marks each. Answers 

to them should not normally exceed 100 words each. ŢĤÑ Þɰć×ɟ 16-17 ©Ø 33-34 ÏɡÁx 
}ǡØɡ× ŢĤÑ ßʅ] Ţĕ×ɭ¾ ŢĤÑ 6yɰ¾ ¾ɟ ßɮ] ÞÕɠ ŢĤÑʇ ¾ɟ }ǡØ Þɰ-ÕÛÍɪ 100 ÜĜÏʇ Þɭ yκÐ¾ Ñ 
ßɨ] 

(vii)  Answers should be brief and to the point and the above word limit be adhered to 

as for as possible. 

}ǡØ ÞÈɡ¾ ¤Ûɰ ÞɰνàĚÍ ßʇ ÍÎɟ }ÒØɨĆÍ ÜĜÏ ÞɠÖɟ ¾ɟ ÒɟÙÑ ¾Øʃ 

 

 

Q1 

Part A   ¿ĔÊ y 

ÃØÖ Öȕġ×ʇ Þɭ ¾ɩÑ Þɟ ©ÞÍ ŢÕɟθÛÍ ßɨÍɟ ßɮ? 

(y)ÖɟĘ×(Ô) ÔßȓÙ¾(Þ)ÖȒĘ×¾ɟ (Ï) {ÑÖʃ Þɭ ¾ɨ| Ñßɡɰ 

Which average is affected by extreme values?  

 (a)Mean            (b) Mode    (c) Median   (d) None of these 

 

 

1 

Q2 ÅÔ Q3 ¾ɟ ÖɟÑ 45000 ßɮ ©Ø Q1 ¾ɟ ÖɟÑ 18000 ßɮ, Íɨ ÃÍȓÎx¾ θÛÃÙÑ ¾ɟ ÖɟÑ Ć×ɟ 
ßɨÀɟ?    

(y) 22500  (Ô) 27000   (Þ)9000 (Ï) 13500  

the When the value of Q3 is 45000 and Q1 is 18000, what will be the value of 

quartile deviation?                                                                                                                          

(a)            22500   (b) 27000    (c) 9000  (d) 13500 

1 
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Q3 ×ȏÏ X©Ø Y ¾ɭ ÔɠÃ ¾ɟ ÞĞÔęÐ Þ¾ɟØɟĕÖ¾ ßɮ ©Ø Y ÁÈÍɟ ßɮ Íɨ XÖʃ Ć×ɟÒȎØÛÍxÑ 

ßɨÀɟ?                                                                                                                                        

(y) ÛȗʬκÐ      (Ô) ¾Öɠ     (Þ) ÞɟÖɟÑ Øßɭ   (Ï) Øɭζ¿¾ ȼÒ Öʃ ÔÏÙÍɟ ßɮ   

  If the relationship between X and Y is positive and variable Y decreases, how 

will    variable X change.?                                                                                                                       

(a) Increase    (b) decrease    (C) remain same       (d) change linearly 

1 

 

 

Q4 

ÏɭÜ Öʃ ÖȓşɟĦÓɥȑÍ ¾ɥ ÏØ ¾ɥ ÀÌÑɟ ¾ØÑɭ ¾ɭ εÙ¤ ȑÑĞÑ Öʃ Þɭ η¾Þ Öȕġ× ÞȕÃ¾ɟɰ¾ ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ?         

(y) }ÒÕɨĆÍɟ Öȕġ× ÞȕÃ¾ɟɰ¾   (Ô) ©ʬ×ɨκÀ¾ }ĕÒɟÏÑ ¾ɟ ÞȕÃ¾ɟɰ¾ 

(Þ) Îɨ¾ Öȕġ× ÞȕÃ¾ɟɰ¾   (Ï) ×ɭ ÞÕɠ 
Which of the following price index is used to calculate the rate of inflation in the 

country?  

       (a)Consumer price index  (b) Index of Industrial production    

      (c) Wholesale price index   (d) All of these 

 

 

1 

Q5 yÑȓÞɰÐɟÑ¾Íɟx ¾ɭ ʬÛɟØɟ ÒßÙɡ ÔɟØ ¤¾ŝ η¾×ɭ À¤ zɰ¾îʇ ¾ɨ------------ ¾ßɟ ÅɟÍɟ ßɮ 
(i) ʬθÛÍɠ×¾ zɰ¾îɭ   (ii)ŢɟÎεÖ¾ zɰ¾îɭ   (iii) ÏɨÑʇ  i ©Ø  ii(iv)  ÏɨÑʇ Öʃ Þɭ ¾ɨ| Ñßɡɰ  

 The data collected for the first time by the investigator is called ---------------------- 

(a) Secondary data (b) Primary data  (c) Both a and b  (d ) None of the above 

1 

Q6 yÎxÜɟĦŝ ¾ɭ ÅęÖÏɟÍɟ ¾ɩÑ ßʅ? 

 Who is the Father of Economics? 

1 

Q7 ÖĘ×¾ɟ η¾Þɠ θÛÍØÌ ¾ɨ -------------- ÔØɟÔØ ÕɟÀʇ Öʃ ÔɟɰÈÍɟ ßɮ  
(i) 2     (ii)  4     (iii)  3    (iv) {ÑÖɭ Þɭ ¾ɨ| Ñßɡɰ  

Median divides a distribution in ------------ equal parts  

              (i) 2             (ii) 4            (iii)   3           (iv) None  of these 

1 

Q8 ×ȏÏ ÖɟĘ× 4 ßɮ ©Ø ÖĘ×¾ɟ 5  , ÔßȓÙ¾ áɟÍ ¾Øɨ? 

  If Mean is  4 and Median is 5, find Mode ? 

1 

Q9 Write the formula of coefficient of variance. 

θÛÃØÌ ¾ɭ ÀȓÌɟɰ¾ ¾ɟ Þȕŝ εÙζ¿¤] 

1 

Q10 ÔßȓÙ¾ ȑÑ¾ÙÑɭ ¾ɭ εÙ¤ η¾Þ zÙɭ¿ɠ θÛκÐ ¾ɟ Ţ×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ ? 
(i) ÔɟØ ŐɟÓ  (ii) z×Í κÃŝ   (iii) Ûȗǡ κÃŝ  (iv) {ÑÖɭ Þɭ ¾ɨ| Ñßɡɰ 

Which graphical method is used to find Mode? 

(i) Bar Graph       (ii)  Histogram         (iii) Pie Diagram       (iv) None of these 

Or  yÎÛɟ 

ÔßȓÛÃÑ Öʃ ÞɟɰȒć×¾ɥ ¾ɥ ÒȎØÕɟÝɟ Ïɨ  
Define Statistics in plural sense. . 

1 

Q11 ©ÞÍ ¾ɭ η¾ęßɡ ÍɠÑ }ʬÏɭĤ×ʇ ¾ɨ ÞÖÆɟ{¤ 

yÎÛɟ 

ÔßȓÙ¾ ¾ɭ η¾ęßɡ ÍɠÑ yÛÀȓÌʇ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤] 

    Explain any three objectives of averages. 

OR 

3 
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    Explain any three demerits of mode. 

Q12 If the arithmetic mean of the data given below is 28, find the missing frequency 

×ȏÏ ÑɠÃɭ ȏÏ¤ À¤ z¾îɨ ¾ɟ ÞÖɟęÍØ ÖɟĘ× 28 ßɮ Íɨ ÙȓĚÍ zÛȗȑÍ áɟÍ ¾ɥȒÅ×ɭ : 

Income(z×) 0- 10 10- 20 20-30 30 - 40 40 -50 50 -60 

Frequency(zÛȗȑÍ) 12 18 27 ? 17 6 
 

3 

Q13 ÅÑÀÌÑɟ θÛκÐ ©Ø ÑÖȕÑɟ θÛκÐ ¾ɭ ÔɠÃ yɰÍØ ĦÒĥÈ ¾Øʃ] ¾ɨ| Õɠ ÃɟØ ÖȓʬÏʃ] 

Differentiate between Census method and Sample method.  Any four points 

4 

Q14 Calculate rank difference correlation coefficient from the following data. 

 

ECO. 78 36 98 25 75 82 92 62 65 39 

ACC. 84 51 91 60 68 62 86 58 35 49 
 

4 

Q15 

ȑÑĞÑεÙζ¿Í zɯ¾Êʇ ¾ɭ εÙ¤ ÖɟÑ¾ θÛÃÙÑ ¾ɥ ÀÌÑɟ ¾Øʃ]  

X 15 20 25 30 35 

f 2 3 6 7 2 

yÎÛɟ 

ȑÑĞÑεÙζ¿Í zɯ¾îʇ Þɭ ÞÖɟɰÍØ ÖɟĘ× ¾ɥ Þßɟ×Íɟ Þɭ ÖɟĘ× θÛÃÙÑ ¾ɥ ÀÌÑɟ ¾ɥȒÅ¤] 

7 Äɟŝʇ ʬÛɟØɟ ŢɟĚÍ yɰ¾: 12, 85, 70, 20, 40, 55, 75 

Calculate standard deviation for the following data. 

X 15 20 25 30 35 

f 2 3 6 7 2 

OR  

Find out mean deviation from mean from the following data. 

Marks obtained by 7 students: 12, 85, 70, 20, 40, 55, 75 

4 

Q16 zɯ¾îʇ ¾ɭ ÛÀɶ¾ØÌ ¾ɭ ÃɟØ Ţ¾ɟØʇ ÒØ ÃÃɟx ¾Øʃ] Ţĕ×ɭ¾ ¾ɟ ¤¾-¤¾ }ÏɟßØÌÏɡȒÅ¤]  

Discuss four types of classification of data. Give one example of each. 

6 

Q17 ȑÑĞÑεÙζ¿Í zɯ¾îʇ ¾ɟ }Ò×ɨÀ ¾Ø¾ɭ ηÓÜØ ¾ɥ θÛκÐ ʬÛɟØɟ ÞȕÃ¾ɟɰ¾ ¾ɥ ÀÌÑɟ ¾Øʃ:  

ÛĦÍȓ¤ɯ 
zÐɟØ ÛÝx ÛÍxÖɟÑ ÛÝx 

¾ɥÖÍ(ȼÒ¤ ) Öɟŝɟ({¾ɟ|×ɟɯ) ¾ɥÖÍ(ȼÒ¤ ) Öɟŝɟ({¾ɟ|×ɟɯ) 

y 5 30 6 50 

Ô 4 15 8 25 

Þ 3 20 4 30 

Ï 2 10 4 20 

 

 

 

6 
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Compute index number by Fisherôs method using the following data:  

Commodity  
Base year  Current year 

Price(Rs) Quantity(Units) Price(Rs.) Quantity(Units) 

A 5 30 6 50 

B 4 15 8 25 

C 3 20 4 30 

D 2 10 4 20 

OR 

Construct Index Number of Industrial Production from the following data.    

fuEu fyf[kr vkadM+ksaaaaaaaaaaaaaaaaa ls vkS|ksfxd mRiknu lwpdkad dh x.kuk 

dhft, A 

 Industry  Output  

Base Year Current 

Year 

Weight Units 

1 Manufacturing production 

2 Electrical product 

3 Mining 

244 

406 

130 

600 

800 

174 

85 

5 

10 

M.Tons 

Th.Tons 

M.Tons 
 

 

Q18 

Part B   ¿ĔÊ Ô 

ÈȕÎÒɭĦÈ ¤¾ Ţ¾ɟØ ¾ɟ }ĕÒɟÏ ßɮ ȒÅÞ¾ɭ ÔɟÅɟØ ¾ɟ Ţ¾ɟØ ßɮ  
(y) ¤¾ɟκÐ¾ɟØɡ ŢȑÍ×ɨκÀÍɟ(Ô) ¤¾ɟκÐ¾ɟØ(Þ) ÒȕÌx ŢȑÍ×ɨκÀÍ(Ï) yġÒɟκÐ¾ɟØ 

Toothpaste is a product of which type of market formé 

(a) Monopolistic competition (b) monopoly 

(c) Perfect competition (d) oligopoly 

1 

Q19. ÞɠÖɟɰÍ }ĕÒɟÏÑ Þɭ Ć×ɟ ÍɟĕÒ×x ßɮ?     

What is meant by marginal product?  

1 

Q20. }ĕÒɟÏÑ¾ɥ ÏȕÞØɡ{¾ɟ| ÒØ ¾ȓÙ  ȒĦÎØ ÙɟÀÍ  a_ ȼÒ¤ ßɮ ©Ø ÍɠÞØɡ {¾ɟ| ÒØ ÞɠÖɟɰÍ 

ÙɟÀÍ d ȼÒ¤ ßɮ,  ÍɠÞØɡ {¾ɟ| ÒØ ¾ȓÙ ȒĦÎØ ÙɟÀÍ  Ć×ɟ ßɨÀɠ ?  
'y( ̀ d ȻÒ×ɭ  (Ô) a_ ȻÒ×ɭ  (Þ) ad ȻÒ×ɭ   (Ï) d ȻÒ×ɭ  

TFC is Rs. 20 at second unit of output and MC at third unit is Rs. 5.TFC at third 

unit of output will be 

(a)Rs.15  (b)Rs.20     (c) Rs.25  (d) Rs.5 

1 

Q21. ÞɠÖɟɰÍ zÀÖ ©Ø ¾ɥÖÍ ßÖɭÜɟ ÞÖɟÑ ßɨÍɭ ßɮ:       

(y)ÒȕÌx ŢȑÍ×ɨκÀÍɟ ÔɟÅɟØ Öʃ(Ô) ¤¾ɟκÐ¾ɟØ ÔɟÅɟØ Öʃ  
Þ)¤¾ɟκÐ¾ɟØɟĕÖ¾ ŢȑÍ×ɨκÀÍɟ ÔɟÅɟØ Öʃ(Ï) {ÑÖʃ Þɭ ¾ßɡ Ñßɡ? 
Marginal Revenue and Price are always equal under: 

(a) Perfect competitionmarket(b) Monopoly market 

(c) Monopolistic competition market(d) None of these. 

1 

Q22. ©ÞÍ }ĕÒɟÏ ¾ɥ ÀÌÑɟ ¾ɮÞɭ ¾ɥ ÅɟÍɠ ßɮ ? 
How is Average Product calculated? 

(i) TP xQ       (ii)  TP/Q          (iii)  MP x Q             (iv)   MP/Q 

1 

Q23. ÞÖɟÑ ¾ɥÖÍ η¾Þ ÔɟéɟØ ¾ɥ θÛÜɭÝÍɟ ßɮ ? 1 
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(i) ÒȕÌx ŢȑÍ×ɨκÀÍɟ (ii) ¤¾ɟκÐ¾ɟØɡ ŢȑÍ×ɨκÀÍɟ (iii) ¤¾ɟκÐ¾ɟØ(iv) {ÑÖɭ Þɭ 
¾ɨ| Ñßɡɰ  

Uniform price is the feature of which type of market ? 

          (i)Perfect Competition  ( ii) Monopolistic Competition  

(iii) Monopoly (iv) None of these  

Q24. κÀÓɭÑ ÛĦÍȓ ¾ɭ εÙ¤ ÖɟɰÀ ÛŎ ¾ɮÞɟ ßɨÀɟ ? 
(i) ÑɠÃɭ ¾ɥ ̈Ø ËɟÙȕ  (ii) ~ÒØ¾ɥ ̈Ø ËɟÙȕ  
(iii)  X axis ¾ɭ ÞÖɟÑɟɰÍØ (iv) ¾ɨ| Ñßɡɰ 

What is the shape of demand curve for a Giffengood ? 

(i) Sloping downwards               (ii)  Upward sloping   

(ii)  (iii) parallel  to X axis             (iv) none of these  

1 

Q25. If MRS is constant than what will be the slope of Indifference Curve? 

×ȏÏ MRS ȒĦÎØ ßɨ Íɨ }ÏɟÞɠÑÍɟ ÛŎ ¾ɟ ËɟÙ Ć×ɟ ßɨÀɟ ? 
1 

Q26. Þßɡ ×ɟ ÀÙÍ ÔÍɟ{¤  :  ÒȕÌx ŢȑÍ×ɨκÀÍɟ ÔɟéɟØ Öʃ ©ÞÍ zÀÖ ÞɠÖɟęÍ zÀÖ Þɭ 
yκÐ¾ ßɨÀɟ 

 State True or False :      Under perfect Competition Market , AR is greater than 

MR. 

1 

Q27. ÔÅÈ Ùɟ{Ñ ¾ɟ ÞÖɠ¾ØÌ εÙ¿ʃ  
yÎÛɟ 

¤¾Ù ÒÞɰÏÀɠ ¾ɥ ÒȎØÕɟÝɟ Ïʃ 
 Write the Budget Line equation   

            OR 

Define Monotonic  Preferences  

1 

Q28. A consumer consumes two goods X and Y. Explain what will happen if MUx/Px is 

greater than MUy/Py?      

¤¾ }ÒÕɨĆÍɟ Ïɨ ÛĦÍȓ̈ X ¤Ûɰ  Y¾ɟ }ÒÕɨÀ ¾ØÍɟ ßɮ I×ȏÏMUy/PyÞɭ MUx/PxyκÐ¾ 
ßɨ Íɨ    

  ÔÍɟ{¤ η¾ ÍÔ Ć×ɟ ßɨÀɟ? 
yÎÛɟ or  

TheMeasure of price elasticity of demand of a normal good carries minus sign while 

priceelasticity of supply carries plus sign. Explain why 

ÞɟÖɟę× ÛĦÍȓ ¾ɥ ÖɟɰÀ ¾ɥ ÙɨÃ ¾ɥ ÀÌÑɟ ¾ØÍɭ ÞÖ× {Þɭ  ÌɟĕÖ¾ κÃęß  ¤Ûɰ ÒȕȑÍx ¾ɥ 
ÙɨÃ ¾ɨ ÐÑɟĕÖ¾ κÃęß ¾ɥ ̈Ø Ć×ʇ εÙ¿Íɭ ßɮ ? 

3 

Q29. 

 
ÛĦÍȓ ¾ɥ ¾ɥÖÍ ŢȑÍ {¾ɟ| ȼÒ¤ 20 ÒØ ÖɟɯÀɠ À×ɠ Öɟŝɟ 300 {¾ɟ|×ɟɯ ßɮ, ÅÔ ¾ɥÖÍ 
ȼÒ¤ 2 Þɭ Ôï ÅɟÍɠ ßɮ ©Ø ÖɟɯÀ κÀØ ÅɟÍɠ ßɮ, ÛĦÍȓ ¾ɥ ÖɟɯÀɠ À×ɠ Ñ| Öɟŝɟ áɟÍ ¾ɥȒÅ¤, 

ÅÔ ÖɟɯÀ ¾ɥ ÙɨÃ -2 ßɮ]      

The demand for a good is 300 units at Rs.20, if price rises by Rs.2 and demand 

falls, find the new quantity demanded, if Elasticity of demand is -2. 

3 
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Q30. η¾Þɠ ÃɟØ ¾ɟØ¾ʇ ¾ɨ ÔÍɟ¤ Åɨ η¾Þɠ ÛĦÍȓ ¾ɥ ÖɟɰÀ Öʃ ÛȗʬκÐ ¾ɟ ¾ɟØÌ ÔÑÍɭ ßɮ  
State any four factors that cause an ñincreaseò in demand of a commodity. 

4 

Q31. ÒȕȑÍx Öʃ θÛĦÍɟØô ÍÎɟ óÒȕȑÍx Öʃ ÛȗʬκÐô ¾ɭ ÔɠÃ yɰÍØ ĦÒĥÈ ¾ɥȒÅ¤]  

yÎÛɟ 

ÞɠÖɟɰÍ }ĕÒɟÏ ©Ø ©ÞÍ }ĕÒɟÏ ¾ɭ ÔɠÃ ÞɰÔɰÐʇ ¾ɨ ÞÖÆɟ{¤. 

Differentiate between óExtension of supplyô and óIncrease in supplyô.  

OR 

Explain the relationship between MP and AP. 

4 

Q32. }ĕÒɟÏÑ ÞɰÕɟÛÑɟ ÛŎ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤] ÅÔ yÎxģ×ÛĦÎɟ Öʃ ÔɭØɨÅÀɟØɡÖʃ 

ÛȗʬκÐ ßɨÍɠ ßɮ Íɨ }Þ¾ɟ }ĕÒɟÏÑ ÞɰÕɟÛÑɟ ÛŎ ÒØ Ć×ɟ ŢÕɟÛ ßɨÀɟ? κÃŝ ʬÛɟØɟ 

ĦÒĥÈ ¾ɥȒÅ¤] 

Define PPC.  What will be the effect on PPC when unemployment is increased 

in the economy? Show in a diagram.    

4 

Q33. }ĕÒɟÏ¾ ÞɰÍȓÙÑ Þɭ zÒ¾ɟ Ć×ɟ ÍɟĕÒ×x ßɮ? {Þ¾ɥ Ïɨ ÜÍɴ ¾ɩÑÞɠ ßɮ?zØɭ¿ ¾ɥ Þßɟ×Íɟ 

Þɭ ÞÖÆɟ{¤]         6 

What do you mean by producerôs equilibrium?  What are its two conditions?  

Explain with the help of diagram.  

6 

Q34. ×ȏÏ ÞɰÍȓÙÑ ¾ɥÖÍ Þɭ ¾Ö ¾ɥÖÍ ÒØ yȑÍȎØĆÍ ÖɟɯÀ ßɨÍɠ ßɮ Íɨ ÞɰÍȓÙÑ ¾ɮÞɭ 
ŢĦÎɟθÒÍ ßɨÀɟ?zØɭ¿ ¾ɥ Þßɟ×Íɟ Þɭ ÞÖÆɟ{¤]      

yÎÛɟ 

¤¾ ÛĦÍȓ ¾ɭ εÙ¤ ÔɟéɟØ ÞɰÍȓÙÑ Öʃ ßɮ, }Þ ÛĦÍȓ ¾ɥ ÖɟɰÀ Öʃ ÛȗʬκÐ ßȓ| ßɮ {Þ 
ÒȎØÛÍxÑ¾ɭ ŢÕɟÛʇ ¾ɥ Ŭɰ¿Ùɟ ¾ɥ ģ×ɟć×ɟ ¾Øɭ zØɭ¿ ¾ɟ }Ò×ɨÀ ¾Øɭ. 

How is equilibrium reached if there is excess demand at a price lower than 

equilibrium price?  Explain with the help of a diagram.  

OR 

Market for a good is in equilibrium. there is an increase in demand for this  

good. Explain the chain of effects of this change, use diagram. 

6 

 



Page 11 of 100 
 

SET 2 

PART A ï STATISTICS FOR ECONOMICS  

1. Who is consumer?           1 

}ÒÕɨĆÍɟ η¾Þɭ ¾ßÍɭ ßʄ  
             OR/ yÎÛɟ 

     Who is producer? 

}ĕÒɟÏ¾ η¾Þɭ ¾ßÍɭ ßɮ 

2. A survey in which information is collected from each and every unit of population is 

known as :                

   1 

a) Sample survey.      

b) Census survey  

c) Pilot survey  

d) Market survey 

¤¾ ÞÛɴàÌ ȒÅÞÖʂ ÞÖŐ ¾ɭ Ţĕ×ɭ¾ {¾ɟ| Þɭ ÞȕÃÑɟ ¤¾ȐŝÍ ¾ɥ ÅɟÍɠ ßɮ, ¾ßÙɟÍɟ ßʄ 

'¾( ŢȑÍÏÜx ÞÛɴàÌ  
'¿( ÅÑÀÌÑɟ ÞÛɴàÌ 

'À( ÒɟûÙÈÞÛɴàÌ 

'Á( ÔɟÅɟØÞÛɴàÌ  

3. What is raw data?          1   

¾ċÃɭ z¾Êɭ η¾Þɭ ¾ßÍɭ ßʄ 
4. The diagram usually not drawn with absolute value of a category is called:  1 

a) Pie diagram  

b) Frequency diagram  

c) Multiple bar diagram  

d) Simple bar diagram  

Ûß κÃŝ ȒÅÞÖʃ z¾Êɨ ¾ɟ ÛɟĦÍθÛ¾ Öȕġ× ŢÏεÜxÍ Ñßɡr η¾×ɟ ÅɟÍɟ ßɮ, 
'¾( ÛȗǡκÃŝ  
'¿( zÛȗθǡκÃŝ 
'À( ÔßȓÏĔÊ zØɭ¿ 

'Á( ÞØÙ ÏĔÊzØɭ¿ 

5. Which of the following statement is true?         1 

a) The sum of deviations of items from median is zero. 

b) Arithmetic mean is a positional value. 

c) Upper quartile is the value of top 25% of items. 

d) Median is unduly affected by extreme observations. 

ȑÑĞÑεÙζ¿Í ¾ÎÑʆ Öʂ Þɭ ¾ɩÑ Þɟ Þĕ× ßʄ 
(a) ÖɟȒĘ×¾ɟ Þɭ εÙ×ɭ À¤ θÛÃØÌʆ ¾ɟ ×ɨÀ Üȕę× ßɨÍɟ ßɮ 
(b) ÞÖɟęÍØ ÖɟĘ× ¤¾ ĦÎɮȑÍ¾ Öȕġ× ßɨÍɟ ßɮ 
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(c) }ÒØɡ ÃÍȓÎx¾ }ċÃÍÖ 25%z¾Êɨ ¾ɨ ÔÍɟÍɟ ßɮ 
(d)  ÖɟȒĘ×¾ɟ yκÐ¾ÍÖ Û ę×ȕÑÍÖ z¾Êɨ Þɭ yÑȓκÃÍ ŢÕɟθÛÍ ßɨÍɟ ßɮ 

6. Mode is found graphically by:        1 

(a) Ogive 

(b) Histogram  

(c) Frequency polygon 

(d) Bar diagram  

ÔßȓÙ¾ ¾ɨ ŐɟÓ Öʃ ŢÏεÜxÍ η¾×ɟ Åɟ Þ¾Íɟ ßɮ 
(a) ¨Åɟ{Û ʬÛɟØɟ 

(b) z×Í κÃŝ ʬÛɟØɟ 

(c) zÛȗθǡ ÔßȓÕȓÅ ʬÛɟØɟ 

(d) ÏĔÊ zØɭ¿ 

7. Which of the co-efficient is usually expressed in percentage terms?     1 

a) CO-efficient of range 

b) CO-efficient of quartile deviations 

c) CO-efficient of mean deviation  

d) Coefficient of variation  

ȑÑĞÑεÙζ¿Í Öʃ Þɭ ¾ɩÑ ŢȑÍÜÍ ¾ɭ ȼÒ Öʃ ģ×ĆÍ η¾×ɟ ÅɟÍɟ ßɮ 

'¾( ÒØɟÞ ÀȓÌɟɰ¾ 

'¿( ÃÍȓÎx¾ θÛÃÙÑ  
'À( ÖɟĘ×θÛÃÙÑ 

'Á( θÛÃØÌÀȓÌɟɰ¾ 

 

8. If the two variables X & Y are independent, then the value of correlation is:    1 

a) 0 

b) 1 

c) -1 

d) None of the above  

×ȏÏ Ïɨ ÃØ x ©Ø y ĦÛÍɰŝ ßʇ Íɨ }Ñ¾ɭ ÔɠÃ ÞßÞĞÔęÐ ßɨÀɟ: 

'¾( 0 

'¿( 1 

'À( -1 

'Á( {ÑÖʃ Þɭ ¾ɨ| Ñßɡɰ 

9. What is scatter diagram?           1 

Ţ¾ɥÌx zØɭ¿ η¾Þɭ ¾ßÍɭ ßʅ 
10. Fisherôs index numbers satisfies.       1 

a) Time reversal test 

b) Factor reversal test 

c) Both a & b 

d) None of these  
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ηÓÜØ ¾ɟ ÞȕÃ¾ɟɰ¾ ÞɰÍȓĥÈ ¾ØÍɟ ßɮ 
'¾( ÞÖ× }ĕŎÖÌÍɟ ÒØɡàÌ  
'¿( ÞɟÐÑ }ĕŎÖÌÍɟ ÒØɡàÌ 

'À( }ÒØɨĆÍ ÏɨÑɨ 

'Á( {ÑÖʃ Þɭ ¾ɨ| Ñßɡɰ 

11. State any three functions of statistics?        3 

OR/ yÎÛɟ 

 

What is the importance of statistics in economics? 

ÞɟɰȒć×¾ɥ ¾ɭ ÍɠÑ ¾ɟ×x ÔÍɟ{×ɭ 

12. Calculate median from following frequency distribution.      3 

ȑÑĞÑεÙζ¿Í zÛȗθǡ θÛÍØÌ Þɭ ÖɟȒĘ×¾ɟ áɟÍ ¾ɥȒÅ×ɭ ] 
 

Salary(In Rs) 40 45 48 50 55 60 

No. Of labourers 5 7 6 10 5 8 

13. Define average and explain the essentials of a good average.     4 

OR 

Define mean. Write two merits and demerits of mean. 

©ÞÍ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ×ɭ ©Ø ¤¾ yċÄɭ ©ÞÍ ¾ɭ zÛĤ×¾ ÀȓÌ ÔÍɟ{×ɭ ] 
 yÎÛɟ 

ÖɟĘ× ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ×ɭ ©Ø ÖɟĘ× ¾ɭ Ïɨ ÀȓÌ ©Ø yÛÀȓÌ εÙζ¿¤] 

14. In a single competition, two judges rank seven contestants as follows. Find out 

correlation.           4 

¤¾ ŢȑÍĦÒÐɟx Öʃ Ïɨ ÅÅ Ñɭ 7 ŢȑÍĦÒκÐx×ʇ ¾ɨ ȑÑĞÑεÙζ¿Í Øʅ¾ ȏÏ¤ ] {Ñ¾ɟ ÞßÞɰÔɰÐ 

ȑÑ¾ɟεÙ×ɭ ] 
 

Judge 1 5 4 7 3 1 2 6 

Judge 2 6 5 2 1 3 4 7 

15. What is consumer price index? Write three uses of consumer price index.             4 

}ÒÕɨĆÍɟ ¾ɥÖÍ ÞȕÃ¾ɟɰ¾ η¾Þɭ ¾ßÍɭ ßɮ ? {Þ¾ɭ ÍɠÑ }Ò×ɨÀ ÔÍɟ{×ɭ ] 
16. Draw less than and more than ogive and locate median from the following data.     6 

ȑÑĞÑεÙζ¿Í z¾îɨ Þɭ Þɭ ¾Ö ©Ø Þɭ yκÐ¾ ̈Åɟ{Û ÔÑɟ{×ɭ ©Ø ÖɟȒĘ×¾ɟ ¾ɨ ÏÜɟx×ɭ ] 
 

Marks scored 10-20 20-30 30-40 40-50 50-60 

No. Of students  5 10 30 5 10 

17. Calculate the standard deviation from the following data.     6 

ȏÏ¤ À¤ z¾îɨ Þɭ ŢÖɟÒ θÛÃÙÑ áɟÍ ¾ɥȒÅ×ɭ ] 
 

Weight(in KG) 0-20 20-40 40-60 60-80 80-100 

Frequency  81 40 66 49 14 

Or 



Page 14 of 100 
 

Calculate mean deviation from mean from the following data 

ȏÏ¤ À¤ z¾îɨ Þɭ ÖɟĘ× θÛÃÙÑ áɟÍ ¾ɥȒÅ×ɭ ] 
X 0-10 10-20 20-30 30-40 40-50 50-60 

F 5 15 10 8 12 10 

 

PART - B           INTRODUCTORY MICROECONOMICS  

18. Negative marginal utility denotes more satisfaction.( true/ false).   1 

ÔÍɟ{×ɭ ¾ÎÑ Þĕ× ßɮ ×ɟ yÞĕ× 
 ÌɟĕÖ¾ ÞɠÖɟɰÍ }Ò×ɨκÀÍɟ yκÐ¾ ÞɰÍȓȒĥÈ ŢÏεÜxÍ ¾ØÍɠ ßɮ ] 

OR/ yÎÛɟ 

 

When total utility increases, marginal utility  

(a) Increases  

(b) Decreases 

(c) Remain constant  

(d) None of these  

ÅÔ ¾ȓÙ }Ò×ɨκÀÍɟ ÔïÍɠ ßɮ Íɨ ÞɠÖɟɰÍ }Ò×ɨκÀÍɟ 

'¾( ÔïÍɠ ßɮ 
'¿( ÁÈÍɠ ßɮ 
'À( ȒĦÎØ ØßÍɠ ßɮ 
'Á( {ÑÖɭ Þɭ ¾ɨ| Ñßɡɰ 

19. What happens to budget set if both prices and income level of the consumer doubled?        

ÅÔ ¾ɥÖÍʃ ©Ø }ÒÕɨĆÍɟ ¾ɥ z× ÏɨÑɨ ÏɨÀȓÑɠ ßɨ ÅɟÍɠ ßɮ Íɨ ÔÅÈ ÞɭÈ ÒØ Ć×ɟ yÞØ ßɨÍɟ 
ßɮ |                                                                1  

20. What is the value of elasticity of demand on rectangular hyperbola demand curve? 1 

¤¾ z×Íɟ¾ɟØyȑÍÒØÛÙ× ÖɟɰÀ ÛŎ ¾ɥ ÖɟɰÀ ¾ɥ ÙɨÃ η¾ÍÑɠ ßɨÍɠ ßɮ ? 

 

a) Infinity  

b) Unity 

c) Zero  

d) Ed>1 

21. Whenever marginal product is less than average product, the average product must be   

a) Rising                                                                                                                        1 

b) Falling  

c) Equal to marginal product  

d) None of the above  

ÅÔ ÞɠÖɟɰÍ }ĕÒɟÏ ©ÞÍ }ĕÒɟÏ Þɭ ¾Ö ßɨÍɟ ßɮ, ©ÞÍ }ĕÒɟÏ 

'¾( ÔïÍɟ ßɮ 
'¿(  ÁÈÍɟ ßɮ 
'À( ÞɠÖɟɰÍ }ĕÒɟÏ ¾ɭ ÔØɟÔØ ßɨÍɟ ßɮ 
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'Á( {ÑÖɭ Þɭ ¾ɨ| Ñßɡɰ 

22. When the total fixed cost of producing 100 units is Rs 30 and the average variable 

cost is Rs 3. Total cost is :             1 

ÅÔ 100 {¾ɟ{×ɟɰ }ĕÒɟȏÏÍ ¾ØÑɭ ¾ɟ ¾ȓÙ ȒĦÎØ ÙɟÀÍ 30 ȻÒ×ɭ ßɮ ©Ø ©ÞÍ ÒȎØÛÍxÑÜɠÙ 

ÙɟÀÍ 3 ȻÒ×ɭ ßɮ Íɨ ¾ȓÙ ÙɟÀÍ ßɨÀɠ : 
a) Rs 3 

b) Rs 30 

c) Rs 270 

d) Rs 330 

23. Define marginal revenue.          1 

ÞɠÖɟɰÍ zÀÖ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ×ɭ ] 
24. In case of Es>1, the supply curve is         1 

(i) A horizontal straight line parallel to X axis. 

(ii)  A vertical Line parallel to Y axis 

(iii) A straight line from Y axis  

(iv)  A straight line from X axis  

×ȏÏ ÒȕȑÍx ¾ɥ ÙɨÃ {¾ɟ| Þɭ yκÐ¾ ßɨ, Íɨ ÖɟɰÀ ÛŎ ßɨÀɠ 

X yà ¾ɭ ÞÖɟɰÍØ ÞɠÐɠ Øɭ¿ɟ 

Y yà ¾ɭ ÞÖɟɰÍØ ÞɠÐɠ Øɭ¿ɟ 

Y yà Þɭ ȑÑ¾ÙÍɠ ÞɠÐɠ Øɭ¿ɟ 

X yà Þɭ ȑÑ¾ÙÍɠ ÞɠÐɠ Øɭ¿ɟ 

25. What does break even point indicate?      1 

a) TR>TC 

b) TR<TC 

c) TR=TC 

d) TC=0 

ÞÖ θÛċÄɭÏ ȐÔɰÏȓ Ć×ɟ ÏÜɟxÍɟ ßɮ 
26. What do you mean by producer equilibrium?        1 

}ĕÒɟÏ¾ ¾ɭ ÞɰÍȓÙÑ ¾ɟ yÎx ÔÍɟ{×ɭ 

27. Which market induces cartels?       1 

(a) Perfect competition  

(b) Monopoly  

(c) Oligopoly  

(d) None of these  

η¾Þ ÔɟéɟØ Öʃ ¾ɟÈɴÙ θÛ¾εÞÍ  ßɨÍɟ ßɮ 

28. At the market price Rs 10, a firm supplies 4 units of output. The market price 

increases to Rs 30 . The price elasticity of the firmôs supply is 1.25. What quantity 

will the firm supply at the new price?          3 

ÔɟÅɟØ ¾ɥÖÍ 10 ȻÒ×ɭ ÒØ ¤¾ ÓÖx 4 {¾ɟ|×ʇ ¾ɥ ÒȕȑÍx ¾ØÍɠ ßɮ ] ÅÔ ÔɟéɟØ ¾ɥÖÍ 30 ȻÒ×ɭ ßɨ 
ÅɟÍɠ ßɮ Íɨ ÓÖx η¾ÍÑɭ {¾ɟ{×ʇ ¾ɥ zÒȕȑÍx ¾ØɭÀɠ ×ȏÏ ÒȕȑÍx ¾ɥ ÙɨÃ 1.25 ßɮ ] 

29. What is price ceiling? Write two implications.      3 
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OR 

What is price floor? Write two implications. 

yκÐ¾ÍÖ ¾ɥÖÍ Ć×ɟ ßɮ ? {Þ¾ɭ Ïɨ ȑÑȏßÍɟÎx ÔÍɟ{×ɭ ] 
yÎÛɟ 

ę×ȕÑÍÖ¾ɥÖÍ Ć×ɟ ßɮ ? {Þ¾ɭ Ïɨ ȑÑȏßÍɟÎx ÔÍɟ{×ɭ ] 
 

30. What will be the impact of covid 19 on the production possibility curve of the 

economy and why?           4 

¾ɨθÛÊ 19 ¾ɟ yÎxģ×ÛĦÎɟ ¾ɭ }ĕÒɟÏÑ ÞɰÕɟÛÑɟ ÛŎ ÒØ Ć×ɟ ©Ø Ć×ɨ ŢÕɟÛ ßɨÀɟ ? 

31. Distinguish between contraction in demand and decrease in demand.     4 

OR 

Distinguish between extension in demand and increase in demand. 

ÖɟɰÀ Öʃ Þɰ¾ȓÃÑ ©Ø ÖɟɰÀ Öʃ ¾Öɠ Öʃ yɰÍØ ¾ɥȒÅ×ɭ ] 
yÎÛɟ 

ÖɟɰÀ Öʃ θÛĦÍɟØ ©Ø ÖɟɰÀ Öʃ ÛȗʬκÐ Öʃ yɰÍØ ¾ɥȒÅ×ɭ ] 
32. Explain the meaning of diminishing returns to factor. Why do diminishing returns to 

factor occur?              4 

ÞɟÐÑ ¾ɭ ÁÈÍɭ ŢȑÍÓÙ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ ? ÞɟÐÑ ¾ɭ ÁÈÍɭ ŢȑÍÓÙ Ć×ʇ ÁȏÈÍ ßɨÍɟ ßɮ? 

33. Using indifference curve analysis, explain the concept of consumer equilibrium. 6 

}ÏɟÞɠÑÍɟ ÛŎ ¾ɥ Þßɟ×Íɟ Þɭ }ÒÕɨĆÍɟ ¾ɭ ÞɰÍȓÙÑ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ ] 
34. Explain the effect of simultaneous increase in demand and supply on equilibrium 

price and output under perfect competition market.     6 

OR 

Explain the following features of monopoly market  

(i) Large number of buyers and single seller  

(ii)  Price discrimination 

(iii) Facing downward sloping demand curve. 

ÒȕÌx ŢȑÍ×ɨÀɠ ÔɟÅɟØ Öʃ ÖɟɰÀ ©Ø ÒȕȑÍx Öʃ ÞɟÎ ÞɟÎ ÒȎØÛÍxÑ ¾ɟ ÞɰÍȓεÙÍ ¾ɥÖÍ ©Ø ÞɰÍȓεÙÍ 
Öɟŝɟ ÒØ ŢÕɟÛ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ ]  

 yÎÛɟ 

¤¾ɟκÐ¾ɟØ ÔɟéɟØ ¾ɥ ȑÑĞÑεÙζ¿Í θÛÜɭÝÍɟ¨ɰ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ ] 

¤¾ θÛŎɭÍɟ ©Ø ÔßȓÍ ŎɭÍɟ 

¾ɥÖÍ θÛÕɭÏ 

ÑɠÃɭ ¾ɥ ̈Ø ËɟÙȕ ÖɟɰÀ ÛŎ 
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SET-3 

         ÕɟÀ:y. yÎxÜɟĦŝ ¾ɭ εÙ¤ ÞɟɰȒć×¾ɥ (PART A ï STATISTICS FOR ECONOMICS ) 

Ţ.Þʇ. 
Q. No. 

                   ŢĤÑ Question y˚ɨ˚ɰ¾ 

Mark(s) 

Q.1. ÑÑÖnÑÑȒζ̊¿Í Ö̊ m˚ɭ˚ɰ Þ̊ ɭ ¾̊ ɩÑ Þ̊ ɟ ¾ØnÑ κÀÍ ß̊ ɮ? 1 

 ¾) ÞʇÞɟÐÑ ̊ɨ˚ɰ ¾ɟ Ûɮ¾¿ġÒ¾ }ÒØn À ßɮ  

 Ȓ)̊ ÞÕ̊ ɠ Þ̊ ɨ̊ɰć×ɟ¤̊ ɟ˚ɯ  z˚ɟ̊ɯ¾Ê̊ ɭ ß̊ ɮ˚ɰ  

 À) ÞÖȑÑ yÎxÜɟĦŝ ÔÊɭ ÞÖŐ ̊ɨ˚ɰ ¾ɟ yĘ×Ñx ¾ØÍɟ ßɮ  

 Á) Þɟʇ¿ć×¾ɥ ¾ɭ θÛ ÖɟŝɟĕÖ¾ ÍÎn ̊ɨ˚ɰ ¾ɭ ÞÖȓċÃØn ¾ɟ yĘ×Ñx ¾ØÍɠ ßɮ  

 
Which of the following statement is incorrect? 

 

 a) Resources have alternative uses  

 b) All numbers are statistics  

 c) Macroeconomics studies large aggregates  

 d) Statistics studies only the aggregates of quantitative facts  

Q.2. ¤¾ÛÃÑ  Þ̊ ɨ̊ɰá̊ ɟ ¾̊ ɭ ȼÒ Ö̊ m˚ɭ˚ɰ Þ̊ ɟ̊ɨ̊ɰ¿ć×¾̊ ɠ ¾  ÒØØÕɟÑȒÍ̊ 

¾Ø̊m˚ɭ˚ɰ ] 
Define Statistics as a singular noun. 

Øn̊ɟ Or 

ÔßȓÛÃÑ Þ̊ ɨ̊ɰá̊ ɟ ¾̊ ɭ ȼÒ Ö̊ m˚ɭ˚ɰ Þ̊ ɟ̊ɨ̊ɰ¿ć×¾̊ ɠ ¾  ÒØØÕɟÑȒÍ̊ 

¾Ø̊m˚ɭ˚ɰ ] 
Define Statistics as a plural noun. 

1 

Q.3. ÑÑÖnÑÑȒζ̊¿Í ¾ØnÑ ̊ɨ˚ɰ ¾  ÒË̊ m˚ɭ˚ɰ - yÑÕ¾ØnÑ (A) ©Ø ¾̊ ɟØÌ (R)] 
Ñ̊ ɠÃ̊ ɭ ÑØnÏ¤ À¤ Þß̊ ɠ ÑÛ¾ġÒ ̊ɨ˚ɰ Ö̊ m˚ɭ˚ɰ Þ̊ ɭ ¤¾ Ã̊ ȓÑ̊ m˚ɭ˚ɰ: 

1 

 yÑÕ¾ØnÑ (A): ÖɟÑ¾ ÑÛÃȒÑ̊ Ö̊ ȕȒ ̊Þ̊ ɭ ĦÛÍ̊ ɨ̊ɰŝ ß̊ ɮ]  

 ¾̊ ɟØÌ (R): ÖɟÑ¾ ÑÛÃȒÑ̊ }Þ ¿ÎØnØ̊ ɟ̊ɨ̊ɰ¾ ¾̊ ɭ Ö̊ ȕġ× Þ̊ ɭ ŢÕɟÑÛÍ 
Ñß̊ ɠ̊ɨ˚ɰ ß Í̊ ɟ ß̊ ɮ ÑÅÞÞ̊ ɭ ÑÛÃȒÑ̊ ¾̊ ɠ ÀÌÑ̊ ɟ ¾ɥ 

 

 ÅɟÍɠ ßɮ]  

 y) yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) 

yÑÕ¾Ñx (A) ¾ɟ Þßɡ ÑÛÛØÌ ßɮ 
 

 Ô ) yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) 

yÑÕ¾Ñx (A) ¾ɟ Þßɡ 
 

 ȒĦÒɠ¾ØÌ Ñßɡʇ ßɮ]  

 Þ)  ¾ØnÑ (A) ÞÍn× ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) κÀÍ ß̊ ɮ]  

 ØnÏ) ¾ØnÑ (A) κÀÍ ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) ÞÍn× ßɮ  

 yÎÛɟ  

 yÑÕ¾ØnÑ (A): ÖɟÑ¾ ÑÛÃȒÑ̊ Ò̊ ɮÖɟÑ̊ ɭ Þ̊ ɭ ĦÛÍ̊ ɨ̊ɰŝ Ñß̊ ɠ̊ɨ˚ɰ ß 
Í̊ ɟ ß̊ ɮ] 

 

 ¾̊ ɟØÌ (R): ¤¾ ÖɟÑ Ö̊ m˚ɭ˚ɰ ÒØØÛÍÎÑ Õɠ ÖɟÑ¾ ÑÛÃȒÑ̊ ¾̊ ɭ Ö̊ ȕġ× 
¾  ŢÕɟÑÛÍ ¾ØÍɟ ß̊ ɮ] 

 

 y) yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) 

yÑÕ¾Ñx (A) ¾ɟ Þßɡ ÑÛÛØÌ ßɮ 
 

 Ô ) yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) 

yÑÕ¾Ñx (A) ¾ɟ Þßɡ 
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 ȒĦÒɠ¾ØÌ Ñßɡʇ ßɮ]  

 Þ)  ¾ØnÑ (A) ÞÍn× ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) κÀÍ ß̊ ɮ]  

 ØnÏ) ¾ØnÑ (A) κÀÍ ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) ÞÍn× ßɮ 

Read the following statements - Assertion (A) and Reason (R). 

Choose one of the correct alternatives given below: 

Assertion (A) : Standard deviation is Independent of Origin. 

Reason(R) : Standard deviation is not affected by the value of the constant 

from which deviations are calculated. 

Alternatives 

a) Both Assertion (A) and Reason (R) are true and Reason 

(R) is the correct explanation of Assertion (A) 

b) Both Assertion (A) and Reason (R) are true and Reason (R) 

is not the correct explanation of Assertion (A) 

c) Assertion (A) is true but Reason (R) is false. 

d) Assertion (A) is false but Reason (R) is true 

OR 

Assertion (A): Standard deviation does not Independent from scale. 

Reason(R) : A change in even one value affects the value of standard 

deviation. 

Alternatives 

a) Both Assertion (A) and Reason (R) are true and Reason 

(R) is the correct explanation of Assertion (A) 

b) Both Assertion (A) and Reason (R) are true and Reason (R) 

is not the correct explanation of Assertion (A) 

c) Assertion (A) is true but Reason (R) is false. 

d) Assertion (A) is false but Reason (R) is true 

 

Q.4. ÑÑÖnÑÑȒζ̊¿Í z˚ɨ̊ɰ¾Ê ̊ɨ˚ɰ Þ̊ ɭ ÞÖ̊ɟęÍØ  ÖɟÐn× áɟÍ ¾̊ ɠÑÅ¤- 

Find out arithmetic mean from the 

following data- 30, 36, 34, 40, 42, 

46, 54, 62 
A) 42 B) 43 C) 44 D) 45 

1 

Q.5. ÒØØàɭÒÌ ¾ɟ ÞɟÒɭà ÖɟÒ ¾ɩÑ Þɟ ßɮ? 1 

 a) ÒØɟÞ b) ÖɟÐn× ÑÛÃȒÑ̊  

 c) ÖɟÑ¾ ÑÛÃȒÑ̊ À̊ ȓÌ̊ ɟ̊ɨ̊ɰ¾ d) {ÑÖ̊ m˚ɭ˚ɰ Þ̊ ɭ ¾ | Ñß̊ ɠ̊ɨ˚ɰ  

 
Which is the relative measure of dispersion? 

 

 a)  Range b) Mean Deviation  

 c) Coefficient of Standard Deviation d) None of these  

Q.6. ÞßÞʇÔʇÐ ÀȓÌɟʇ¾ ßÖɭÜɟ ÑÑĞÑ ¾ɭ ÖĘ× ß Íɟ ßɮ: 
a) 0 ©Ø +1 b) -1 ©Ø 0 c) -1 ©Ø +1 d) {Ñúʃ Þɭ ¾ | Ñßɡʇ 

Coefficient of correlation lies always between: 
a) 0 and +1 b)  -1 and 0 c)  -1 and +1 d) None of these 

1 

 ȑÑĞÑÑȒζ̊¿Í ¾̊ ɟġÒÑȒ¾̊ ¾̊ ɭ Þ ĦÈÊɠ ¾̊ ɨ Ę×̊ ɟȒ˚ Þ̊ ɭ ÒË̊ m˚ɭ˚ɰ  

©Ø }Þɠ ¾̊ ɭ zÐ̊ ɟØ ÒØ ŢĤÑ Þ̊ ɰć×ɟ 7-10 ¾ɟ  

 

}ǡØ óʃ] 

ÕɟØÍ ¾ɥ y˚ɨ˚ɰÑÍÖ ÅÑÀÌÑɟ 2011 úʃ ßȓ| Øn̊ɠ] 2011 ¾ɥ ÅÑÀÌÑɟ 
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¾ɭ yÑȓÞɟØ, ÕɟØÍ ¾ɥ ÅÑÞʇć×ɟ 

 121.09  ¾Ø Ê  Øn̊ɠ,  Å   2001  Ö̊ m˚ɭ˚ɰ  102.87  ¾Ø Ê  Øn̊ɠ]  ÅÑÀÌÑ̊ ɟ  
1901  Ñ̊ ɭ  Þ̊ ɨ̊ɰ¾̊ ɭ Í  ÑØnÏØn̊ɟ  Ñ¾  Ïx̊ɭÜ  ¾ɥ 

 

ÅÑÞ̊ ɨ̊ɰć×̊ ɟ 23.83 ¾Ø Ê Ø̊ n̊ɠ] ÍÔ Þ̊ ɭ, 110 ÛȒ˚̊ɨ˚ɰ ¾̊ ɠ yÛÑÐ 
Ö̊ m˚ɭ˚ɰ, Ïx̊ɭÜ ¾̊ ɠ ÅÑÞ̊ ɨ̊ɰć×̊ ɟ Ö̊ m˚ɭ˚ɰ 97 ¾Ø Ê Þ̊ ɭ yÑÐ¾ 

¾̊ ɠ Û̊ ȗζ¿ ßȓ| ß̊ ɮ] ÛȒÎ̊ 1971-81 Ö̊ m˚ɭ˚ɰ ÅÑÞ̊ ɨ̊ɰć×̊ ɟ ¾̊ ɠ ©ÞÍ 

ÛɟÑȒÎ̊¾ Û̊ ȗ¿Ȓ ̊ÏxØ 2.2 ŢÑÍÜÍ Øn̊ɠ Å  1991-2001 

úʃ ÁÈ¾Ø 1.97 ŢÑÍÜÍ ©Ø 2001-2011 ¾ɭ ÏɽØɟÑ 1.64 ŢÑÍÜÍ ß À|] {Þ¾ɭ 

y˚ɨ˚ɰÍÀÎÍ ÁØ ïÁØ 
Åɟ¾Ø ÅɟÑ¾ɟØɡ Ȓ˚˚ɠ ÅɟÍɠ ßɮ ©Ø ÒȓØɭ ÕɟØÍ ¾ɭ ßØ ÒØØÛɟØ ¾ {Þúʃ 

Þζ¿ȑÑÍ Ñ¾Øn̊ɟ ÅɟÍɟ ßɮ | {Þ¾ɭ 

y˚ɨ˚ɰÍÀÎÍ ÅęÖ ©Ø Öȗĕ×ȓ  ÏxØ, ÞɟàØÍɟ, Ø ÅÀɟØ, ÅɠÛÑ Ţĕ×ɟÜɟ, 

ÅÑÞʇć×ɟ ¾ɭ  z¾ɟØ ©Ø ÞʇØÃÑɟ    zÑÏx 

¾ɭ ÅÑÞɟ¿×ć×¾ɥØn zɟɯ¾Êɭ ÅȓÈɟ¤ ÅɟÍɭ ßɮ, ÑÅęăʃ ÕɟØÍ ¾ɭ ÖßɟÑÑÏɴÜ¾ ʬÛɟØɟ 

ÞʇÀȗßɡÍ ¤Ûʇ Ţ¾ɟÑÜÍ Ñ¾¤ 
ÅɟÍɭ ßʅ] 

Read, the following hypothetical Case Study, carefully and answer the 
question 

numbers 7-10 on the base of the same. 

The last Census of India was held in 2011. According to the Census 2011, 
population of 
India was 121.09 crore, which was 102.87 crore in 2001. Census 1901 
indicated that 
the population of the country was 23.83 crore. Since then, in a period of 
110 years, the 
population of the country has increased by more than 97 crore. The 
average annual 
growth rate of population, which was 2.2 per cent per year in the decade 
1971-81 came 
down to 1.97 per cent in 1991-2001 and 1.64 per cent during 2001-2011. A 
house-to- 
house enquiry is carried out, covering all households in India. 
Demographic data on 
birth and death rates, literacy, employment, life expectancy, size and 
composition of 
population, etc., are collected and published by the Registrar General of 
India. 

Q.7. ÅÑÀÌÑɟ Þɭ Ć×ɟ ÍɟĕÒÎx ßɮ? 
What do you mean by census? 

1 

Q.8. zÖÍɩØ ÒØ ÕɟØÍ ¾ɥ ÅÑÀÌÑɟ Ţĕ×ɭ¾ ------ úʃ θÛÎ ¾ɥ ÅɟÍɠ ßɮ] 
Normally the Census of India is carried out every --------------- years. 

1 

Q.9. yÑnÛ̊ ɭȒ¾̊ ʬÛ̊ ɟØɟ ¤¾ŝ Ñ¾¤ À¤ Ê̊ ɭÈɟ ¾  ÑʬÛÍɠØ̊n¾ Ê̊ ɭÈɟ ¾ß̊ ɟ ÅɟÍɟ 

ß̊ ɮ] (ÞÍn×/ yÞĕ× ) 
Data collected by investigator is called the secondary data. (True/False) 

1 

Q.10. ¾ɩÑ-Þɟ ÞʇÀÉÑ ÞɟÖɟÑÅ¾-zÑÎx¾ Öȓʬ ̊ɨ˚ɰ ÒØ ÏɴÜģ×ɟÒɠ ÞÛɭàÌ ¾ØÍɟ ßɮ? 1 

 y) Ø̊ ɟȒØ̊ ̊ɠØn ÑÖ̊ ȕÑ̊ ɟ ÞÛ̊ ɭàÌ (NSS),  

 Ô) ¾̊ m˚ɭ˚ɰ ʬØ̊ ɠØn Þ̊ ɟ̊ɨ̊ɰ¿¿n×¾̊ ɠ ¾̊ ɟØn̊ɟÎȒØ̊n (Þɠ¤Þ̈),  
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 Þ) ÕɟØÍ ¾̊ ɭ ØÑÅĦʨØ ̊ɟØ ÅÑØȒ ̊(zØÅɠz|),  

 ØnÏ) ÛɟÑÌ¿Ȓ¾̊ Ȓ˚̊ȓÑȒØ̊n̊ɟ ©Ø Þ̊ ɟ̊ɨ̊ɰ¿ć×¾̊ ɠ 
Öß̊ ɟÑÑÏx̊ɭÜɟȒØ̊n (DGCIS) 

 

 
Which organisation conducts nationwide surveys on socio-economic 
issues? 

 

 a) National Sample Survey (NSS),  

 b) Central Statistics Office (CSO),  

 c) Registrar General of India (RGI),  

 d) Directorate General of Commercial Intelligence and Statistics 
(DGCIS) 

 

Q.11. ÃØ Ć×ɟ ßɮ? ¤¾ ÞʇÍÍ ©Ø ÑÛÑÛĆÍ ÃØ ¾ɭ ÔɠÃ ÕɭÏx ¾ɥÑÅ¤ ] 
What is a variable? Distinguish between a discrete and a continuous 
variable. 

Or yÛɟx 

zɟɯ¾Ê ¾ɭ ÛÀɠ¾ØÌ úʃ ŢØn̊ȓĆÍ yÒÛÅɠ ©Ø ÞÖɟÛɭÜɠ ÑÛÑÐØn ̊ɨ˚ɰ ¾ɥ ģ×ɟć×ɟ 

¾ɥÑÅ¤ ] 
Explain the óexclusiveô and óinclusiveô methods used in classification of 
data. 

3 

Q.12. ÑxØnÏ Ñ̊ ɠÃ̊ ɭ ÑØnÏ¤ À¤ z˚ɨ̊ɰ¾Ê ̊ɨ˚ɰ ¾̊ ɟ ÞÖ̊ɟęÍØ ÖɟÐn× 28 ß̊ ɮ, Í  

yÑ̊ ȓÒȒĜ̊Ð zÛ̊ ȗÑǡ ¾̊ ɟ ÒÍ̊ ɟ ȒÀ̊̊ ɟ¤̊ ɨ˚ɰ - 

3 

 If the arithmetic mean of the data given below is 28, find the missing frequency 
: 

 

 ÛÀÎ/Class 0-10 10-20 20-30 30-40 40-50 50-60  

zÛȗÑǡ / 

Frequency 

12 18 27 ? 17 6 

Q.13. ÑÑĞÑ z˚ɨ̊ɰ¾Ê ̊ɨ˚ɰ Þ̊ ɭ zØ̊ɭ 
Ȓ˚̊ɠØn ÑÛÑÐ Þ̊ ɭ Öɟ¿Ę×¾̊ ɟ ¾̊ ɟ Ø̊ ɭ 
Ȓ˚̊ɟ̊ɨ̊ɰ¾Ñ ¾̊ ɠÑÅ¤ : Locate the 

median graphically from the following 
data: 

4 

 y˚ɨ˚ɰ¾ Marks 0-10 10-20 20-30 30-40 40-50  

Äɟŝ ̊ɨ˚ɰ ¾ɥ Þʇć×ɟ No. of 

Students 

10 20 30 20 10 

Q.14. ÑÑĞÑȑÑζ¿Í z˚ɟ˚ɯ¾Ê ̊ɨ˚ɰ  

Þɭ Ȓ ̊Ø̊ m˚ɭ˚ɰ Å ÛŎ 

ÔÑ̊ ɟ{Øn̊ɭ | Form Lorenz 

curve from the following 
data: 

yÎÛɟ Or  

ÑÑĞÑ z˚ɟ̊ɯ¾Ê ̊ɨ˚ɰ Þ̊ ɭ Öɟ¿Ę×¾̊ ɟ ¾̊ ɠ ÞßɟØ˚nÍɟ Þ̊ ɭ ÖɟÐn× 

ÑÛÃȒÑ̊ ©Ø }Þ¾̊ ɭ  À̊ ȓÌ̊ ɟ̊ɨ̊ɰ¾ ¾̊ ɠ ÀÌÑ̊ ɟ ¾̊ ɠÑÅ¤ : 

Calculate mean deviation and its coefficient from the median of the 

following data: 

4 

 z¾ɟØ Size 100-120 120-140 140-160 160-180 180-200  
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zÛȗÑǡ 
/Frequency 

4 6 1

0 

8 5 

Q.15. ÑÑÖnÑÑȒζ̊¿Í  z˚ɟ̊ɯ¾Ê ̊ɨ˚ɰ ¾̊ ɠ ÞßɟØnÍɟ Þ̊ ɭ  ÔßȓȒ¾̊  ¾̊ ɠ  ÀÌÑ̊ ɟ  
¾Ø̊m˚ɭ˚ɰ : 
Calculate mode from the following data: 

4 

 y˚ɨ˚ɰ¾ Marks 0-10 10-20 20-30 30-40 40-

50 

50-

60 

60-

70 

70-80  

Äɟŝ ̊ɨ˚ɰ ¾ɥ 
Þʇć×ɟ 

No. of 
Students 

2 18 30 45 35 20 6 3 

Q.16. 

ÒÑÍØn  ̊ɨ˚ɰ   ¤Ûʇ   ÒȑÑØn  ̊ɨ˚ɰ ¾ɥ   }Ŧ  ¾ɭ   ÔɠÃ ÞßÞʇÔʇÐ ÀȓÌɟʇ¾ ¾ɥ ÀÌÑɟ 
¾üʃ  ©Ø }Ñ¾ɭ   ÞßÞʇÔʇÐ ÒØ ÑÈĚÒÌɠ ¾üʃ ] 
Calculate the correlation coefficient between age of husbands and wives and 

comment on their relationship. 

 

 

 

yÛɟx Or 

ÒÏx-ÑÛÃȒÑ̊ ÑÛÑÐ ¾̊ ɟ }ÒØ̊n À ¾ØÍ̊ ɭ ßȓ¤, ÑÑÖnÑÑȒζ̊¿Í 

Ü̊ n̊ȗ˚ɨ˚ɰȒȒ̊˚̊ɟ ¾̊ ɭ ÖɟÑ¾ ÑÛÃȒÑ̊ ¾̊ ɠ ÀÌÑ̊ ɟ ¾Ø̊m˚ɭ˚ɰ 

: Using step-deviation method, calculate standard deviation of the 

following series: 

6 

  y˚ɨ˚ɰ¾ Marks 0-

10 

10-20 20-

30 

30-

40 

40-50 50-

60 

60-

70 

70-

80 
  

Äɟŝ ̊ɨ˚ɰ ¾ɥ 
Þʇć×ɟ No. of Students 

5 10 20 40 30 20 10 4 

Q.17. ÛȒÎ̊ 2020 ¾̊ ɭ ÑȒ¤̊ ÑÑÖnÑÑȒζ̊¿Í z˚ɨ̊ɰ¾Ê ̊ɨ˚ɰ Þ̊ ɭ ÑȒÜ̊Ø ¾̊ ɭ 
Þ̊ ȕÃ¾̊ ɟ̊ɨ̊ɰ¾ ¾̊ ɟ ÑÑÖ̊ ɟÎÌ ¾Ø̊m˚ɭ˚ɰ  ] 

6 

 Construct Fisherôs Index from the following data for the year 2020.  

  ÛĦÍȓ/ ¾ɥÖÍ Öɟŝɟ/ ¾ɥÖÍ Öɟŝɟ/   

 commodity Price(2010) Quantity Price(2020) Quantity  

   (2010)  (2020)  

 ¾/A 5 50 7 60  

 Ȓ/̊B 6 15 8 10  

 À/C 8 8 11 12  

 Á/D 7 20 10 15  

 
 
 
 
 

zØn/     
Income 

1000 2000 4000 5000 8000 

ÒØØÛɟØ/   

Family 

80 70 50 30 20 
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Ȓ˚̊ɰÊ (Ô) - ģ×ȑÑ yÎÎÜ̊ ɟĦŝ 
SECTION B- MICRO ECONOMICS  

Q.18 ¾̊ ɟÑÊÎÑȒ ̊ȸȑÑ¾ Ì ¾̊ ɭ yÑ̊ ȓÞɟØ, }ÒØn ÑÀÍɟ ¾    ¾̊ ɭ ȼÒ Ö̊ m˚ɭ˚ɰ 
ÖɟÒ̊ ɟ ÅɟÍɟ ßɮ 

1 

 (Þßɡ ÑÛ¾ġÒ Ãȓõʃ)  

 (a) ȻÒ¤  

 (b) ŎÖ  

 (c)Øn̊ȕÑȏÈ  

 (d) {¾ɟ{Øn̊ɟ̊ɟ̊ɯ  

 
According to cardinal approach, utility is measured in terms of    

 

 (Choose the correct alternative) 1  

 (a) Rupees  

 (b) Ranks  

 (c) Utils  

 (d) Units  

Q.19. yÀȒ˚̊ɭ ÞÛɨǡÖ ÑÛ¾ġÒ ¾̊ ɭ ĕ×̊ ɟÀ ¾̊ ɟ Ö̊ ȕġ×  ------ ¾ßȒÍ̊ɟ ß̊ ɮ] 
The cost of next best alternative foregone is called as ................................ (Fill 
up 

the blank) 

1 

Q.20. ÑÑÖnÑÑȒζ̊¿Í ¾ØnÑ ̊ɨ˚ɰ ¾  ÒË̊ m˚ɭ˚ɰ - yÑÕ¾ØnÑ (A) ©Ø ¾̊ ɟØÌ (R)] 
Ñ̊ ɠÃ̊ ɭ ÑØnÏ¤ À¤ Þß̊ ɠ ÑÛ¾ġÒ ̊ɨ˚ɰ Ö̊ m˚ɭ˚ɰ Þ̊ ɭ ¤¾ Ã̊ ȓÑ̊ m˚ɭ˚ɰ: 

1 

 1yÑÕ¾Ñx: ÅÔ y ¾ɥ ¾ɥÖÍ úʃ Ûȗζ¿ ß Íɠ ßɮ x ¾ɥ ÖɟʇÀ ÔË ÅɟÍɠ ßɮ  

 Í¾Î : x ©Ø y ÎØn̊ɟÑ̊ɟÒęÑ ÛÞnÍ̊ ȓ ß̊ ɮ˚ɰ  

 yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) yÑÕ¾Ñx (A) 

¾ɟ Þßɡ ÑÛÛØÌ ßɮ 
 

 Ȓ˚] yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) 

yÑÕ¾Ñx (A) ¾ɟ Þßɡ ȒĦÒɠ¾ØÌ 

 

 Ñßɡʇ ßɮ]  

 Þɠ] ¾ØnÑ (A) ÞÍn× ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) κÀÍ ß̊ ɮ]  

 Á] ¾ØnÑ (A) κÀÍ ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) ÞÍn× ßɮ  

 yÛɟx  

 yÑÕ¾Ñx: ÅÔ y ¾ɥ ¾ɥÖÍ ÁÈÍɠ ßɮ ÍÔ x ¾ɥ ÖɟʇÀ ÔË ÅɟÍɠ ßɮ  

 Í¾Î : x ©Ø y ÒȕØ¾ ÛĦÍȓ ßʅ  

yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) yÑÕ¾Ñx (A) 

¾ɟ Þßɡ ÑÛÛØÌ ßɮ 
Ȓ˚] yÑÕ¾Ñx (A) ©Ø ¾ɟØÌ (R) Ïx Ñ ̊ɨ˚ɰ Þĕ× ßʅ ©Ø ¾ɟØÌ (R) 

yÑÕ¾Ñx (A) ¾ɟ Þßɡ ȒĦÒɠ¾ØÌ 

Ñßɡʇ ßɮ] 

Þɠ] ¾ØnÑ (A) ÞÍn× ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) κÀÍ ß̊ ɮ] 
Á] ¾ØnÑ (A) κÀÍ ß̊ ɮ Ȓ˚̊ɭÑ¾Ñ Reason (R) ÞÍn× ßɮ 

Read the following statements - Assertion (A) and Reason (R). Choose one of 
the 
correct alternatives given below: 
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Assertion : When price of y increases the demand for x increases 

Reasoning :x and y are substitute good . 

Alternatives 

Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation 
of Assertion (A) 

b. Both Assertion (A) and Reason (R) are true and Reason (R) is not the 
correct 
explanation of Assertion (A) 

c. Assertion (A) is true but Reason (R) is false. 

d. Assertion (A) is false but Reason (R) is true 

OR 

Assertion : When price of y decreases the demand for x increases 

Reasoning :x and y are complementary good 

Alternatives 

Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation 
of Assertion (A) 

b. Both Assertion (A) and Reason (R) are true and Reason (R) is not the 
correct 
explanation of Assertion (A) 

c. Assertion (A) is true but Reason (R) is false. 

d. Assertion (A) is false but Reason (R) is true 

Q.21. ÑÛŎɭ Íɟ ¾ɭ ÍßÍ ÔɟÅɟØ Öȕġ× ¾ ŢÕɟÑÛÍ Ñßɡʇ ¾Ø Þ¾Íɟ (Þßɡ Ãȓõʃ) 1 

 Ûɮ¾¿ġÒ¾)  

 (¤) ÒȕÌÎ ŢÑÍØn ÑÀÍɟ  

 (b) ¤¾ɟÑÐ¾ɟØ  

 (c) ¤¾ɟÑÐ¾ɟØ ŢÑÍØn ÑÀÍɟ  

 (D. }ÒØ ĆÍ ÞÕɠ  

 
A seller cannot influence the market price under (Choose the correct 

 

 alternative)  

 (a) Perfect competition  

 (b) Monopoly  

 (c) Monopolistic competition  

 (d) All of the above  

Q.22. Ö̊ ɟ̊ɨ̊ɰÀ ÛŎ Ö̊ m˚ɭ˚ɰ Ô̊ ɟ|̊ ɨ˚ɰ ¨Ø 
ζ¿ÞȒ˚̊ɟÛ ¾̊ ɟ ¾ | ¤¾ Û̊ ɮÐ ¾̊ ɟØÌ 

ÔÍɟ¤̊ ɨ˚ɰ ] 1 State any one valid reason for 

leftward shift in demand curve Øn̊ɟ OR 

ÖɟʇÀ ¾ɥ ¾ɥÖÍ Ȓ ̊Ã ¾ɟ yÎx ÔÍɟ¤ʇ ] 

1 

 State the meaning of price elasticity of demand.  
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Q.23. Ö̊ ɟ̊ɨ̊ɰÀ ÛŎ ¾̊ ɭ Ñ̊ ɠÃ̊ ɭ ¾̊ ɠ ¨Ø ËȒ˚̊ɟÑ ¾  ÒØØÕɟÑȒÍ̊ ¾ØÑ̊ ɭ 
ÛɟȒ˚̊ɭ ¾̊ ɟÑ̊ ȕÑ ¾  ȼÒ Ö̊ m˚ɭ˚ɰ Å̊ ɟÑ̊ ɟ ÅɟÍɟ ß̊ ɮ  

¤) 

ÁÈÍɠ 

ÞɠÖɟʇÍ 

}ÒØn 

ÑÀÍɟ 

Ôɠ) }ÒØn 

ÑÀÍɟ 

yÑÐ¾

ÍÖ¾Ø

Ì Þɠ) 

}ÒØn 

ÑÀÍɟ 

ę×ȕÑÍ

Ö 

Ê̊ ɠ) }ÒÕ ĆÍ̊ ɟ Þ̊ ɨ̊ɰÍ̊ ȓȒÑ̊ 

The law that defines the demand curve to slopes downward is known as 

A) Diminishing marginal utility  

B) Utility  maximisation 

C) Utility  minimisation 

D) Consumer equilibrium 

1 
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 Read, the following hypothetical Case Study, carefully and answer the 

question numbers 7-10 on the base of the same. 

A perfectly competitive firm is called a price taker, because the pressure of 

competing firms forces them to accept the prevailing equilibrium price in the 

market. When a wheat grower wants to know what the going price of wheat 

is, he or she has to go to the computer or listen to the radio to check. The 

market price is determined solely by supply and demand in the entire market 

and not the individual farmer. If a firm in a perfectly competitive market 

raises the price of its product by so much as a penny, it will lose all of its 

sales to competitors, since no rational consumer would pay a higher price for 

an identical product. Perfectly competitive firms, by definition, are very 

small players in the overall market, so that it can increase or decrease output 

without noticeably affecting the overall quantity supplied and price in the 

market. Since they can sell all the output they want at the going market 

price, they never have an incentive to offer a lower price. What this means is 

that a perfectly competitive firm faces a horizontal demand curve at the 

market price. 

 

Q.24. ¤¾ Ò̊ ȕÌÎ ŢÑÍĦÒÐɠ ȒÖ̊Î ¾  Ţɟ{Þ È̊ ɭ¾Ø ¾ß̊ ɟ ÅɟÍɟ ß̊ ɮ Ã̊ ȕ˚ɨ˚ɰÑ¾ 

A perfectly competitive firm is called a price taker 
Because    

1 

Q.25. ÒȕÌÎ ŢÑÍØn ÑÀÍɟÔɟÅɟØ úʃ Öȕġ× ¾ɭ θÛ ʬÛɟØɟ ÑÑÐɟÎØØÍ Ñ¾Øn̊ɟ ÅɟÍɟ ßɮ 

a) ÒȕØɭ ÔɟÅɟØ úʃ zÒȕÑÍÎ ©Ø ÖɟʇÀ 

b) ģ×¿ĆÍÀÍ ÷ÖÎ 

1 

 c) ÞØ¾ɟØ ʬÛɟØɟ 

d) {Ñ ÞÕɠ 

The market price is determined solely by 

 

a) supply and demand in the entire market 

b) the individual farmer 

c) by the government 

d) all of these 

 

Q.26. Ò̊ ȕÌÎ ŢÑÍĦÒÐ̊ɟÎ Ö̊ m˚ɭ˚ɰ ȒÖ̊Î ʬÛ̊ ɟØɟ ÞɟÖÑ̊ ɟ Ñ¾Øn̊ɟ ÀØn̊ɟ 
Ö̊ ɟ̊ɨ̊ɰÀ ÛŎ ¾̊ ɟ z¾̊ ɟØ   ß̊ ɮ] 

The sellers have no incentive to offer supply at a lower price because------------
-- 

1 

Q.27. ÑÛŎ̊ ɭ Íɟ̈˚ɨ˚ɰ ¾̊ ɭ ÒɟÞ ¾Ö ¾̊ ɠÖÍ ÒØ zÒ̊ ȕÑÍÎ ¾̊ ɠ Ò̊ ɭÜ ¾ØÑ̊ ɭ ¾̊ ɭ 
ÑȒ¤̊ ¾ | Ţ ÍnÞ̊ ɟßÑ Ñß̊ ɠ̊ɨ˚ɰ ß̊ ɮ ¾n× Ñ¾ 

Sellers never have an incentive to offer a lower price because- 

1 
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Q.28 }ĕÒ̊ɟØnÏÑ Þ̊ ɨ̊ɰÕɟÛÑ̊ ɟ ÞɠÖ̊ɟ ¾̊ ɟ yØ̊nÎ ©Ø ÑÛÜ̊ ɭȒÍ̊ɟ¤̊ ɨ˚ɰ  ÔÍɟ¤̊ ɨ˚ɰ  

Give the meaning and characteristics of production possibility frontier. 

yÛɟx Or 

ÑÑÖnÑÑȒζ̊¿Í ÞÖ̊ ɟÃ̊ɟØ ÒÍnØ ̊ɨ˚ɰ ¾̊ ɠ ØØÒ ÈÎ ¾̊ ɠ 

Ţ¾̊ ȗ ÑÍ ¾  ÒßÃɟÑ̊ m˚ɭ˚ɰ ©Ø }Þ ÒØ ÃÃ̊ ɟÎ ¾Ø̊m˚ɭ˚ɰ 

Þ¾̊ ɟØɟĕÖ¾ Øn̊ɟ ŢɟÖ̊ ɟÑÌ¾ zÑØ̊nÎ¾ ÑÛÜnÙ̊ ɭȒÌ̊: 

(i) ñÕɟØÍ Ñ̊ ɭ ÑÛĤÛ Ô̊ ɮ̊ɰ¾ ¾̊ ɠ zÞɟÑ̊ ɠ Þ̊ ɭ ģ×̊ ɟÒɟØ Þ̊ ȕÃ¾̊ ɟ̊ɨ̊ɰ¾ 

Ö̊ m˚ɭ˚ɰ 23 ẙ ɨ̊ɰ¾ ¾̊ ɠ ÄȒ˚̊ɟ̊ɨ̊ɰÀ ȒÀ̊̊ ɟ|77 Û̊ ɟ̊ɟ˚ɯ ÎØn̊ɟÑ, 2 θÛʇ 

úʃ }ċÃÍÖ] " - Ïx {¾ ÑɦÑÖ¾ Èɟ{ĞÞ 

(ii) "ÞØ¾ɟØ ¾ ģ×ɟÒɟØ ÑÑÖx ̊ɨ˚ɰ ¾ ©Ø }ÏɟxØ ÔÑɟÑɟ ÃɟÑß¤]" - zÑÎx¾Èɟ{ĞÞ 

Identify and discuss the nature of the following newspaper reports in 

terms of positive or normative economic analysis : 

(i) ñIndia jumped 23 points in the World Bankôs ease of doing 
business index to 77th place, highest in 2 years.ò ï The Economic 

Times 

(ii) ñGovernment should further liberalise the business rules.ò ï

The Economic Times 

3 

Q.29. }ÑÃÍ ¾̊ ɟØÌ ÞÑßÍ ÃÃ̊ ɟÎ ¾̊ ɠÑÅØ˚n̊ɭ ¾̊ ɠ yÑÐ¾ {¾̊ ɟ{Ø̊ n ¾̊ɨ˚ɰ   

˚ɟ }ĕÒ̊ɟØnÏÑ ¾ØÑ̊ ɭ ÒØ ©ÞÍ ¿ÎØnØ Ȓ˚̊ɟÀÍ ÛŎ úʃ Ć×ɟ ÒØØÛÍÎÑ ß Íɭ 
ßɮ? 

Discuss with valid reason, what happens to Average Fixed 

Cost (AFC) curve as output produced increases. 

3 

Q.30. ÖɟÑn× ¾̊ ɟØÌ Ïx̊ɭ Í̊ ɭ ßȓ¤, ÔÍɟ¤̊ ɨ˚ɰ  Ñ¾ ÑÑÖnÑÑȒζ̊¿Í ¾ØnÑ ÞÍn× ß̊ ɮ̊ɰ Øn̊ɟ 
Ñß̊ ɠ̊ɨ˚ɰ κÀÍ: 

(¤) }ÒÕ ĆÍ̊ ɟ ¾̊ ɠ zØ̊ n Ö̊ m˚ɭ˚ɰ Û̊ ȗζ¿ Þ̊ ɭ Û̊ ȗ¿Ȓ ̊ß 
À̊ ɠ}Þ¾̊ ɭ  ʬÛ̊ ɟØɟ Ö̊ ɟ̊ɨ̊ɰÀ̊ ɭ À¤ ÞÕ̊ ɠ Ţ¾̊ ɟØ ¾̊ ɭ ÞɟÖ̊ɟÑ ̊ɨ˚ɰ 

¾ɥ ÖɟʇÀ úʃ] 

(b) ÑxÏx ÖɟʇÀ ¾ɥ À| Öɟŝɟ úʃ ŢÑÍÜÍ ÒØØÛÍÎÑ Öȕġ× úʃ 
ÒØØÛÍÎÑŢÑÍÜÍ ¾ɭ ÔØɟÔØ ßɮ, ÖɟʇÀ 

4 
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 ÛŎ ¤¾ ÞɠÐ̊ ɠ Ø̊ ɭ Ȓ˚̊ɟ ¾̊ ɭto y- y¾nÝÞÖ̊ ɟÑ̊ɟ̊ɨ̊ɰÍØ ß À̊ ɟ 
Giving valid reasons, state whether the following statements are true or false : 

(a) An increase in the income of a consumer would lead to 

an increase in demand for all types of goods demanded by him. 

(b) If percentage change in quantity demanded is equal to 

percentage change in price, the demand curve will be a straight line parallel 

to y-axis. 

Øn̊ɟ OR ¤¾ ÛĦÍȓ ¾ɥ ¾ɥÖÍ Öɭ 20% Ûȗζ¿ ¾ɭ ÒØØÌɟÖĦÛȼÒ ÖɟʇÀɠ 

ÀØn̊ɠ ÖɟʇÀ¾ɥ Öɟŝ Üȕę× ß ÅɟÍɠ ßɮ]ÖɟʇÀ ¾ɥ ¾ɥÖÍ Ȓ ̊Ã ¾ɭ 
ÀȓÌɟʇ¾ ¾ɥ ÀÌÑɟ ¾üʃ ÖɟʇÀ ÛŎ ¾ɭ ÞʇÕɟÑÛÍ z¾ɟØ ÒØ ÑÈĚÒÌɠ 

¾üʃ ] 

The price of a commodity X increases by 20%, as a result the 

quantity demanded falls to zero. Calculate coefficient of price elasticity of 

demand. Comment upon the likely shape of the demand curve. 

 

Q.31. Ò̊ ȕÌÎ ŢÑÍØn ÑÀÍɟ ¾̊ ɭ ÍßÍ ¤¾ ȒÖ̊Î ¾̊ ɠÖÍ ĦÛɠ¾̊ ɟØ¾  ß̊ ɮ ©Ø }Ð 

À Ö̊ ȕġ× ÑÑÖ̊ ɟÎÍ̊ ɟß̊ ɮ ] '' Ć×̊ ɟ zÒ ÑØnÏ¤ À¤ ¾Ñx Þɭ ÞßÖÍ ßʅ? yÒÑɟ ÞÖÎxÑ 

¾üʃ Í¾Î ÞʇÀÍ ģ×ɟć×ɟ ¾üʃ ] 

A firm under perfect competition is a price taker and the industry is a price 

maker.ôô Do you agree with the given statement ? Support your answer with 

valid explanation. 

4 

Q.32. }ÒØ̊n̊ȓĆÍ }ØnÏ̊ ɟßØÌ ¾̊ ɠ Þß̊ ɟÍx̊ɟ Þ̊ ɭ ñ¾̊ ɠÖÍ ÑÛÕ̊ ɭÏx ñ ÍØn̊ɟ 
ÛÞnÍ̊ ȓ ÑÛÕ̊ ɭØnÏ̊ ɠ¾ØÌ ¾̊ ɠ yØ̊nÎ ¾̊ ɠ Þ̊ ɨ̊ɰ¾nÝ̊ ɭÒ ÃÃɟÎ ¾ɥÑÅØn̊ɭ 
Discuss briefly the meaning of óóPrice discriminationôô and óóProduct 

4 
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Q.33. ÖɟÑ Ȓ˚̊ɠÑÅ¤ Ñ¾ ¤¾ }ÒÕ ĆÍ̊ ɟ ÑÅÞ¾ɟ ÔÅÈ 500 Ø̊ ȓÒØ̊n̊ɭ ß̊ ɮ, 
¾̊ ɭ θÛ Ïx  ÛÞnÍ̊ ȓ̈,̊ɨ˚ɰ  À̊ ȓÊ ¤¾nÞ ©Ø À̊ ȓÊ Ûɟ| ¾ɟ }ÒÕ À ¾ØÑɟ ÃɟßÍɟ 

ßɮ] ÞɟÖɟÑ ¾ɥ ¾ɥÖÍ ŎÖÜɪ Ȼ .50 ßɮ]©Ø 25 Ȼ] 
Ïx̊ɠ À| ÅɟÑ¾̊ ɟØɡ ¾̊ ɭ zÐ̊ ɟØ ÒØ 

ÑÑÖnÑÑȒζ̊¿Í ŢĤÑ ̊ ɨ˚ɰ ¾̊ ɭ }ǡØ 
ØnÏ̊ ɠÑÅ¤: (¤) }ÒÕ ĆÍɟ ¾ɭ ÔÅÈ 
ÞÖɠ¾ØÌ ¾ ÔÍɟ¤ʇ ] 
(Ȓ)̊ ÔÅÈ Ȓ˚̊ɟ{Ñ ¾̊ ɠ ËȒ˚̊ɟÑ Ć×̊ ɟ ß̊ ɮ? 

(À) ÑxØnÏ Ûß Ò̊ ȕØ̊ ɭ  d__ ȻÒØ̊n̊ɭ ȒÃ̊Î X ÛÞnÍ̊ ȓ ÒØ 
¾ØÍɟ ß̊ ɮ Í  X¾̊ ɠ Ûß Ñ¾ÍÑɠ {¾̊ ɟ{Øn̊ɟ̊ɟ˚ɯ ȒØ̊ɡÏx 

Þ¾Íɟ ßɮ 
(d) yÀØ Ûß Ò̊ ȕØ̊ ɭ  500 ȻÒØ̊ n̊ɭ ȒÃ̊ÎYÛÞnÍ̊ ȓ ÒØ¾ØÍɠ 

ß̊ ɮ Í  Ûß Ñ¾ÍÑɠ Ø̊ n̊ȕÑÑÈ ȒØ̊ɡÏx Þ¾Íɠ ß̊ ɮßx Ïx̊ɭ 
ȒÍ̊̊ ɭ ßȓ¤ Ñ¾ ÛÞnÍ̊ ȓ  y¾̊ ɠ ¾̊ ɠÖÍ ØnÏ À̊ ȓÑ̊ ɠ ß  À| ßɮ 

Suppose a consumer whose budget is Rs500, wants to consume 

only twogoods, Good X and Good Y. The goods are respectively priced at 

Rs50 

andRs25.Answer the following questions on the basis of the given 

information : 

(a) State the budget equation of the consumer. 

(b) What is the slope of the budget line ? 

(c) How many units can she purchase if she spends the 

entire Rs500 on Good X ? 

(d) How many units can she purchase if she spends the 

entire Rs500 on Good Y, given that the price of good Y 

has doubled? 

6 
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 OR 

ó}ÒÕ ĆÍ̊ ɟ ¾  Þ̊ ɨ̊ɰÍ̊ ȓȒÑ̊ ¾̊ ɠ ¿ÎØnÑÍ Ö̊ m˚ɭ˚ɰ ØßÑ̊ ɭ ¾̊ ɭ ÑȒ¤̊, Ïx  
ÛÞnÍ̊ ȓ̈̊ ɨ˚ɰ ¾̊ ɭ Ô̊ ɠÃ ŢÑÍÎØn̊ɟÒÑ ¾̊ ɠ ÞɠÖ̊ɟ̊ɨ̊ɰÍ ÏxØ Ïx  
ÛĦÍȓ̈ʇ ¾ɥ ¾ɥÖÍ ̊ɨ˚ɰ ¾ɭ yÑȓÒɟÍ ¾ɭ ÔØɟÔØ ß Ñɠ ÃɟÑß¤] '' Ć×ɟ zÒ ÑÏx¤ À¤ 
¾Ñx Þɭ ÞßÖÍ ßʅ? yÒÑɭ ÅÛɟÔ ¾ɟ ©ÑÃĕ× ÞɟÑÔÍ ¾üʃ ] 
óóFor a consumer to be in equilibrium position, marginal rate of substitution 

between the two goods must be equal to ratio of prices of the two goods.ôô Do 

you agree with the given statement ? Justify your answer. 

 

Q.34. y) yÙnÒ¾̊ ɟȒ˚ Ö̊ ɭ ÞɠÖ̊ɟ̊ɨ̊ɰÍ Ȓ˚̊ɟÀÍ Uz¾̊ ɟØ ¾̊ ɟ ¾n× ̊ɨ˚ɰ ß 
Í̊ ɟ ß̊ ɮ? 

Ô) ©ÞÍ Ȓ˚̊ɟÀÍ ÛŎ ÍØn̊ɟ ÞɠÖ̊ɟ̊ɨ̊ɰÍ Ȓ˚̊ɟÀÍ ¾̊ ɭ Ô̊ ɠÃ 
Þ̊ ɨ̊ɰÔ̊ ɨ̊ɰÐ ¾̊ ɠ ÞÑÃŝ ģ×̊ɟć×ɟ ¾̊ ɠÑÅØ˚n̊ɭ 
(a) Why is the short run Marginal Cost curve U-shaped ? 

(b) Explain the relation between Average Cost (AC) curve and 

Marginal Cost (MC) curve using diagram. 

6 
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SET 4 

ÕɟÀ:y. yÎxÜɟĦŝ ¾ɭ εÙ¤ ÞɟɰȒć×¾ɥ 

PART: A STATISTICS FOR ECONOMICS  

Q.1 yÎxÜɟĦŝ¾ɨÒȎØÕɟθÝÍ¾Øʃ] 1 

Define Economics. 

Q2. ÞɟɰȒć×¾ɥ¾ɨÔßȓÛÃÑyÎxÖʃÒȎØÕɟθÝÍ¾Øʃ] 1 

Define Statistics in plural sense. 

Q3. Ţĕ×àģ×ȒĆÍÀÍyÑȓÞɰÐɟÑÞɭĆ×ɟyεÕŢɟ×ßɮ?                1 

What is meant by direct personal investigation? 

Q4. {ÑÞÖɰ¾ɨ¾ɟÔßȓÙ¾Ć×ɟßɮ...........7,5,6,8,7,9,7,6,10,8 ? 1 

What is mode of these dataééé. 7,5,6,8,7,9,7,6,10,8 ? 

Q.5. ÞØÙÞßÞɰÔɰÐÀȓÌɟɰ¾¾ɥÞɠÖɟĆ×ɟßɮ? 1 

What is the range of simple correlation of coefficient?  

Q.6.ÒØɟÞÞɭĆ×ɟÖÍÙÔßɮ? 1 

What do you meant by range? 

Q.7.ÖɟĘ×, ÖɟȒĘ×¾ɟ¤ÛɰÔßȓÙ¾¾ɭÔɠÃÞɰÔɰÐÔÍɟ{×ɭ] 1 

Give relation among A.M, Median and Mode. 

Q.8. ȑÑĞÑεÙζ¿ÍÞÖɰ¾ɨ¾ɟÖɟȒĘ×¾ɟĆ×ɟßɨÀɟ éé...10,8,9,7,4,6,5? 1 

What will be the median of the following data éé.10,8,9,7,4,6,5? 

Q.9. Òɟ×ÙÈÞÛɴĆ×ɟßɮ? 1 

What is Pilot Survey? 

Q.10. ÞȕÃ¾ɟɰ¾¾ɨÒȎØÕɟθÝÍ¾Øʃ] 1 

 Define Index Number. 

Q.11.yÎxÜɟĦŝ¾ɭεÙ¤ÞɟɰȒć×¾ɥ¾ɟ¾ɟ×xĆ×ɟßɮ? 3 

What is the function of statistics for economics? 
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Q.12. η¾ÑȒĦÎȑÍ×ʇÖʃÅÑÀÌÑɟÒʬÐȑÍŢɟÎεÖ¾ÞÖɰ¾ɨ¾ɭÞɰŐß¾ɭεÙ¤}Ò×ȓĆÍßɮ? 3 

In which conditions Census method of data collection is suitable for primary data?  

    yÎÛɟ/ Or 

η¾ÑÒȎØȒĦÎȑÍ×ʇÖʃ×ɟȸȒċÄ¾ÑÖȕÑɟ¾ØÌθÛκÐŢɟÎεÖ¾ÞÖɰ¾ɨ¾ɭÊɭÈɟÞɰŐß¾ɭεÙ¤}Ò×ȓĆÍßɮ? 

In which conditions random sampling method of data collection is suitable for Primary data? 

Q.13. ÑɠÃɭȏÏ¤À¤ÞÖɰ¾ɨÞɭÛȗǡκÃŝ¾ɟȑÑÖɟxÌ¾Øʃ] 4 

Construct a Pie Diagram from the data given below. 

ŎÖÞɰć×ɟ 

Sr. No. 
ÖÏ 

Items 

ŢȑÍÜÍ 

Percentage 

1 ¾ȗθÝ  Agriculture 40 

2 }ʬ×ɨÀ  Industry 21 

3 ÒȎØÛßÑ  Transport 19 

4 ŢÜɟÞÑ  Administration 13 

5 Ôʅη¾ɰÀ  Banking 07 

    yÎÛɟ / Or 

ÑɠÃɭȏÏ¤À¤ÞÖɰ¾ɨÞɭ¤¾z×ÍκÃŝ©ØzÛȗθǡÔßȓÕȓÅ¾ɟȑÑÖɟxÌ¾Øʃ] 
Construct a Histogram and Frequency polygon from the data given below. 

Ùɭ¿ɟÜɟĦŝÖʃyɰ¾ 

Marks in Accounts. 
0-10 10-20 20-30 30-40 40-50 

Äɟŝʇ¾ɥÞɰć×ɟ 

No. of Students 
5 10 18 15 8 

Q.14. ÑɠÃɭȏÏ¤À¤ÞÖɰ¾ɨÞɭÃÍȓÎx¾θÛÃÙÑÀȓÌɟɰ¾¾ɥÀÌÑɟ¾Øʃ] 4 

Calculate Co-efficient of Quartile Deviation of the data given below. 

Ùɭ¿ɟÜɟĦŝÖʃyɰ¾ 

Marks in Accounts. 
152 155 158 160 162 164 165 166 168 

Äɟŝʇ¾ɥÞɰć×ɟ 

No. of Students 
20 36 18 20 18 24 22 20 21 

 Q.15. ȑÑĞÑzÛȗθǡθÛÍØÌ¾ɭεÙ¤ȑÑØɡàÌθÛκÐʬÛɟØɟÔßȓÙ¾¾ɥÀÌÑɟ¾Øʃ]  4 

Calculate Mode by inspection method for the following frequency distribution. 

ÖÅÏȕØɡ (Ȼ]Öʃ) 100 - 200 - 300 ï 400 ï 500 ï 600 ï 700 ï 800 - 
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Wages(in Rs) 200 300 400 500 600 700 800 900 

ŬεÖ¾ʇ¾ɥÞɰć×ɟ 

No. of workers 
3 10 23 15 25 22 10 8 

      yÎÛɟ/ Or 

zØɭ¿κÃŝʬÛɟØɟÔßȓÙ¾¾ɥÀÌÑɟ©ØŢĦÍȓÍɠ¾ØÌ¾ɮÞɭ¾ɥÅɟÍɠßɮÔÍɟ¤ɰ? zØɭ¿¿ɠɰÃʃ] 

Describe, how Mode is calculated and presented by graphic method? Draw the diagram. 

Q.16. ÑɠÃɭȏÏ¤À¤ÞÖɰ¾ɨÞɭÞß-ÞɰÔɰÐÀȓÌɟɰ¾¾ɥÀÌÑɟ¾Øʃ]              6 

Calculate coefficient of corelation for the data given below. 

X 50 54 56 58 59 60 61 62 65 75 

Y 20 22 24 30 32 36 38 40 44 54 

           

 yÎÛɟ/ Or     ÙɨØʃÅÛŎĆ×ɟßɮ? 

ÙɨØʃÅÛŎ¾ɭȑÑÖɟxÌ¾ɥŢηŎ×ɟ¾ɨ¤¾}Ò×ȓĆÍzØɭ¿¾ɭÞɟÎÞÖÆɟ{¤] 

What is Lorenz Curve? Explain the process of construction of Lorenz Curve with an 

appropriate diagram. 

Q.17 ȑÑĞÑεÙζ¿Í¾ɭÞȕÃÑɟzÐɟØÒØηÓÜØ¾ɥθÛκÐʬÛɟØɟ¾ɥÖÍÞȕÃ¾ɟɰ¾¾ɟȑÑÖɟxÌ¾Øʃ] 6 

Construct the price index number by Fisherôs method from the following information. 

ÛĦÍȓ 
Commodity 

1997 2008 

¾ɥÖÍ(ȻÒ×ɭÖʃ) 

Price (in Rs) 

Öɟŝɟ ({¾ɟ{×ʇÖʃ) 

Quantity (in Units) 

¾ɥÖÍ(ȻÒ×ɭÖʃ) 

Price (in Rs) 

Öɟŝɟ ({¾ɟ{×ʇÖʃ) 

Quantity (in 

Units) 

A 20 4 40 6 

B 50 3 60 5 

C 40 5 50 10 

D 20 10 40 20 

      yÎÛɟ/ Or 

Îɨ¾Öȕġ×ÞȕÃ¾ɟɰ¾©Ø}ÒÕɨĆÍɟÖȕġ×ÞȕÃ¾ɟɰ¾¾ɭyÎx©Ø}Ò×ɨÀ¾ɟÛÌxÑ¾Øʃ] 

Describe meaning and uses of WPI and CPI. 

¿ĔÊ¿ ï ŢɟØȒĞÕ¾ ģ×ȒĥÈ yÎxÜɟĦŝ                                                              

SECTION ïB  INTRODUCTORY  MICROECONOMICS  

Q.18___ ¾ɥÛÅßÞɭzκÎx¾ÞÖĦ×ɟ}ĕÒęÑßɨÍɠßʅ]                                                                   1  
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y) yÞɠεÖÍzÛĤ×¾Íɟ, ÞɰÞɟÐÑʇ¾ɥ¾Öɠ 

Ô ) ÞɰÞɟÐÑʇ¾ɟÛɮ¾ȒġÒ¾}Ò×ɨÀη¾×ɟÅɟÞ¾Íɟßɮ 

Þ ) y ) ¤ÛɰÔ ) ÏɨÑʇ 

Ï )  }ÒØɨĆÍÖʃÞɭ¾ɨ|Ñßɡɰ 

          The economic problem arises due to __       

a) Unlimited wants, scarcity of resources 

b) Resources can be put to alternative uses 

c) a) & b) both 

d) None of the above 

Q.19.}ĕÒɟÏÑÞɰÕɟÛÑɟÛŎÔɟ|¨Øζ¿Þ¾ɭÀɟÅÔ ____ ßɨÀɟ]                                                    1 

y) ÞɰÞɟÐÑʇ¾ɟyġÒ -Ţ×ɨÀ 

Ô ) ÞɰÞɟÐÑʇ¾ɥÛȗʬκÐ / θÛ¾ɟÞ 

Þ ) ÔɭØɨéÀɟØɡ 

Ï ) Ţɟ¾ȗȑÍ¾zÒÏɟÞɭÞɰÞɟÐÑʇ¾ɟÑȓ¾ÞɟÑ 

 PPC will shift to the left when there is ____      

a) Underutilisation of resources 

b) Growth of resources 

c) Unemployment 

d) loss of resources because of natural calamity 

Q.20____{Þ¾ɭyÀÙɭÛɮ¾ȒġÒ¾}Ò×ɨÀÖʃ¤¾¾ɟØ¾¾ɟÖȕġ×ßɮ]                                                  1 

y) yÛÞØ ÙɟÀÍ 

Ô ) }ĕÒɟÏÑÞɰÕɟÛÑɟÙɟÀÍ 

Þ ) Þ¾ɟØɟĕÖ¾ÙɟÀÍ 

Ï ) }ÒØɨĆÍÖʃÞɭ¾ɨ|Ñßɡɰ 

_______ is the value of a factor in its next best alternative use.    

a) Opportunity cost  
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b) Production possibility cost  

c) Positive cost 

d) None of the above 

Q.21 ȑÑĞÑεÙζ¿ÍĦÍɰÕy¾ɭÖÏʇ¾ɨĦÍɰÕÔ¾ɭÞɟÎεÖÙɟÑ¾ØÞßɡθÛ¾ġÒʇ¾ɟÃ×Ñ¾ɥȒÅ¤]             1 

Select the correct options given below to match the following items in column A with column 

B.     

ĦÍɰÕy / Column A ĦÍɰÕÔ / Column B 

i) ÞɠÖɟɰÍyÛÞØÙɟÀÍ / MOC p) ÒɠÒɠÞɠ¾ɟÔɟ|¨Øζ¿Þ¾Ñɟ/ Rightward shift in 

PPC 

ii) ÞÖȒĥÈyÎxÜɟĦŝ / Macroeconomics q) Öȕġ×ȑÑÌx×/ 

Value judgement  

iii) ÞɰÞɟÐÑʇ¾ɥÛȗʬκÐ / Growth of resources r) ÄɨÊÑɭ¾ɟÏØ Rate of sacrifice 

iv) zÏÜɟxĕÖ¾ / Normative statement s) z×©ØØɨÅÀɟØ¾ɟεÞʬÐɟɰÍ 

Theory of income & employment 

A)  iii - p; ii)-r,i-q;iv) -s 

B) i) - r; ii - s; iii- p; iv- q 

C) i)- r; ii - p, iii- s, iv -q 

D) ii - s; i)-p; iii -r,iv-q 

Q.22 ÔÅÈØɭ¿ɟ¾ɟÞÖɠ¾ØÌεÙζ¿¤]                                                                 1 

Give the equation of the budget line.  

Q.23 yġÒɟκÐ¾ɟØ¾ɨÒȎØÕɟθÝÍ¾ɥȒÅ×ɭ]                                                                                 1 

Define oligopoly. 

yÎÛɟ / OR 

ȑÑĞÑεÙζ¿ÍÖʃ¾ɩÑθÛÜɭÝÍɟ¤¾ɟκÐØɟĕÖ¾ŢȑÍĦÒÐɟx¾ɟÑßɡɰßʅ ?   

y ) ÛĦÍȓθÛÕɭÏ 
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Ô) ĦÛÍɰŝ÷Öʝ¾ɟŢÛɭÜ¤ÛɰÔȏßÀxÖÑ 

Þ ) ¤¾ÙθÛŎɭÍɟ 

Ï ) }ÒØɨĆÍÖʃÞɭ¾ɨ|Ñßɡɰ 

            Which of the following is not the feature of monopolistic competition?                        

a) Product differentiation 

b) Free entry and exit 

c) Single seller 

d) None of the above 

Q.24 Ć×ɟÞɠÖɟęÍÙɟÀÍ =  ÞɠÖɟęÍzÀÖ( MC = MR)  ÜÍx}ĕÒɟÏ¾ - 

ÞɰÍȓÙÑ¾ɨßɟεÞÙ¾ØÑɭ¾ɭεÙ¤Ò×ɟxĚÍßɮ©ØĆ×ʇ ?                                                                             1 

 Is it enough to achieve producerôs equilibrium when MC= MR and why ?   

Q.25 ¤¾÷Öx 20 {¾ɟ|}ĕÒɟÏÑ¾ØÍɟßʅ]}ĕÒɟÏÑ¾ɭ{ÞĦÍØÒØ©ÞÍ¾ȓÙÙɟÀÍ 40  

¤Ûɰ©ÞÍÒȎØÛÍxÑÜɠÙÙɟÀÍ  37 ßʅ]÷Öx¾ɟ¾ȓÙȒĦÎØÙɟÀÍáɟÍ¾ɥȒÅ¤]                                  1                       

A firm is producing 20 units. At this level of output, the ATC and AVC are 

respectively equal to Rs. 40 and Rs. 37. Find out the total fixed cost of the firm. 

Q.26. ÞɠÖɟɰÍzÀÖ¾ɥÒȎØÕɟÝɟÏɡȒÅ×ɭ]                                                                                        1 

 Define marginal revenue.    

Q.27. ÖɟɯÀÓÙÑ¾ɭÏɨŢ¾ɟØεÙ¿ʃ]                                                                                            1 

Mention two types of demand function.  

Q.28. ÒȕÌxŢȑÍ×ɨκÀÍɟ¾ɥ 'ÔîɠÞɰć×ɟÖʃŎɭÍɟ¤ÛɰθÛŎɭÍɟ' ¾ɥθÛÜɭÝÍɟ¾ɟÛÌxÑ¾ɥȒÅ¤]        3  
Explain the ólarge number of buyers and sellersô feature of perfect competition.  

Q.29 ¤¾}ÒÕɨĆÍɟ , ¤¾ÛĦÍȓ¾ɥ 80 {¾ɟ{×ɟɯ                                                                       3 

ȻÒ×ɟŢȑÍ{¾ɟ|¾ɥÏØÞɭ¿ØɡÏÍɟßʅ]×ȏÏÛĦÍȓ¾ɥ¾ɥÖÍÁÈÍɠßʅÍɨÛß 100 

{¾ɟ{×ɟɯ¿ØɡÏÍɟßʅ]×ȏÏÖɟɯÀÙɨÃ¾ɥ¾ɥÖÍ (-) 1 ßʅÍÔÑ|¾ɥÖÍ¾ɨáɟÍ¾ɥȒÅ×ɭ]      

A consumer buys 80 units of a good at a price of Rs. 4 per unit. When the price falls he 

buys 100 units. If the price elasticity of demand is (-) 1, find out the new price. 

Q.30 ÑɠÃɭ¤¾}ÒÕɨĆÍɟ (ĦÑɭßɟ )  ¾ɥ}Ò×ɨκÀÍɟyÑȓÞȕÃɠÏɡÀ|ßʅ :    4 
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   Utility Schedule of a consumer ( Sneha) is given below:     

{¾ɟ| / Units 1 2 3 4 5 6 

MUx ( utils)  21 16 8 5 4 2 

×ȏÏÏɡÀ|ÛĦÍȓ 2 ȻÒ¤ÖʃθÛŎ×¾ɥÅɟÍɠßʅ©Ø¤¾ȻÒ×ɟ¾ɥÞɠÖɟɰÍ}Ò×ɨκÀÍɟ 2 ×ȓȏÈġÞßʅ 
,ÍÔ¤¾}ÒÕɨĆÍɟyÒÑɠÞɰÍȓȒĥÈ¾ɨyκÐ¾ÍÖØ¿Ñɭ¾ɭεÙ¤Ûßη¾ÍÑɠ|¾ɟ{×ɟɯ¿ØɡÏɭÀɟ ?  

If the given commodity is sold for Rs. 2 and the marginal utility of one rupee is 2 

utils, how many units will a consumer purchase to maximise his satisfaction? 

   yÎÛɟ /OR 

ÍÈĦÎÍɟÛŎ¾ɥÞßɟ×ÍɟÞɭ}ÒÕɨĆÍɟÞɰÍȓÙÑ¾ɥÜÍɴεÙζ¿¤]¤¾}ÒÕɨĆÍɟÛĦÍȓy©ØÔÏɨÑʇ¾ɨ
¤¾ÞɟÎ}ÒÕɨÀ¾ØÍɟßʅ]}Þ¾ɥÖɩȏş¾z× 20 ȻÒ×ɟßʅ¤ÛɰÛĦÍȓy©ØÔ¾ɥ¾ɥÖÍŎÖÜɪȻÒ×ɟ 4 ©Ø 2 

ßʅ .       i ) Ć×ɟ}ÒÕɨĆÍɟ 4y¤Ûɰ 5ÔÔɰÊÙ¾ɨ¿ØɡÏÒɟ¤Àɟ ? 

ii ) ÅÔ}ÒÕɨĆÍɟÞɰÍȓÙÑÖʃßɨÀɟÍÔȑÑÛɟxß¾ɥÞɠÖɟɰÍÏØyÔ¾ɥĆ×ɟßɨÀɠ  ? 

Give the conditions of consumerôs equilibrium under the Indifference curve. A 

consumer consumes good A and B simultaneously. His money income(M) is Rs. 20 and the 

prices of A and B are Rs. 4 and Rs. 2 respectively. 

i)  Can the consumer afford a bundle of 4a and 5y? 

ii) What will be the MRSab when the consumer is in equilibrium? Explain 

Q.31 ȑÑĞÑεÙζ¿ÍÒȎØÛÍxÑÞɭ¤¾ÛĦÍȓ¾ɥÖɟɯÀ¾ɭ~ÒØĆ×ɟŢÕɟÛÒîɭÀɟ ,                                  4 

κÃŝ¾ɥÞßɟ×ÍɟÞɭÛÌxÑ¾ɥȒÅ×ɭ]         i ) ĦÎɟÑɟÒęÑÛĦÍȓ¾ɥ¾ɥÖÍÖʃ¾Öɠ 

     ii ) ¿ØɡÏɟØ¾ɭÒÞęÏÖʃ¤¾yÑȓ¾ȕÙÒȎØÛÍxÑ.                                                                                      

Explain with the help of diagram the effect of the following changes on the demand of a       

commodity:           

i) A fall in the price of a substitute good 

ii) A favourable change in the taste of the buyer 

Q.32 zÒȕȑÍx¾ɟÞɰ¾ȓÃÑ©ØzÒȕȑÍxÖʃ¾Öɠ¾ɭÔɠÃyɰÍØÔÍɟ{×ɭ]                                                  4 

Distinguish between the contraction of supply and decrease in supply. 



 

Page 37 of 100 
 

Q.33 

¾ȓÙ}ĕÒɟÏ©ØÞɠÖɟɰÍ}ĕÒɟÏ¾ɭÞɰÕɟθÛÍģ×ÛßɟØ¾ɭÔɟØɭÖʃÔÍɟ¤ɰÅÔ}ĕÒɟÏÑÔïɟÑɭ¾ɭεÙ¤¾ɭÛÙ¤¾}ÒɟÏɟ

Ñ¾ɨÔïɟ×ɟÅɟÍɟßɮ, ÅÔη¾yę×}ÒɟÏɟÑʇ¾ɨȒĦÎØØ¿ɟÅɟÍɟßɮ]κÃŝ¾ɟ}Ò×ɨÀ¾ɥȒÅ×ɭ]                 6 

Explain the likely behaviour of the total product and marginal product when for increasing 

production only one input is increased while other inputs are kept constant. Use the diagram.   

Q.34 ȏÏ¤À¤¾ɥÖÍÒØη¾ÞɠÛĦÍȓ¾ɥ ózκÐĆ×zÒȕȑÍxô ßʅ]Ć×ɟ×ß¾ɥÖÍÞɰÍȓÙÑ- ¾ɥÖÍßʅ ? ×ȏÏÑßɡɰ, 

ÍɨÞɰÍȓÙÑ-¾ɥÖÍ¾ɮÞɭŢɟĚÍη¾×ɟÅɟ¤Àɟ?                                                                              6 

 At a given price of a commodity, there is óôexcess supply.ô Is this price an equilibrium price? 

If not, how will the equilibrium price be reached?     

yÎÛɟ / OR        

¤¾ÛĦÍȓ¾ɟÔɟÅɟØÞɰÍȓÙÑÖʃßʅ]×ȏÏÔɟÅɟØÖʃ÷Öʝ¾ɥÞɰć×ɟÔïÅɟÍɠßʅÍɨÞɰÍȓÙÑ¾ɥÖÍ©ØÖɟŝɟÖʃĆ×ɟy
ÞØßɨÀɟ ? κÃŝ¾ɭÞɟÎÞÖÆɟ{¤] 

Market for a good is in equilibrium. With the increase in the number of firms in the market, 

what will happen to the equilibrium price and quantity? Illustrate with a diagram. 
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    SET 5 

SECTION - A 

VERY SHORT ANSWER TYPE QUESTION (1 MARK)  yȑÍ ÙÁȓ }ǡØɡ× ŢĤÑ (1 yɰ¾) 

1. Why are bar diagrams said to be one ï dimensional diagrams?   

ÏĔÊ κÃŝ ¤¾ ï θÛÖɟ ÛɟÙɭ κÃŝ Ć×ʇ ßɨÍɭ ßʅ ? 
2. A teacher divided her students in two groups on the basis of game they play. She made use 

of :                              

      a) Quantitative classification 

b) Qualitative classification  

c) Chronological classification  

d) Spatial classification 

  ¤¾ εÜà¾ yÒÑɭ Äɟŝʇ ¾ɨ }Ñ¾ɭ ʬÛɟØɟ ¿ɭÙɭ À¤ ¿ɭÙ ¾ zÐɟØ ÒØ Ïɨ ÛÀʝ Öʃ ÔɟÈÍɠ ßɮ  . Ñɭ εÜνà¾ɟ
η¾z }Ò×ɨÀ ¾ɟ ÛÀɶ¾ØÌ η¾Þ?  

)¾ (ÛÀɶ¾ØÌ Þɰć×ɟĕÖ¾  

)¿ (ÛÀɶ¾ØÌ ÀȓÌɟĕÖ¾  

)À (ÛÀɶ¾ØÌ ¾ɟÙɟÑȓŎεÖ¾  

)Á (ÛÀɶ¾ØÌ ĦÎɟȑÑ¾  

3. Error which occurs due to non ï response from the respondents is an example of 

____________.    

      a) Sampling error 

b)Non ï sampling error 

c)Both (a) and (b) 

d)None of the above 

 ___________ß ßɨÍɠ ÞĞÔɰκÐÍ Þɭ yÑȓǡØ ¾ɭ }ǡØÏɟÍɟ ˚ɮ˚ɰ | 

)¾ (ŝȓȏÈ×ɟɯ ŢȑÍÏÜx  

)¿ (ŝȓȏÈ×ɟɯ yŢȑÍÏÜx  

)À (ÏɨÑʇ ¿ ©Ø ¾  

)Á (Ñßɡɰ ¾ɨ| Þɭ {ÑÖɭ  

4. Width of rectangles in a histogram should essentially be equal. State whether ótrueô or 

ófalseô. ¤¾ z×Í κÃŝ ¾ɭ ÞÕɠ z×Íʇ ¾ɥ Ãɩîɟ| zÛĤ×¾ ȼÒ Þɭ ÞÖɟÑ ßɨÑɠ Ãɟȏß¤ | ¾ÎÑ ßɮ ï 
Þĕ× yÎÛɟ yÞĕ× |  
5. What will be the value of range for the following data?                           

    X : 12,13,15,19,18,7,6,5,7,4,3 is: 

a) 5.5 

b) 16 

c) 8 

d) 11 

ȑÑĞÑεÙζ¿Í zɰ¾îɨ Þɭ ÒØɟÞáɟÍ ¾ɥȒÅ×ɭ ï X  :12,13,15,19,18,7,6,5,7,4,3 
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)¾ (5.5 

)¿ (16 

)À (8 

)Á (11 

6. The median of a given series is 22. The last value of the series is changed from 40 to  

     75. Will the value of median be affected?                                                                 

¤¾ Ïɡ À×ɠ Ŭɰ¿Ùɟ ¾ɭ ÖɟȒĘ×¾ɟ ¾ɟ Öȕġ× 22 ßɮ | Ŭɰ¿Ùɟ ¾ɭ zζ¿Øɡ Öȕġ× ¾ɨ 40 ¾ɭ ĦÎɟÑ ÒØ 75  ¾Ø 
ȏÏ×ɟ ÅɟÍɟ ßɮ | Ć×ɟ ÖɟȒĘ×¾ɟ ¾ɟ Öȕġ× ŢÕɟθÛÍ ßɨÀɟ ?  
7. The mean deviation from median is computed as 14.5 and the median of the series is    

     20. Find the coefficient of mean deviation from median.                                           

ÖɟȒĘ×¾ɟ Þɭ ȑÑ¾ɟÙɟ À×ɟ ÖɟĘ× θÛÃÙÑ 14.5 ßɮ ÍÎɟ Ŭɰ¿Ùɟ ¾ɭ ÖɟȒĘ×¾ɟ ¾ɟ Öȕġ× 20 ßɮ | ÖɟȒĘ×¾ɟ 

Þɭ ÖɟĘ× θÛÃÙÑ ÀȓÌɟɰ¾ áɟÍ ¾ɥȒÅ×ɭ | 

8. Standard deviation is _________ measure of dispersion.                               

a) Absolute 

b) Relative 

c) Crude 

d) Both (a) and (b) 

ÖɟÑ¾ θÛÃÙÑ ÒȎØàɭÒÌ ¾ɟ ______________ÖɟÒ ßɮ | 
(¾) ȑÑØÒɭà  

(¿) ÞɟÒɭà  

(À) yÒȎØĥ¾ȗÍ  
(Á) ¾ ©Ø ¿ ÏɨÑʇ  
9. Mention the type of correlation, if variables change in reverse direction but in equal 

proportion.                                                             

ÅÔ ÃØʇ Öʃ θÛÒØɡÍ ȏÏÜɟ Öʃ η¾ęÍȓ ÞÖɟÑ yÑȓÒɟÍ Öʃ ÒȎØÛÍxÑ ßɨÍɟ ßɮ , Íɨ ×ß Þß-ÞɰÔɰÐ ¾ɟ ¾ɩÑ 
Þɟ Ţ¾ɟØ ßɮ ? 
10.  Fisherôs Index number is the  : 

a) Arithmetic mean of index numbers of Laaspeyre and Paasche. 

b) Harmonic mean of index numbers of Laaspeyre and Paasche. 

c) Geometric mean of index numbers of Laaspeyre and Paasche. 

d) None of these. 

ηÓÜØ ¾ɟ ÞȕÃ¾ɟɰ¾ ßɮ ï 
(¾) ÙɟȒĦÒ×Ø ©Ø ÒɟĤÃɭ ¾ɭ ÞȕÃ¾ɟɰ¾ʇ ¾ɟ ÞÖɟęÍØ ÖɟĘ×   
(¿) ÙɟȒĦÒ×Ø ©Ø ÒɟĤÃɭ ¾ɭ ÞȕÃ¾ɟɰ¾ʇ ¾ɟ ßØɟĕÖ¾ ÖɟĘ×   
(À) ÙɟȒĦÒ×Ø ©Ø ÒɟĤÃɭ ¾ɭ ÞȕÃ¾ɟɰ¾ʇ ¾ɟ ÀȓÌɟĕÖ¾ ÖɟĘ×   
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(Á) {ÑÖɭ Þɭ ¾ɨ| Ñßɡɰ  

SHORT ANSWER TYPE QUESTION (3 MARKS) ÙÁȓ }ǡØɡ× ŢĤÑ byɰ¾ ¾ɭ εÙ¤ 
11. ñStatistical methods are dangerous weapons in the hands of an unqualified personò. 

Explain.                                                                                             

                                                OR 

What precautions are necessary to use secondary data ?   

ñy×ɨĈ× ģ×ȒĆÍ ¾ɭ ßɟÎ Öʃ Þɟɰć×¾ɥ× θÛκÐ×ɟɰ ¿ÍØÑɟ¾ ßκÎ×ɟØ ßɮò ģ×ɟć×ɟ ¾ɥȒÅ×ɭ | 

                            yÎÛɟ 

ʬθÛÍɠ×¾ zɰ¾îɨ ¾ɭ Ţ×ɨÀ Öʃ ¾ɩÑ ï ¾ɩÑ Þɠ ÞɟÛÐɟȑÑ×ɟɰ zÛĤ×¾ ßʅ ?  
 

12. The size of landholdings of 380 families in a village is given below. Find the median size 

of landholdings.                                                                         

Size of landholdings (in 

acres) 

Less than 

100 

100- 

200 

200-

300 

300 ï 

400 

400 and 

above 

Number of families 40 89 148 64 39 

¤¾ ÀɟɯÛ ¾ɭ 380 ÒȎØÛɟØʇ ¾ɭ ÅɨÍʇ ¾ɟ z¾ɟØ ȏÏ×ɟ À×ɟ ßɮ | ÖɟȒĘ×¾ɟ áɟÍ ¾ɥȒÅ×ɭ | 

ÅɨÍʇ ¾ɟ z¾ɟØ (¤¾î Öʃ)  100 Þɭ ¾Ö  100- 200 200-300 300 ï 400 400 Þɭ yκÐ¾  
ÒȎØÛɟØʇ ¾ɥ Þɰć×ɟ  40 89 148 64 39 

 

SHORT ANSWER TYPE QUESTION (4 MARKS) ÙÁȓ }ǡØɡ× ŢĤÑ 4 yɰ¾ 
13. State four demerits of arithmetic mean.                                                                         

OR 

Compare the arithmetic mean , median and mode as measures of central tendency . 

ÞÖɟęÍØ ÖɟĘ× ¾ɭ ÃɟØ ÏɨÝ ÔÍɟ{¤ | 
               yÎÛɟ 

¾ɭęşɡ× ŢÛȗȑÍ ¾ɭ ÖɟÒʇ ¾ɭ ȼÒ Öʃ ÞÖɟęÍØ ÖɟĘ× , ÖɟȒĘ×¾ɟ ÍÎɟ ÔßȓÙ¾ ¾ɥ ÍȓÙÑɟ ¾ɥȒÅ×ɭ | 

14. Calculate mean deviation about arithmetic mean and coefficient of mean deviation: 

Values (X) 10 11 12 13 

Frequency (f) 3 12 18 12 

ÞÖɟęÍØ ÖɟĘ× ʬÛɟØɟ ÖɟĘ× θÛÃÙÑ ¤Ûɰ ÀȓÌ¾ áɟÍ ¾Øɨ      

  

(x) 10 11 12 13 

(f) 3 12 18 12 

   

15. Name the consumer groups for which consumer price index number is computed. 

Construct cost of living index for 2018 based on 2004 from the following data :           

Group Food Housing Clothing Fuel and 

light 

Miscellaneous 

Group index number 122 140 112 116 106 
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for 2018 

(Based on 2004) 

Weights 32 10 10 6 42 

 }ÒÕɨĆÍɟ ¾ɥÖÍ ÞȕÃ¾ɟɰ¾ ¾ɨ zɰ¾Ñɭ ¾ɭ εÙ¤ ÔÑɟ×ɭ À¤ }ÒÕɨĆÍɟ ÞÖȕßʇ ¾ɭ ÑɟÖ ÔÍɟ{¤ | 
ȑÑĞÑεÙζ¿Í zɰ¾îɨ ¾ɥ Þßɟ×Íɟ Þɭ 2004 ¾ɨ zÐɟØ ÛÝx ÖɟÑ¾Ø 2018 ¾ɟ ÅɠÛÑ ȑÑÛɟxß ÙɟÀÍ 
ÞȕÃ¾ɟɰ¾ áɟÍ ¾Øʃ | 

ÞÖȕß  ÕɨÅÑ  η¾Øɟ×ɟ  ÛĦŝ  |ÐÑ  ÍÎɟ 
Ţ¾ɟÜ  

θÛθÛÐ  

ÛÝx 2018 ¾ɭ εÙ¤ ÞÖȕß 
ÞȕÃ¾ɟɰ¾ (2004 ÒØ 
zÐɟȎØÍ )  

122 140 112 116 106 

ÕɟØ  32 10 10 6 42 

 

LONG ANSWER TYPE QUESTION (6 MARKS)ÏɡÁx }ǡØɡ× ŢĤÑ 6 yɰ¾ ¾ɭ εÙ¤ 

16. (a) Give any three properties of  coefficient of correlation.   

(b) Calculate the coefficient of correlation from the following data by the Spearman ós  rank 

correlation method :  

X 20 11 24 18 20 22 

Y 24 9 20 22 9 21 

                                                            OR 

(a) The arithmetic mean of the following series is 18, find out the missing frequency. 

Class 

Interval 

11-13 13-15 15-17 17-19 19-21 21-23 23-25 

Frequency 3 6 9 13 ? 5 4 

(b) These are wages of nine workers. Find out Quartile deviation of the following series : 

170,  82, 110, 100,  150,  150,  200,  116,  250 

16. (¾) ¾ɨȏÈ ÞßÞɰÔɰÐ ÀȓÌɟɰ¾ ¾ɭ ¾ɨ| ÍɠÑ ÀȓÌ εÙζ¿¤  | 
(¿) ȑÑĞÑ zɰ¾îɨ ¾ɭ εÙ¤ ¾ɨȏÈ Þß-ÞĞÔęÐ ÀȓÌɟɰ¾ ȑÑ¾ɟεÙ¤ ï 

X 20 11 24 18 20 22 

Y 24 9 20 22 9 21 

                                                                yÎÛɟ  
(¾) ȑÑĞÑ ÞɟØÌɠ ¾ɟ ÞÖɟęÍØ ÖɟĘ× 18 ßɮ , yáɟÍ zÛȗθǡ ¾ɨ áɟÍ ¾ɥȒÅ×ɭ | 

ÛÀx 
yɰÍØɟÙ  

11-13 13-15 15-17 17-19 19-21 21-23 23-25 

zÛȗθǡ  3 6 9 13 ? 5 4 

(¿) Ñɩ ÖÅÏȕØʇ ¾ɥ ÖÅÏȕØɡ Ïɡ À×ɠ ßɮ | ȑÑĞÑ Ŭɰ¿Ùɟ Þɭ ÃÍȓÎx¾ θÛÃÙÑ ȑÑ¾ɟεÙ¤ | 

170, 82, 110, 100, 150, 150, 200, 116, 250 
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17. What is meant by statistical data? Explain and illustrate various types of frequency 

distribution series.                                                                                                            

Þɟɰζ¿×¾ɥ zɰ¾îɨ Þɭ zÒ Ć×ɟ ÞÖÆÍɭ ßʅ ? θÛεÕęÑ Ţ¾ɟØ ¾ɥ zÛȗȑÍ θÛÍØÌ Ŭɰ¿Ùɟ¨ɰ ¾ɥ 
}ÏɟßØÌ ÞȏßÍ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ | 

SECTION ï B 

VERY SHORT ANSWER TYPE QUESTION (1 MARK)yȑÍ ÙÁȓ }ǡØɡ× ŢĤÑ (1 yɰ¾) 

18. When marginal utility is negative, total utility is:           

a) Zero 

b) Diminishing  

c) Maximum 

d) Minimum 

ÅÔ ÞɠÖɟęÍ }Ò×ɨκÀÍɟ  ÌɟĕÖ¾ ßɨÍɠ ßɮ  ,ßɮ ßɨÍɠ }Ò×ɨκÀÍɟ ¾ȓÙ ÍÔ  :  

)¾ (Üȕę×  

)¿ (ßȓ| ÁÈÍɠ  

)À (yκÐ¾ÍÖ 
)Á (ę×ȕÑÍÖ  

19. Define monotonic preference of the consumer. 

}ÒÕɨĆÍɟ ¾ɭ ¤¾ȏÏĥÈ yκÐÖɟÑʇ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ×ɭ | 

20. Because of law of diminishing marginal utility, demand curve slopes ______. (upward / 

downward) 

ůɟÞÖɟÑ ÞɠÖɟęÍ }Ò×ɨκÀÍɟ ¾ɭ ȑÑ×Ö ¾ɭ ¾ɟØÌ , ÖɟɰÀ ÛŎ ¾ɟ ËÙɟÑ ______ ßɨÍɟ ßɮ |         
(ÐÑɟĕÖ¾ /  ÌɟĕÖ¾ ) 
21. The demand for goods like sugar and tea is usually : 

a) Elastic 

b) Inelastic 

c) Perfectly elastic 

d) Perfectly inelastic 

 

ÃɠÑɠ ÍÎɟ Ãɟ× ¾ɥ ÖɟɰÀ Ţɟ× ßɨÍɠ ßɮ  : 
)¾ (ÙɨÃÏɟØ 
)¿ (ÔɭÙɨÃÏɟØ  

)À (ÙɨÃÏɟØ ÒȕÌxÍɪ  

)Á (ÔɭÙɨÃÏɟØ ÒȕÌxÍɪ  

22. Production function shows the __________relationship between physical inputs and 

physical output.  (Technical/ economic)}ĕÒɟÏÑ ÓÙÑ ¤¾ ̈Ø ÕɩȑÍ¾ }ĕÒɟÏÑ ÍÎɟ ÏȕÞØɡ ̈Ø 
ÕɩȑÍ¾ zÀÍʇ ¾ɭ ÔɠÃ Öʃ ________ÞĞÔęÐ ßɮ | (Í¾Ñɠ¾ɥ / zκÎx¾)  
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23. What is meant by implicit costs? ȑÑȏßÍ ÙɟÀÍʇ Þɭ Ć×ɟ yεÕŢɟ× ßɮ ? 
24. AR curve is also called firmôs demand curve.  (True/false) 

©ÞÍ zÀÖ ÛŎ ÓÖx ¾ɟ ÖɟɰÀ ÛŎ Õɠ ßɨÍɟ ßɮ | (Þĕ× / yÞĕ× ) 
25. At Px = Rs. 5, demand for Good ïX is 30 units and supply of Good- X is 20 units, it is a 

situation of :                                                                  

a) Excess demand 

b) Excess supply 

c) Equilibrium 

d) None of these 

Px = 5 ÒØ ȼÒ¤  ,ÛĦÍȓ ï X ÖɟɰÀ εÙ¤ ¾ɭ 30 ÛĦÍȓ ÍÎɟ ßɮ {¾ɟ{×ɟɯ ï X ÒȕȑÍx ¾ɥ 20 ßɮ {¾ɟ{×ɟɯ  , ×ß
ßɮ ȒĦÎȑÍ :  

)¾ (¾ɥ ÖɟɰÀ yȑÍȎØĆÍ  

)¿ (¾ɥ ÒȕȑÍx yȑÍȎØĆÍ  

)À (¾ɥ ÞɰÍȓÙÑ  

)Á (Ñßɡɰ ¾ɨ| Þɭ {ÑÖɭ  

26. The difference between firm and industry disappears in monopoly. (True/False) 

¤¾ɟκÐ¾ɟØ Öʃ ÓÖx ÍÎɟ }ʬ×ɨÀ ¾ɟ yɰÍØ ÞÖɟĚÍ ßɨ ÅɟÍɟ ßɮ | (Þĕ× /yÞĕ×) 
27. In case of perfect competition,  

a) A firm is able to charge higher price 

b) A firm is able to charge uniform price 

c) A firm is able to sell any amount at the prevailing price 

d) Both (b) and (c) 

ÒȕÌx ŢȑÍ×ɨκÀÍɟ ¾ɥ ȒĦÎȑÍ Öʃ : 
)¾ (ßɮ ßɨÍɠ ÞàÖ Öʃ ¾ØÑɭ ÛÞȕÙ ¾ɥÖÍ yκÐ¾ ÓÖx ¤¾ |  

)¿ (ÞÖɟÑ ¤¾ ÓÖx ¤¾ ¾ɥÖÍ ÛÞȕÙ ¾ØÑɭ Öʃ ÞàÖ ßɨÍɠ ßɮ | 
)À (ßɮ ßɨÍɠ ÞàÖ Öʃ ÔɭÃÑɭ Öɟŝɟ Õɠ η¾ÍÑɠ ÒØ ¾ɥÖÍ θÛʬ×ÖɟÑ ÓÖx ¤¾ |  

)Á (À ©Ø ¿ ÏɨÑʇ  

SHORT ANSWER TYPE QUESTION (3 MARKS) ÙÁȓ }ǡØɡ× ŢĤÑ byɰ¾ ¾ɭ εÙ¤ 
28.  (a)  Arrange the following coefficients of price elasticity of demand in ascending order :                      

-0.87,  -0.53,  -3.1,  -0.80 

(b)  Comment on the degree of elasticity of demand for commodity ï X, if the price of 

commodity falls from Rs. 28 per unit to Rs. 23 per unit and its quantity demanded rises from 

50 units to 100 units.     

(¾) ÖɟɰÀ ¾ɥ ¾ɥÖÍ ÙɨÃ ¾ɭ ÀȓÌɟɰ¾ ¾ɨ ÔïÍɭ ßȓ¤ ŎÖ Öʃ ģ×ÛȒĦÎÍ ¾ɥȒÅ×ɭ ï 

-0.87 , -0.53 , -3.1 , - 0.80  
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(¿) ÖɟɰÀ ¾ɥ ¾ɥÖÍ ÙɨÃ áɟÍ ¾ɥȒÅ×ɭ ï ×ȏÏ ÛĦÍȓ X ¾ɥ ¾ɥÖÍ 28 ȼÒ¤ ŢȑÍ {¾ɟ| Þɭ κÀØ¾Ø 23 
ȼÒ¤ ŢȑÍ {¾ɟ| ßɨ ÅɟÍɠ ßɮ ©Ø {Þ¾ɥ ÖɟɰÀ ¾ɥ À×ɠ Öɟŝɟ 50 {¾ɟ| Þɭ Ôï¾Ø 100 {¾ɟ| ßɨ ÅɟÍɠ ßɮ 
| 

29.   Why is the demand curve of a firm under monopolistic competition more elastic than 

under monopoly?   Explain.     

                                                        OR 

Explain the feature of oligopoly market ï ñHigh degree of interdependence between firms ò. 

¤¾ɟκÐ¾ɟØɟĕÖ¾ ŢȑÍ×ɨκÀÍɟ Öʃ ¤¾ ÓÖx ¾ɟ ÖɟɰÀ ÛŎ ¤¾ɟκÐ¾ɟØ ¾ɥ ÍȓÙÑɟ Öʃ yκÐ¾ ÙɨÃÏɟØ Ć×ʇ 
ßɨÍɟ ßɮ ? ģ×ɟć×ɟ ¾ɥȒÅ×ɭ |                                 yÎÛɟ 

¤¾ yġÒɟκÐ¾ɟØ ÔɟéɟØ ¾ɥ θÛÜɭÝÍɟ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ ï ñyɰÍȑÑxÕØÍɟ ¾ɥ ~ɯÃɠ Öɟŝɟò |  

SHORT ANSWER TYPE QUESTION (4 MARKS) ÙÁȓ }ǡØɡ× ŢĤÑ 4 yɰ¾ 
30.  State and discuss any two factors that will shift the PPC to the right with the help of 

diagrams.    

Øɭ¿ɟκÃŝ ¾ɥ Þßɟ×Íɟ Þɭ }ĕÒɟÏÑ ÞĞÕɟÛÑɟ ÛŎ ¾ɭ Ïɟ| ̈Ø ζ¿Þ¾Ñɭ ¾ɭ εÙ¤ }ǡØÏɟ×ɠ η¾ęßɡ Ïɨ 
¾ɟØ¾ʇ ÒØ Ţ¾ɟÜ ÊɟεÙ¤ | 

31.   Explain the behaviour of Average fixed cost and Average variable cost when more and 

more units of a good are produced.  

                                                  OR 

Explain how the following factors affect the supply of the commodity (any two) : 

a) Price of factor inputs 

b) State of technology 

c) Government taxation policy       

ÅɮÞɭ ïÅɮÞɭ }ĕÒɟÏÑ Öʃ ÛȗʬκÐ ßɨÍɠ ßɮ  , ¾ɟ ÙɟÀÍ ÒȎØÛÍxÑÜɠÙ ©ÞÍ ÍÎɟ ÙɟÀÍ ȒĦÎØ ©ÞÍ
ßɮ ßɨÍɟ ¾ɮÞɟ ģ×ÛßɟØ  ? ģ×ɟć×ɟ ¾ɥȒÅ×ɭ | 

               yÎÛɟ  
¤¾ ÛĦÍȓ ¾ɥ ÒȕȑÍx ÒØ ȑÑĞÑεÙζ¿Í Öʃ Þɭ η¾ęßɡ Ïɨ ¾ɟØ¾ʇ ¾ɭ ŢÕɟÛ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ - 

)¾ (¾ɥÖÍ ¾ɥ zÀÍʇ  

)¿ (ŢÀȑÍ Í¾Ñɠ¾ɥ  

)À (ÑɠȑÍ ¾Ø ÞØ¾ɟØɡ  

32.  What is meant by price floor? Discuss in brief , any one consequence of imposition  

of floor price with the help of diagram.           

ę×ȕÑÍÖ ¾ɥÖÍ Þɭ zÒ Ć×ɟ ÞÖÆÍɭ ßʅ ? Øɭ¿ɟκÃŝ ¾ɥ Þßɟ×Íɟ Þɭ {Þ¾ɭ η¾Þɠ ¤¾ ÒȎØÌɟÖ ¾ɥ 
ģ×ɟć×ɟ ¾ɥȒÅ×ɭ |  

LONG ANSWER TYPE QUESTION (6 MARKS)ÏɡÁx }ǡØɡ× ŢĤÑ 6 yɰ¾ ¾ɭ εÙ¤ 

33.   Identify which of the following is not true for the indifference curves theory.  Give valid 

reasons for choice of your answer : 

a) Lower indifference curve represents lower level of satisfaction. 
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b) Two indifference curves can intersect each other. 

c) Indifference curve must be convex to origin at the point of tangency with the budget 

line at the consumerôs equilibrium. 

d) Indifference curves are drawn under the cardinal approach to consumer ós 

equilibrium.                                                                                                 

 OR 

A consumer has total money income of Rs. 500 to be spent on two goods X and Y with prices 

of Rs. 50 and Rs. 10 per unit respectively.  On the basis of the information given, answer the 

following questions : 

a) Give the equation of budget line for the consumer. 

b) What is the value of the slope of the budget line ? 

c) How many units can the consumer buy if he is to spend all his money income on 

Good ïX ? 

d) How does the budget line change if there is a 50% fall in price of Good ï Y ? 

 ÍÈĦÎÍɟ ÛŎ θÛĤÙɭÝÌ ¾ɭ ÞĞÔęÐ Öʃ yÞĕ× ¾ÎÑ ¾ɨ ÒßÃɟȑÑ¤  | ÞȏßÍ ¾ɟØÌ ÒȓȒĥÈ ¾ɥ }ǡØ
¾ɥȒÅ×ɭ ï  

)¾ (ÍÈĦÎÍ ȑÑĞÑ ˚ɟ ÛŎ ÞɰÍȓȒĥÈ ¾ɭ ȑÑĞÑ ĦÍØ ¾ɨ Ţ¾È ¾ØÍɟ ßɮ | 
)¿ (ßʅ ¾ɟÈÍɭ ¾ɨ  ÏȕÞØɭ ¤¾ ÛŎ ÍÈĦÎÍɟ Ïɨ |  

)À (ÒØ ȐÔɰÏȓ ÞɰÍȓÙÑ ,ßɮ ßɨÍɟ }ęÑÍɨÏØ ¾ɭ ȐÔɰÏȓ ÖȕÙ ÛŎ ÍÈĦÎÍɟ |  

)Á (ßɮ zÐɟȎØÍ ÒØ ÖɟÒ ÀÌÑɟÛɟÃ¾ ¾ɭ }Ò×ɨκÀÍɟ θÛĤÙɭÝÌ ÛŎ ÍÈĦÎÍɟ |  

                        yÎÛɟ  
¤¾ }ÒÕɨĆÍɟ ¾ɥ z× ȼÒ¤ 500 ÛĦÍȓ ÍÎɟ ßɮ X ÛĦÍȓ ©Ø Y ŎÖÜ ¾ɥÖÍ ¾ɥ 50 ©Ø ȼÒ¤ 10 

ßɮ {¾ɟ| ŢȑÍ ȼÒ¤  |ÒØ zÐɟØ ¾ɭ ÞȕÃÑɟ {Þ  ,ÏɡȒÅ×ɭ }ǡØ ¾ɭ ŢĤÑʇ ȑÑĞÑ ï  

)¾ (εÙζ¿¤ ¾ɨ ÞÖɠ¾ØÌ ¾ɭ Øɭ¿ɟ ÔÅÈ |  

)¿ (ßɮ Ć×ɟ Öȕġ× ¾ɟ ËÙɟÑ  ¾ɭ Øɭ¿ɟ  ÔÅÈ ?  

)À (Þ yÒÑɠ ×ȏÏ }ÒÕɨĆÍɟ ĞÒȕÌx z× ÛĦÍȓ ï x  ¾Ø }ÒÕɨÀ ¾ɟ Öɟŝɟ η¾ÍÑɠ Íɨ Ïɭ ¾Ø ģ×× ÒØ
ßɮ Þ¾Íɟ ?  

)Á (ÛĦÍȓ ×ȏÏ ï Y ¾ɥÖÍ ¾ɥ 50 ßɨÀɠ Ć×ɟ Øɭ¿ɟ ÔÅÈ Ñ| Íɨ ßɮ ÅɟÍɠ ßɨ ¾Ö ŢɟȑÍÜÍ ?  

34.  Why will  a  profit maximizing firm in a perfect competitive market never strike  its 

equilibrium in a state when MC is falling ?  Explain your answer using a suitable                

diagram . 

¤¾ ŢȑÍ×ɨÀɠ ÔɟéɟØ Öʃ ÙɟÕ yκÐ¾ÍÖ ¾ØÑɭ ÛɟÙɡ ¤¾ ÓÖx ÞɰÍȓÙÑ ¾ɥ yÛĦÎɟ ¾Õɠ Õɠ ŢɟĚÍ Ć×ʇ 
Ñßɡɰ ¾Ø Òɟ¤Àɠ ×ȏÏ MC κÀØ Øßɡ ßɮ ? }Ò×ȓĆÍ κÃŝ ¾ɟ Ţ×ɨÀ ¾ØÍɭ ßȓ¤ yÒÑɭ }ǡØ ¾ɥ ģ×ɟć×ɟ  ¾Øʃ | 

 

 

 

 



 

Page 46 of 100 
 

SET 6 

SECTION - A 

1. ȎØĆÍ ĦÎɟÑ ÒȕÌx ¾ɥȒÅ¤:        1 

 Fill in the blanks: 

_______________¾ɭ ȼÒ Öʃ ÞɟɰȒć×¾ɥ ÞÖɰ¾ʇ ¾ɭ ȼÒ Öʃ ÍĖ×ʇ ßʅ]   

In ___________sense, statistics refers to information in terms of numerical data. 

a) ¤¾ÛÃÑ  

Singular 

b) ÔßȓÛÃÑ  

Plural 

c)θÛÛØÌɟĕÖ¾  

Descriptive 

d) yÑȓÖɟÑ εÞʬÐ   

Inferential 

2. ĦÍĞÕ y ÍÎɟ ĦÍĞÕ Ô Öʃ ȏÏ×ɭ À¤ ¾ÎÑʇ Þɭ Þßɡ Åɨîɭ ¾ɟ Ã×Ñ  ¾ɥȒÅ¤]   1 

From the set of statements given in Column I and Column II choose the correct pair of 

statements: 

COLUMNA-- -ĦÍɰÕðy COLUMN BðĦÍɰÕ -Ô 

i)Secondary data-ʬθÛÍɠ×¾zɰ¾îʃ a) First hand data-ÞɠÐɠ /zɰ¾îʃ Ţĕ×à  

ii) Ţĕ×à ģ×ȒĆÍÀÍ yÑȓÞɰÐɟÑ θÛκÐ 

Direct personal investigation method 

b) Þɰ¾εÙÍ zɰ¾îʇ ¾ɥ ÖɩεÙ¾Íɟ ¾ɥ Öɟŝɟ 
¾Ö ßɨÍɠ ßʅ  
Collected data have a less degree of 

originality 

ii)ÀÌ¾ θÛκÐ 

Enumeratorôsmethod 

 

 

c) yÑȓÞɰÐɟÑ ¾ɭ }ʬÏɭĤ× ¾ɭ yÑȓÞɟØ 
ŢĤÑɟÔÙɡ ŢĦÍȓÍ ¾ɥ ÅɟÍɠ ßʅ  
A questionnaire is prepared according 

to the purpose of enquiry 

 

Iv)yÑȓÞɰÐɟÑ ¾Íɟx 

Investigator 

 

iii)  ¤¾ ģ×ȒĆÍ Åɨ ŢĤÑɟÔÙɡ Öʃ ÜɟεÖÙ 
ŢĤÑʇ ¾ɭ ÞÖȕß ¾ɟ }ǡØ ÏɭÍɟ ßʅ  
A person who answer to the set of questions 

included in the questionnaire 

3. ĦÍĞÕ II Öʃ ȏÏ×ɭ À¤ θÛ¾ġÒʇ ¾ɭ ÞɟÎ ĦÍĞÕ I ¾ɭ ÖÏʇ ¾ɭ yÑȓÞɟØ Åɨîʃ ÔÑɟ{¤]  1 

Match the alternatives given in Column II with respective items in Column I: 
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 ĦÍĞÕ I   --COLUMN I ĦÍĞÕ II--COLUMN II 

I)  yÒÛÅɶ ŬɭÌɠ  
Exclusive series 

a)  ŬɭÌɠ Åɨ ~ÒØɡ ÞɠÖɟ Í¾ ÞÕɠ ÖÏʇ ¾ɨ 
ÞȒĞÖεÙÍ ¾ØÍɠ ßʅ  
Series which includes all items up to 

its upper limit 

II)  ¿ɰιÊÍ ŬɭÌɠ  
Discrete series 

b)  ÀȓÌɟĕÖ¾ Öɟŝɟ 

Qualitative dimension 

III)   ÞÖÛɭÜɠ ŬɭÌɠ  
Inclusive series 

c)  Öȕġ×ʇ ÒȕÌx Þɰć×ɟ ÐɟØÌ ¾ØÍɠ ßʅ  
Assumes values in complete numbers 

IV)   ÀȓÌ -Attribute d) ¤¾ ÛÀx yɰÍØɟÙ ¾ɥ ~ÒØɡ ÞɠÖɟ ¾ɭ Öȕġ× 
}Þ ÛÀx Öʃ ÜɟεÖÙ Ñßɡɰ ßɨÍɠ ßʅ  
Value of the upper limit of a class 

interval is not included in that class 

  

a) i)--(d)   ii)-(c)   iii)-(a) iv)ð(b) 

b)  i)---(a) ii)-(b) iii)-(c)     iv)-(d) 

c) i)---(b) ii)-(c)   iii)-(d)    iv)-(a) 

d) i) ï(c)    ii)-b) iii)-(d)    iv)-(a) 

4. ¤¾ yÞÖεÖÍɠ× θÛÍØÌ ¾ɭ ÔßȓÙ¾ ¤Ûɰ ÖɟĘ× ŎÖÜ  :26.6 ¤Ûɰ 28.1 Öȕġ× ¾ɟ ÖɟȒĘ×¾ɟ ] ßʅ  
___________________   1 

The mode and mean are 26.6 and 28.1 respectively in an asymmetrical distribution. 

The value of median is ___________________ 

a) 27.2 

b)  27.4 

c) 27.6 

d) 27.8 

5.  12 ÖɟĘ× ÞÖɟɰÍØ  ¾ɭ Þɰć×ɟ¨ɰ 24 ÞɟÎ ¾ɭ Þɰć×ɟ¨ɰ Ţĕ×ɭ¾ ×ȏÏ ] ßʅ 5  ÍÔ ßʅ ÅɟÍɟ Åɨîɟ
ÖɟĘ× Ñ×ɟ ________________ßʅ]   1 

 The mean of 12 numbers is 24. If 5 is added in every number, the new mean is 

______________ 

a) 25 

b) 26 

c) 28 

d) 29 

6. z×ÍκÃŝ ¾ɭ ÖɟĘ×Ö Þɭ ŢĦÍȓÍ η¾¤ À¤ zɰ¾îʇ Þɭ zÙɭ¿ɠ ȼÒ Þɭ ȑÑĞÑεÙζ¿Í ÅɟÑ¾ɟØɡ 

ŢɟĚÍ¾Ø Þ¾Íɭ ßɮ__________________1 

Data represented through a histogram can help in finding graphically 

the______________ 

a)  ÖɟĘ× ---Mean 

b)  ÖɟȒĘ×¾ɟ---Median 

c)  ÔßȓÙ¾----Mode 
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d) }Ò×ȓxĆÍ  ÞÕɠ ----All the above  

7.   ÙɟØʃÅ ÛŎ ¾ɭ ÞɰÔɰÐ Öʃ ÞÖɟÑ θÛÍØÌ ¾ɥ Øɭ¿ɟ  ÖȕÙ ȐÔęÏȓ Öʃ _____¾ɨÌ ¾ɟ ÀÉÑ ¾ØÍɠ ßʅ] 
     1 

In case of Lorenz Curve, line of equal distribution makes an angle of ____at the 

origin. 

a)  30 ιÊŐɠ -- 30 degree 

b)  45 ιÊŐɠ -- 45 degree 

c) 65 ιÊŐɠ --65 degree 

d)  90 ιÊŐɠ -- 90 degree. 

8. ÅÔ r=1 ßɮ θÛàɭÒ κÃŝ /ȐÔęÏȓ¤ɯ ÞÕɠ  ÒØ zØɭ¿ Ţ¾ɥÌx    1 

 When r=1 all points in a scatter diagram would lie: 

a)  ¤¾ ÞØÙ Øɭ¿ɟ Åɨ Ôɟ¤ɯ ÑɠÃɭ Þɭ ~ÒØ ÏɟȏßÑɭ ¾ɥ ̈Ø ÅɟÍɠ ßʅ }Þ ÒØ ßʅ]  
On a straight line directed from lower left to upper right 

b)  ¤¾ ÞØÙ Øɭ¿ɟ ÒØ  ßʅ]  
On a straight line 

c)  ¤¾ ÞØÙ Øɭ¿ɟ Åɨ Ôɟ¤ɯ ~ÒØ Þɭ ÏɟȏßÑɭ ÑɠÃɭ ¾ɥ ̈Ø ÅɟÍɠ }Þ ÒØ  ßʅ] 

On a straight line directed from upper left to lower right 

d)  )a (ÍÎɟ )b  (ÏɨÑʇ  

Both (a) and (c) 

 ¾ÎÑʇ ¾ɨ Òȏï¤ ¤Ûɰ ȑÑĞÑεÙζ¿Í  Ïɨ ŢĤÑʇ ¾ɭ }ǡØ ÏɡȒÅ¤ : 
ÖȓşɟĦÓɥȑÍ  ¾ɨ ÞɟÖɟę× ¾ɥÖÍ ĦÍØ Öʃ ȑÑØɰÍØ ÛȗʬκÐ ¤¾ ȒĦÎȑÍ ¾ɭ ȼÒ ÛÌxÑ η¾×ɟ ÅɟÍɟ 
ßʅ] ×ß ¾ɥÖÍʇ Öʃ ÙÀɟÍɟØ ¤Ûɰ Ò×ɟxĚÍ ÛȗʬκÐ ßʅ ]  ¾ɥÖÍʇ Öʃ ÑÀĔ× ÍÎɟ yȑÑ×εÖÍ ÛȗʬκÐ 
¾ɨ ÖȓşɟĦÓɥȑÍ Ñßɡɰ ¾ßÍɭ ßʅ]  
Read the statements and answer the following two questions: 

Inflation is described as a situation characterised by a sustained increase in the general 

price level. It is a persistent and appreciable rise in prices. A small rise in prices or an 

irregular price rise cannot be called inflation. 

9. _______________ ÞȕÃ¾ɟɰ¾ η¾Þɠ ÏɭÜ Öʃ ÖȓşɟĦÓɥȑÍ ¾ɥ ÏØ ¾ɟ    ÞȕÃ¾ Öʃ ģ×ɟÒ¾ ȼÒ 
ÖʃŢ×ɨÀ ×ɨĈ× ¾ɥÖÍ ÞȕÃ¾ɟɰ¾ ßʅ]   1 

The ______________index is the most widely used price index as an indicator of the 

rate of inflation. 

10.  }Ò×ȓxĆÍ ÞȕÃ¾ɟɰ¾ _____________ zÐɟØ ÒØ ȑÑÖɟxÌ η¾×ɟ ÅɟÍɟ ßɮ] The above index is 

constructed on ________________ basis.   1 

11.  ¤¾ ¾àɟ Öʃ 120 Öʃ θÛʬ×ɟκÎx×ʇ 70 Ùî¾ɭ  ßʅ] ¾ȓÙ 70 Öʃ  Ùî¾ʇ 30   ŬɭÌɠÖʃ θÛáɟÑ  Ùî¾ɭ
¤Ûɰ 25 ßʅ] Öʃ ŬɭÌɠ ¾Ùɟ 10 ¤Ûɰ Öʃ ŬɭÌɠ θÛáɟÑ Ùîη¾×ɟɰ 35 Ŭɭ ÛɟζÌč× Ìɠ Öʃ ßʅ ] {Þ ÍĖ×ʇ 

¾ɨ ÞɟØÌɠ Öʃ ŢĦÍȓÍ ¾ɥȒÅ¤]          

 3 
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 In a class there are 120 students, out of which 70 are boys. Out of total 70 boys, 30 

boys belong to Science stream and 25 are students of Arts stream. There are 10 girls 

in Science Stream and 35 in Commerce Stream. Present these facts in the table. 

Or  /ÎÛɟy  

ȑÑĞÑ εÙζ¿Í zɰ¾îʇ Þɭ óÞɭ yκÐ¾ô ÞɰÃ×ɠ zÛȗθǡ ÛŎ ÔÑɟ{¤]  

Draw óMore than cumulative frequencyô curve from the following table: 

 z× 
INCOME 

0-10 10-20 20-30 30-40 40-50 

 ģ×ȒĆÍ×ʇ ¾ɥ 
Þɰć×ɟ 

NUMBER 

OF 

PERSONS 

5 15 25 3 2 

12ȏÏ×ɭ À¤ ¾ÎÑ Þßɡ ×ɟ ÀÙÍ ¾ɟØÌʇ ¾ɭ ÞɟÎ ÔÍɟ{¤ 

 ñÛÀɶ¾ØÌ ¤Ûɰ ÞɟØÌɠ×Ñ ¤¾ ¤Ûɰ ÞÖɟÑ θÛÝ× ßʅ] ñ    3 

State with reason whether the given statement is true or false 

. ñClassification and tabulation are one and the same thing.ò 

13 ÑɠÃɭ ȏÏ×ɭ À¤ ¾ɟ×x ȒĦÎȑÍ ¾ɭ zÐɟØ ÒØ ÕɟØÍɠ× ÅÑÞɰć×ɟ θÛÍØÌ   ¾ɭ zɰ¾îʇ ¾ɨ Ûȗǡ κÃŝ 
ʬÛɟØɟ ÏÜɟx{¤]         4 

Present distribution of Indian population by their working status using the data given below 

in pie diagram. 

Ţ¾ɟØ  
TYPES 

ÞɠÖɟɰÍ ŬεÖ¾ 
Marginal 

Worker 

 Öȓć× ŬεÖ¾ Main 

Worker 

ÀɮØ ŬεÖ¾ 
Non- Worker 

 ÅÑÞɰć×ɟ )¾Øɨî(  

POPULATION 

(crore) 

9 31 62 

14.  ȑÑĞÑεÙζ¿Í ÞɟØÌɠ  Öʃ ¤¾ ¾àɟ Öʃ θÛʬ×ɟκÎx×ʇ ¾ɭ yÎxÜɟĦŝ ¾ɭ yɰ¾ɭ ȏÏ×ɭ À¤ ßʅ] ÒÏ 
θÛÃÙÑ θÛκÐ ʬÛɟØɟ ÞÖɟɰÍØ ÖɟĘ× áɟÍ ¾ɥȒÅ¤]    The following table gives marks in 

Economics of the students of a class. Find out the arithmetic mean by step deviation 

method.  

Marks 20-29 30-39 40-49 50-59 60-69 

No. of 

students 

20 10 6 4 5 

    OR 
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 ȑÑĞÑεÙζ¿Í zɰ¾îʃ Þɭ ÖɟȒĘ×¾ɟ áɟÍ ¾ɥȒÅ¤]     4 

Calculate median from the following data: 

 ÖÅÏȕØɡ)ȼ(  

Wages(in Rs.) 

ŬεÖ¾ʇ ¾ɥ Þɰć×ɟ  

Number of workers 

5 Þɭ ¾Ö   Less than 5 4 

10 Þɭ ¾Ö less than 10 10 

15 Þɭ ¾Ö Less than 15 20 

20 ¾Ö Þɭ Less than 20 30 

25 Þɭ ¾Ö Less than 25 55 

30 Þɭ ¾Ö Less than 30 79 

35 Þɭ ¾Ö Less than 35 99 

40 Þɭ ¾Ö Less than 40 100 

15. Öȕġ×ɟÑȓÒɟÍʇ ¾ɟ ÕɟȎØÍ ÖɟĘ× θÛκÐ ʬÛɟØɟ ÞȕÃ¾ɟɰ¾ áɟÍ ¾ɥȒÅ¤]  

Calculate the index number by using weighted average of price relative method: 

Commodities ÛĦÍȓ¤ɯ  A 

y 

B 

Ô 

C 

Þ 

D 

Ï 
Öɟŝɟ {¾ɟ|  ÛÝx 2000 Öʃ  
Quantity(Units)in 

2000 

10 20 30 10 

 ¾ɥÖÍ )ȼ(ÛÝx 2000 Öʃ  

Price (Rs.) in 2000 

80 40 60 25 

 ¾ɥÖÍ )ȼ  (ÛÝx Öʃ2010  

Price (Rs.) in 2010 

160 70 120 100 

16.  ñCertain difficulties have to be faced while constructing Consumer price indexò. 

Do you agree with this statement? Give reasons 

ñ¾ȏÉÑɟ{ ȑÑȒĤÃÍ ÞÖ× ¾ØÍɭ ȑÑÖɟxÌ ÞȕÃ¾ɟɰ¾ ¾ɥÖÍ }ÒÕɨĆÍɟ ¨ɰ ¾ɟ ÞɟÖÑɟ ¾ØÑɟ 
ÒîÍɟ ßʅ]  ñßʅ ÞßÖÍ zÒ Þɭ ¾ÎÑ {Þ Ć×ɟ ? ¾ɟØÌ ÏÜɟx{¤]               

      Or/yÎÛɟ                      

ñÞȕÃ¾ɟɰ¾ ¤¾ ÏɭÜ ¾ɥ zκÎx¾ ŢÀȑÍ ¾ɭ zκÎx¾ Ûɟ×ȓÖɟÒ¾ ×ɰŝ ßɨÍɭ ßʅ]ñ  {Þ ¾ÎÑ ¾ɥ 
zÙɨÃÑɟ ¾ɥȒÅ¤ ]  

 ñIndex numbers are economic barometers for economic progress of a  country.ò 

Comment on this statement.                                               6 

17. y) ÞßÞɰÔɰÐ Þɭ Ć×ɟ zÜ× ßʅ?           6 

a) What is meant by correlation? 
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Ô) ȑÑĞÑεÙζ¿Í zɰ¾îʃ  ¾ɭ εÙ¤ ¾ɟÙx θÒ×ØÞÑ θÛκÐ ʬÛɟØɟ ÞßÞɰÔɰÐ áɟÍ ¾ɥȒÅ¤] 

b) Calculate the coefficient of correlation for the following data by KarlPearsonôs 

method: 

X 12 15 18 21 24 27 30 

Y 6 8 10 12 14 16 18 

     Or/yÎÛɟ 

 y) ŢÖɟÒ θÛÃÙÑ ¾ɥ ÒȎØÕɟÝɟ ÏɡȒÅ¤]     

a) Define standard deviation 

 Ô) ȑÑĞÑεÙζ¿Í zɰ¾îʃ Þɭ ŢÖɟÒ θÛÃÙÑ áɟÍ ¾ɥȒÅ¤] 

 b) Calculate Standard deviation from the following data: 

  

ÛÀx yɰÍØɟÙ 

Class Interval 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 

zÛȗθǡFrequency 10 15 25 25 10 10 5 

 

  

                                          ¿ɰÊ Ô --SECTION ïB 

18 }ĕÒɟÏÑ  ÞɰÕɟÛÑɟ ÛŎ ÖȕÙ ȐÔęÏȓ ¾ɭ ÑÍɨÏØ Ć×ʇ ßɨÍɟ ßɮ  

(¾) ÔËÍɠ ßȓ| MOC ¾ɭ ¾ɟØÌ          (¿) ÁÈÍɠ ßȓ| MOC ¾ɭ ¾ɟØÌ     

(À) ÔËÍɠ ßȓ| MRS¾ɭ ¾ɟØÌ           (Á) ÁÈÍɠ ßȓ| MRS¾ɭ ¾ɟØÌ  PPC is concave to PPF 

is concave to origin due to:  

(a) Increasing MOC                 (b) Decreasing MOC 

(C)  Increasing MRS                    (d)  Decreasing MRS 

19 ÞɠÖɟɰÍ }Ò×ɨκÀÍɟ ¾ɭ ÑɠÃɭ ¾ɟ àɭŝ ÏÜɟxÍɟ ßɮ : 

(¾) ©ÞÍ }Ò×ɨκÀÍɟ             (¿) ÍÈĦÎɟ ÛŎ      

(À) ¾ȓÙ }Ò×ɨκÀÍɟ               (Á) }ÒÕɨĆÍɟ ÞɰÍȓÙÑ  

What does the area under Marginal Utility depict? 

(a) Average Utility              (b) Indifference Curve 

      (C) Total Utility                    (d)  Consumer, Equilibrium 
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20 ×ȏÏ ÛĦÍȓ X ¾ɥ ¾ɥÖÍ κÀØÍɠ ßɮ Íɨ ÛĦÍȓ Y ¾ɥ ÖɟɰÀ Ôï ÅɟÍɠ ßɮ , ÏɨÑʇ ÛĦÍȓ¤ɰ η¾Þ Ţ¾ɟØ 

ÞɰÔɰκÐÍ ßɮ? 

(¾) ŢȑÍĦÎɟÒ¾                      (¿) ÒȕØ¾      

(À) ŢȑÍĦÒÐɟxĕÖ¾                   (Á) ÞɰÔɰκÐÍ Ñßɡɰ  

If due to fall in price of good X, demand for good Y rises, the two goods are: 

(a) Substitutes                                 (b) Complements 

      (C)  Competitive                             (d)  Not related 

21 ¤¾ }ÒÕɨĆÍɟ ¾ɭ εÙ¤ ÍÈĦÎɟ ÛŎ ÒØ ÞÕɠ Þɰ×ɨÀ _______________ ßɨÍɭ ßɮ ( 

ŢɟĚ×/yŢɟĚ× ) 

All combinations on Indifference Curve are ______________by the consumer. 

(Achievable/Not achievable) 

yÎÛɟ/OR 

Ïɨ ÍÈĦÎɟ ÛŎ ¤¾ ÏȕÞØɭ ¾ɨ _________Þ¾Íɭ ßɮ (¾ɟÈ/ Ñßɡɰ ¾ɟÈ) 

Two indifference curves can____________ each other. ( Never intersect/ Intersect) 

22 ©ÞÍ zÀÖ ¾ɨ yę× Ć×ɟ ¾ßɟ ÅɟÍɟ ßɮ? 

(¾) z×           (¿) ¾ɥÖÍ      

(À) ÙɟÀÍ            (Á) ¿Ãx  

Average revenue is also known as: 

(a) Income                              (b) Price 

      (C)  Cost                              (d)  Expenditure 

23 ¾Ø ÙÀÑɭ Þɭ η¾Þɠ ÛĦÍȓ ¾ɥ ÒȕȑÍx- 

(¾) ȒĦÎØ ØßÍɠ ßɮ           (¿) ÔïÍɠ ßɮ      

(À) ÁÈÍɠ ßɮ            (Á) ¾ Û ¿ ÏɨÑʇ  

Due to imposition of a unit tax supply of a good: 

(a) Remains Constant              (b) Increases 

      (C)  Decreases (d)  Both a & b 
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24 ¤¾ ÓÖx ʬÛɟØɟ ÞɟÐÑ η¾Øɟ×ɭ ÒØ η¾×ɟ À×ɟ ¿Ãx ______________ ÙɟÀÍ ¾ßÙɟÍɟ ßɮ  

(ÔɟßØɡ/zɰÍȎØ¾) 

The expenditure made by a firm on hiring factor services is called______________ 

cost. (Explicit/ Implicit)  

25 η¾Þ ÔɟéɟØ ÞɰØÃÑɟ Öʃ ÓÖx ¾ɥÖÍ ĦÛɠ¾ɟØ¾ ßɨÍɠ ßɮ? 

(¾) ¤¾ɟκÐ¾ɟØ              (¿) ¤¾ɟκÐ¾ɟØɟĕÖ¾ ŢȑÍ×ɨκÀÍɟ  

(À) yġÒɟκÐ¾ɟØ            (Á) ÒȕÌx ŢȑÍ×ɨκÀÍɟ  

Under which market form a firm is price maker? 

(a) Monopoly                               (b) Monopolistic competition 

     (C) Oligopoly                            (d)  Perfect Competition 

26 ę×ȕÑÍÖ ÞÖÎxÑ Öȕġ× ÞÖɟę×Í×ɟ _____________     }ĕÒɟÏʇ ÒØ ȏÏ×ɟ ÅɟÍɟ ßɮ ( ¾ȗθÝ/ 

©ÐɩκÀ¾) 

Price floor is generally imposed on_____________ product. (agricultural/ Industrial) 

27 ȑÑĞÑ Öʃ Þɭ ¾ɩÑÞɠ ¤¾ɟκÐ¾ɟØɟĕÖ¾ ŢȑÍ×ɨκÀÍɟ ¾ɥ θÛÜɭÝÍɟ Ñßɡɰ ßɮ? 

(¾) ÓÖɼ ¾ɥ yκÐ¾ Þɰć×ɟ           (¿) θÛŎ× ÙɟÀÍ       

(À) ¾ɥÖÍ ÕɭÏ                     (Á) ĦÛÍɰŝ ŢÛɭÜ  

Which of the following is not the feature of monopolistic completion? 

(a) Large number of firms                               (b) Selling cost 

(C)  Price discrimination (d)  Free Entry 

28 ÞɰàɭÒ Öʃ ¤¾ yÎxģ×ÛĦÎɟ ¾ɥ ñ ¾ɮÞɭ }ĕÒɟÏÑ η¾×ɟ Åɟ×ɭò ¾ʃşɡ× ÞÖĦ×ɟ ¾ɟ ÛÌxÑ ¾ɥȒÅ¤  

Briefly explain ñHow to produce?ò central problem of an economy. 

yÎÛɟ/OR 

ÞɰàɭÒ Öʃ ¤¾ yÎxģ×ÛĦÎɟ ¾ɥ ñ η¾Þ¾ɭ εÙ¤ }ĕÒɟÏÑ η¾×ɟ Åɟ×ɭò ¾ʃşɡ× ÞÖĦ×ɟ ¾ɟ ÛÌxÑ 

¾ɥȒÅ¤  

Briefly explain ñFor whom to produce?ò central problem of an economy. 

29 yġÒɟκÐ¾ɟØ ¾ɥ ¾ɨ| ÍɠÑ θÛÜɭÝÍɟ¤ɰ εÙζ¿¤  

Explain any three features of oligopoly market. 
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30 yÀØ ÛĦÍȓ X ¾ɥ ÞɠÖɟɰÍ }Ò×ɨκÀÍɟ 20 ×ȓȏÈÙ ÍÎɟ Y ÛĦÍȓ ¾ɥ ÞɠÖɟɰÍ }Ò×ɨκÀÍɟ 25 ×ȓȏÈÙ ßɮ Û ÏɨÑʇ 

ÛĦÍȓ×ʇ ¾ɥ ¾ɥÖÍ 50 ȻÒ×ɭ ßɮ Íɨ Ć×ɟ }ÒÕɨĆÍɟ ÞɰÍȓÙÑ Öʃ ßɨÀɟ  ?×ȏÏ Ñßɡɰ Íɨ Ûß ¾ɮÞɭ ģ×ÛßɟØ 

¾ØɭÀɟ?         

Marginal utility of good óXô is 20 utils and marginal utility of good óYô is 25 utils. If the price 

of goods is Rs. 50 each, then the consumer will be in equilibrium or not? How will he react? 

yÎÛɟ/OR 

¾ɨ| }ÒÕɨĆÍɟ η¾Þɠ ÛĦÍȓ ¾ɥ 5 ȻÒ×ɭ ¾ɥÖÍ ÒØ 80 |¾ɟ{×ɟɰ ¿ØɡÏÍɟ ßɮ I ×ȏÏ ÖɟɰÀ ¾ɥ Öȕġ× ÙɨÃ (-) 2 ßɨ 

Íɨ Ûß η¾Þ ¾ɥÖÍ ÒØ }Þ ÛĦÍȓ ¾ɥ 64 |¾ɟ{×ɟɰ ¿ØɡÏɭÀɟ? 

A consumer buys 80 units of a good at a price of Rs. 5 per unit. Suppose price elasticity of 

demand is (-)2. At what price will he buy 64 units? 

31 ¾ɟØÌ ÞȏßÍ }ĕÒɟÏ¾ ¾ɭ ÞɰÍȓÙÑ ȐÔɰÏȓ ¾ɨ ÒßÃɟȑÑ¤  

Giving reason identify producerôs equilibrium. 

Output (Units) Total Cost Total Revenue 

1 12 10 

2 22 20 

3 30 30 

4 40 40 

5 42 50 
 

32 ÒȕÌx ŢȑÍ×ɨκÀÍɟ ÍÎɟ ¤¾ɟκÐ¾ɟØɟĕÖ¾ ŢȑÍ×ɨκÀÍɟ Öʃ ¾ɨ| ÃɟØ yɰÍØ ÏɡȒÅ×ɭ  

Give any four differences between perfect competition and monopolistic competition. 

33 ÍÈĦÎÍɟ ÛŎ ¾ɥ Þßɟ×Íɟ Þɭ }ÒÕɨĆÍɟ ÞɰÍȓÙÑ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤| Øɭ¿ɟκÃŝ ¾ɟ Ţ×ɨÀ ¾Øɭ  

Explain consumer equilibrium with the help of indifference curve approach. 

Use diagram. 

yÎÛɟ/OR 

ñÖɟɯÀ Öʃ ÒȎØÛÍxÑò ©Ø ñÖɟɯÀɠ À×ɠ Öɟŝɟ Öʃ ÒȎØÛÍxÑò Öʃ yɰÍØ ĦÒĥÈ ¾ɥȒÅ¤ | 

Differentiate between ñChange in Demandò and ñChange in Quantity Demanded.ò 

 

34 ÒȎØÛÍxÑ ÜɠÙ yÑȓÒɟÍ ¾ɭ ȑÑ×Ö ¾ɥ  ģ×ɟć×ɟ ¾ɥȒÅ¤ ] Øɭ¿ɟκÃŝ ¾ɟ Ţ×ɨÀ¾ɥȒÅ¤ | 

Explain the law of variable proportions .Use the diagram. 
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SET-7 

SECTION ï A ¿ɰÊ-y (Statistics for Economics) 

1- Which one is not a characteristics of statistics in plural sense-    1 
(A) Aggregate of data. 
(B) Expressed in words only. 
(C) Affected by multiplicity of causes. 

(D) Collected in a systematic manner.  

ȑÑĞÑ Öʃ Þɭ ¾ɩÑ ÔßȓÛÃÑ Öʃ ÞɟɰȒć×¾ɥ ¾ɥ θÛÜɭÝÍɟ Ñßɡɰ ßɮ - 
(¾) zɰ¾îɨ ¾ɟ ÞÖŐ  
(¿) ¾ɭÛÙ ÜĜÏʇ Öʃ ģ×ĆÍ  
(À) ¾ɟØÌʇ ¾ɥ ÔßȓÙÍɟ Þɭ ŢÕɟθÛÍ  

(Á) ģ×ÛȒĦÎÍ ÞɰŐßÌ  
2- In éééééé(questionnaires/schedules/),entire information is filled by the 

informants themselves. (Fill up the blank with correct alternative)    1 

)..................................ŢĤÑɟÛÙɡ/ yÑȓÞȕÃɠ (Öʃ ÞĞÒȕÌx ÅɟÑ¾ɟØɡ ÞȕÃÑɟ ŢÏɟÍɟ ʬÛɟØɟ ÕØɡ ÅɟÍɠ 
ßɮ l  
)Þßɡ θÛ¾ġÒ ÕØʃ  

3- Reports and publications of NSSO are the important source ofééééé?  1 
(A) Primary Data. 
(B) Secondary data. 
(C) Original data. 
(D) All of above.  

NSSO ¾ɥ ȎØÒɨÈx ¤Ûɰ Ţ¾ɟÜÑ ÖßȀÛÒȕÌx ŮɨÍ ßɮ 
(¾) ŢɟÎεÖ¾ z¾îʇ ¾ɭ  

(¿)ʬθÛÍɠ×¾ z¾îʇ ¾ɭ  
(À)ÖȕÙ z¾ɰîʇ ¾ɭ  
(Á)}ÒØɨĆÍÞÕɠ ¾ɭ  
4- In general, inflation is calculated by using which Index ?    1 

Or 
Whichindex is known as cost of living index? 
ÞɟÖɟę×Íɪ ĦÓɥȑÍ ¾ɥ ÀÌÑɟ η¾Þ ȑÑÏɴÜɟɰ¾ Þɭ ¾ɥ ÅɟÍɠ ßɮ ? 
              yÎÛɟ 
      η¾Þ ȑÑÏɴÜɟɰ¾ ¾ɨ ÅɠÛÑ ȑÑÛɟxß ȑÑÏɴÜɟɰ¾ ¾ßÍɭ ßʅ ? 
5- Which of following can be derived with the help of scattered diagram-  1 

(A) Mean  

(B) Median  

(C) Line of best fit. 
(D)Mode. 
ȑÑĞÑ Öʃ Þɭ η¾Þɭ ȐÔɰÏȓ zØɭ¿ Þɭ }ĕÒęÑ η¾×ɟ Åɟ Þ¾Íɟ ßɮ ? 
(¾) ÖɟĘ× 
(¿) ÖȒĘ×¾ɟ 
(À) ŬɭĥÉ zÞɰÅÑ Øɭ¿ɟ  
(Á) ÔßȓÙ¾ 

6- Variance is simply the ééééééééééé..(cube/square/half) of standard 
eviation.(Fill up the blank with correct alternative)     1 
ŢÞØÌ ÞɟÖɟę×Íɪ ÖɟÑ¾ θÛÃÙÑ ¾ɟ ...............................(ÁÑ/ ÛÀx/ zÐɟ) ßɨÍɟ ßɮ l 
)Þßɡ θÛ¾ġÒ ÕØʃ ( 
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7- It is graphical measure of dispersion which gives glimpse of variation in a statistical 
distributionôô.This statement is true for -      1 

(A) Pie diagram 

(B) Lorenz Curve 

(C) Ogive.  

(D) Histogram. 

ñ ×ß θÛÝÖÍɟ ¾ɟ Øɮζ¿¾ ÖɟÒ Åɨ ÞɟɰȒć×¾ɥ× θÛÍØÌ Öʃ }ċ×ɟÛÃÑ  ¾ɟ κÃŝ ŢĦÍȓÍ ¾ØÍɟ ßɮlôô ×ß 
¾ÎÑ η¾Þ¾ɭ ÞɰÔɰÐ Öʃ Þßɡ ßɮ ï 

(¾) Ûȗǡ κÃŝ  
(¿)ÙɟØɭęÅ ÛŎ  
(À) ÍɨØÌ zØɭ¿  
(Á) z×Í κÃŝ  

8- The formula for estimatingMode in case of continuous series is éééé..é.(Fill up 
the blank with correct answer)        1 
ÛÀx yɰÍØɟÙ ŬɭÌɠ Öʃ ÔßȓÙ¾ ¾ɟ Þȕŝ ........................................ßɮ. 
 (ȎØĆÍ ĦÎɟÑ ¾ɨ }κÃÍ }ǡØ Þɭ ÕØʃ) 

9- The sum of deviations of the items from arithmetic mean is always éé..(one, zero, 
two)  (Fill up the blank with correct alternative)     1 
ÞÖɟęÍØ ÖɟĘ× Þɭ ŬɭÌɠ ¾ɭ θÛÃÙÑ ¾ɟ ×ɨÀ ÞÛxÏɟ ...............................(¤¾/Üȓę×/Ïɨ) ßɨÍɟ ßɮ l  
)Þßɡ θÛ¾ġÒ ÕØʃ ( 
 

10-ééééé.(Mean/Median/Mode )is used to measure popularity of goods in 
market.(Fill up the blank with correct alternative)                                        1 
.......................(ÖĘ×/ÖȒĘ×¾ɟ/ÔßȓÙ¾) ¾ɟ Ţ×ɨÀ ÔɟÅɟØ Öʃ ÛĦÍȓ̈ɰ ¾ɥ Ùɨ¾θŢ×Íɟ ÖɟÒÑɭ ¾ɭ 
εÙ¤ ßɨÍɟ ßɮl (ȎØĆÍ ĦÎɟÑ ¾ɨ }κÃÍ }ǡØ Þɭ ÕØʃ) 

11-Differentiate between primary data and secondary data on any three points.  3 
ŢɟÎεÖ¾ ©Ø ʬθÛÍɠ×¾ zɰ¾îɨ Öʃ η¾ęßɡ ÍɠÑ ȐÔęÏȓ̈ ¾ɭ zÐɟØ ÒØ yɰÍØ ¾ȎØ¤l 

12-Define median. What are its merits and demerits?                          3 
                                           or 

What is mode? Discuss its merits and demerits.  

 ÖȒĘ×¾ɟ ¾ɨ ÒȎØÕɟθÝÍ ¾Øʃl {Þ¾ɭ ÀȓÌ ¤Ûɰ ÏɨÝ ÔÍɟ¤ɰ l 

yÎÛɟ 

 ÔßȓÙ¾ Ć×ɟ ßɮ ? {Þ¾ɭ ÀȓÌ ¤Ûɰ ÏɨÝ ÔÍɟ¤ɰl 

13-The arithmetic mean of the following series is 18, find out the missing frequency.     4 

ȑÑĞÑÛÍ ŬɭÌɠ ¾ɟ ÞÖɟęÍØ ÖĘ× 18 ßɮ  ,ȎØĆÍ  ÔɟØɰÔɟØÍɟ ¾ɟ ÒÍɟ ÙÀɟ×ʃ l   

Class Interval 11-13 13-15 15-17 17-19 19-21 21-23 23-25 

Frequency 3 6 9 13 - 5 4 

14-Calculate mode of the following series using Graphic Technique.                4

  

zØɭ¿ θÛκÐ ʬÛɟØɟ ÑɠÃɭ Ïɡ À×ɠ ŬɭÌɠ ¾ɟ  ÔßȓÙ¾ áɟÍ ¾Øʃ l 
Expenditure No. of Families 

0-10 14 
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10-20 23 

20-30 27 

30-40 21 

40-50 15 

 
Or 

 Calculate median Value of the following data using graphic technique. 

zØɭ¿ θÛκÐ ʬÛɟØɟ ÑɠÃɭ Ïɡ À×ɠ ŬɭÌɠ ¾ɥ ÖȒĘ×¾ɟ  áɟÍ ¾Øʃ l   
 

Size Frequency  

0-10 10 

10-20 20 

20-30 30 

30-40 20 

40-50 10 

15-Draw a pie diagram with the given data.       4 

ȏÏ¤ À¤ zɰ¾îɨ Þɭ ÛȗÍ κÃŝ ÔÑɟ×ɭ|  

Transport Type Walking Train  Tram Car Bicycle  

No of students 9 10 6 12 3 

  

16-Construct Laspeyreôs and Paascheôs price indices for 2014 with 2004 as base year.   6 

ÑɠÃɭ ȏÏ¤ À¤ z¾îʇ Þɭ ßȓ¤ ÖɟÑÍɭ ÛÝx zÐɟØ ¾ɨ2004 2014  ¾ɭ εÙ¤ ÙɮĤÒɠ×Ø ¤Ûɰ ÒɟĤÃɭ 

¾ɭ¾ɥÖÍ ÞȕÃ¾ɟɰ¾ ¾ɥ ÀÌÑɟ ¾ɥȒÅ×ɭ l  

Items 
2004 2014 

Price Quantity Price Quantity 

A 2 6 4 8 

B 0.4 40 1 36 

C 0.5 24 0.25 32 

OR 

Calculate Standard Deviation from the following data.    

   

Wages 5-15 15-25 25-35 35-45 45-55 

No. of workers 8 12 15 9 6 

 ȑÑĞÑεÙζ¿Í z¾îɨ Þɭ ŢÖɟÒ θÛÃÙÑ ¾ɥ ÀÌÑɟ ¾Øɭ | 

ÖÅÏȕØɡ  5-15 15-25 25-35 35-45 45-55 

ŬεÖ¾ʇ ¾ɥ  

8 

 

12 

 

15 

 

9 

 

6 
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Þɰć×ɟ  

 

17-Using assumed mean for X as 16 and for Y as 42 calculate karl Pearsonôs coefficient of 
correlation. 

X ¾ɭεÙ¤ 16 ÍÎɟ Y ¾ɭεÙ¤ 42 ¾ȒġÒÍ ÖɟĘ× ÖɟÑÍɭ ßȓ¤ ¾ɟÙx θÒ×ÞxÑ ¾ɭ ÞßÞɰÔɰÐ ÀȓÌɟɰ¾ ¾ɥ 
ÀÌÑɟ ¾ɥȒÅ×ɭ l                                                                                                                            

6 

 

X 10 12 18 16 15 19 18 17 

Y 30 35 45 44 42 48 47 46 

 

SECTION-B  
18-......... is a cost of value of best alternative use ..........ÞÛxŬɭĦÉÛɮ¾ȒġÒ¾Ţ×ɨÀ¾ɥÙɟÀÍßɮ        

1 
(A)Average cost ©ÞÍ ÙɟÀÍ 

(B)Opportunity cost yÛÞØÙɟÀÍ 
(C)Marginal cost ÞɠÖɟęÍÙɟÀÍ 
(D)Explicit costÔɟħ×ÙɟÀÍ 

 

19-When sale increases from 18 units to 20 units and TR increases from Rs 370 to Rs 400 

,calculate MR .ȐÔŎɥ Ôï ¾Ø 18 {¾ɟ| Þɭ 20 ÒØ ßɨÑɭ {¾ɟ| TR  Ȼ .370 Þɭ  Ôï ¾Ø Ȼ .400 ßɨ 
ÅɟÍɠ ßɮ ,MR ¾ɥ ÀÌÑɟ ¾Øʃ   |                                                                                                     

1                                                                                           

 

20-In which market firm has no control on price?      1 

η¾Þ ÔɟÅɟØ Öʃ ÓɟÖx ¾ɟ ¾ɥÖÍ ÒØ ¾ɨ| ȑÑ×ɰŝÌ Ñßɡɰ ßɨÍɟ l   
21-Movement from lower point to upper point on same supply curve is known aséé..? 1 

(A) Increase in supply. 

(B) Decrease in supply 

(C) Contraction in supply 

(D) Extension in supply 

 ¤¾ ßɡ  ÛŎÒȕȑÍx ÒØ ȑÑĞÑ ȐÔɰÏȓ Þɭ }ċ× ȐÔɰÏȓ ÒØ ÅɟÑɭ ¾ɨ ¾ßÍɭ ßʅ......................l 

(¾) ÒȕȑÍx Öʃ ÛȗʬκÐ  
(¿)ÒȕȑÍxÖʃ ¾Öɠ  
(À) ÒȕȑÍx ÖʃÞɰ¾ȓÃÑ  
(Á) ÒȕȑÍx Öʃ θÛĦÍɟØ  

22-Total utility is maximum when/¾ȓÙ }Ò×ɨκÀÍɟ yκÐ¾ÍÖ ßɨÀɠ ÅÔ:              1 

(A) MU =1      (B)MU=0     (C)MU is positive    (D)MU is negative 

23-Elasticity of Demand of salt:ÑÖ¾¾ɥÖɟɰÀ ¾ɥ ÙɨÃ ßɨÀɠ                                                     1 

(A)Inelastic ÔɭÙɨÃ 
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 (B)Elastic ÙɨÃÏɟØ 

 (C)Unitary ÞÖÙɨÃ 

(D)Perfect elastic ÒȕÌxÙɨÃÏɟØ 
   Or  

The value of elasticity in case of a horizontal demand curve will be 
A.  One          B.  Zero              C.  Infinity          D.  Greater than one 

 
yÎÛɟ 

 
àɮȑÍÅÖɟɰÀÛŎ¾ɥÏÜɟÖʃ ,ÖɟɰÀ¾ɥÙɨÃ¾ɟÖȕġ×ßɨÀɟ 
A. 1    B. 0       C.  yÑɰÍ         D. 1 ÞɭyκÐ¾ 

 
24-Goods having many substituteshasĦÎɟÑɟÒęÑ ÛĦÍȓ }ÒÙĜÐ ßɨÑɭ ÒØ}Ñ¾ɥ ÖɟɰÀ ßɨÀɠ:       1 

(A)elastic demand ÙɨÃÏɟØÖɟɰÀßɨÀɠ 
(B)Inlastic demand ÔɭÙɨÃÖɟɰÀ 
(C)Unitary elastic demand ÞÖÙɨÃÖɟɰÀ 
(D)Perfect elastic demand ÒȕÌxÙɨÃÏɟØÖɟɰÀ 

25-One factor that causes a leftward shift of the demand curve out of the following is:    1 

ÖɟɰÀÛŎ¾ɭÔɟ|¨Ø ζ¿Þ¾Ñɭ¾ɟ¾ɟØÌßɮ: 
)A( Fall in income z×Öʃ¾Öɠ 

 (B)Rise in the price of complementary goods ÒȕØ¾ÛĦÍȓ¾ɥ¾ɥÖÍÖʃÛȗʬκÐ 

 (C)Rise in incomez×ÖʃÛȗʬκÐ 

 (D)None of these {ÑÖɭÞɭ¾ɨ|Ñßɡɰ 

26-In which of the following situations, does scarcity arise?                                              1 
ÏȓÙxÕÍɟ}ĕÒęÑßɨÑɭ¾ɟ¾ɟØÌßɮ 

(A) Supply of resources > Demand for resources  ÞɰÞɟÐÑ¾ɥÒȕȑÍx>ÞɰÞɟÐÑ¾ɥÖɟɰÀ 
(B) Supply of resources<Demand for resources ÞɰÞɟÐÑ¾ɥÒȕȑÍx <ÞɰÞɟÐÑ¾ɥÖɟɰÀ 
(C) Demand =Supply ÖɟɰÀ = ÒȕȑÍx   (None of these {ÑÖɭÞɭ¾ɨ|Ñßɡɰ) 

27-By producing an additional unit of output total cost is increased by 250 unit. In this case 
Marginal cost will beé.          1 
 (A)Canôt be calculated    (B)250 (C)100  (D)50 
  ¤¾ yȑÍȎØĆÍ ȑÑÀxÍ ¾ɭ }ĕÒɟÏÑ ¾ɭ ÓÙĦÛȼÒ ¾ȓÙ ÙÀÍ 250 {¾ɟ| Ôï ÅɟÍɠ ßɮl {Þ ÏÜɟ Öʃ 
ÞɠÖɟęÍ      ÙɟÀÍĆ×ɟ ßɨÀɠ ?  

28- What is the likely impact of Skill India Compaign on PPF ofIndian Economy? 3 

 ȒĦ¾Ù {ɰιÊ×ɟ yεÕ×ɟÑ ¾ɟ ÕɟØÍɠ× yÎxģ×ÛĦÎɟ ¾ɭ PPF ÒØ Ć×ɟ ÞɰÕɟθÛÍ ŢÕɟÛ ßɨÀɟ? 
Or 

 Draw  aProduction Possibility Curve and indicate the following points. 
A. Fuller utilization of resources  

B. Under utilization of resources  

C. Growth of resources. 

¤¾ }ĕÒɟÏÑ ÞɰÕɟÛÑɟ ÛŎ ¾ɨ ÔÑɟ ¾Ø ȑÑĞÑ ȐÔęÏȓ̈ ¾ɨ  
ÏÜɟx×ʃ l  

¾- ÞɰÞɟÐÑʇ ¾ɟ ÒȕÌx Ţ×ɨÀ  
¿- ÞɰÞɟÐÑʇ ¾ɟ yÒȕÌx Ţ×ɨÀ  
À- ÞɰÞɟÐÑʇ Öʃ ÛȗʬκÐ  

29- Write any three factors which cause a leftward shift in demand curve.  
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 ÖɟɰÀ ÛŎ ¾ɭ Ôɟʁ ̈Ø ζ¿Þ¾Ñɭ ¾ɭ η¾ęßɡɰ ÍɠÑ ¾ɟØÌʇ ¾ɨ ÞÖÆɟ¤ɰl                                 

3 

30- Explain the effect of following changes on supply with the help of diagram: 

     a) obsolete technology   b) Increase in input prices 

 Øɭ¿ɟκÃŝ ¾ɥ Þßɟ×Íɟ Þɭ ȑÑĞÑ ¾ɟØ¾ʇ ¾ɟ ÛĦÍȓ ¾ɥ ÒȕȑÍx ÒØ ŢÕɟÛ Ć×ɟ ßɨÀɟ, ÞÖÆɟ|×ɭ l            

4 

y. yŢÃεÙÍ Í¾ȑÑ¾ɥ       Ô zÀÍʇ ¾ɥ ¾ɥÖÍ Öʃ ÛȗʬκÐ 

31- Differentiate between monopoly and monopolistic competition.   4

 ¤¾ɟκÐ¾ɟØ©Ø¤¾ɟκÐ¾ɟØɡŢȑÍ×ɨκÀÍɟÖʃyɰÍØ¾ɥȒÅ×ɭl     

     OR 

Define price floor. Write any two effects of this policy on market. 

     ¾ɥÖÍ ÍÙ Ć×ɟ ßɨÍɟ ßɮ   ©Ø {Þ¾ɟ ÔɟÅɟØ ÒØ ÒîÑɭ ÛɟÙɭ Ïɨ ŢÕɟÛʇ ¾ɨ ÞÖÆɟ¤ɰl 

32- Explain the conditions of producerôs equilibrium with the help of a diagram. 

}ĕÒɟÏ¾ ÞɰÍȓÙÑ ¾ɥ ÜÍʝ ¾ɨ κÃŝ ʬÛɟØɟ ģ×ɟć×ɟ ¾Øʃ     4 

33- Explain the behavior of TP and MP with the help of schedule and diagram when a 
variable factor is combined with fixed factor.                                                              
6 

}Þ ÏÜɟ Öɭ TP ¤Ûɰ MP ¾ɭ ģ×ÛßɟØ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ×ɭ ÅÔ ¤¾ ÒȎØÛÍxÑɠ× ÞɟÐÑ ȒĦÎØ ÞɟÐÑ ¾ɭ 
ÞɟÎ  ÞĞÔʬÐ ßɨl            

34- Given the price of a good, how will a consumer decide as to how much quantity of 

that good to buy?  Use utility analysis.Ïɡ ßȓ| ¾ɥÖÍ ÒØ ¤¾ }ÒÕɨĆÍɟ ¤¾ ÛĦÍȓ ¾ɥ η¾ÍÑɠ 
Öɟŝɟ ¿ØɡÏɭÀɟ, }Ò×ɨκÀÍɟ θÛĤÙɭÝÌ ʬÛɟØɟ ÞÖÆɟ{×ɭ |  OR What do you understand by 

consumerôs equilibrium? Show consumerôs equilibrium with the help of indifference curve 

analysis. }ÒÕɨĆÍɟ ÞɰÍȓÙÑ Ć×ɟ ßɮ? }ÒÕɨĆÍɟ ÞɰÍȓÙÑ ¾ɨ yÑɟκÐÖɟÑ ÛŎ¾ɥ Þßɟ×Íɟ Þɭ 
ȏÏ¿ɟ|×ɭ l                             6 
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SET 8 

PART (A) STATISTICS FOR ECONOMICS 

1. yŢĕ×à Öɩζ¿¾ ÅɟɯÃ θÛκÐ ŐĦÍ ßɮ:     1 

(¾) ÒȕÛɟxŐß                     

(¿)ÞɰÏɭßÒȕÌx ȑÑĥ¾Ýx 

(À) yÜȓʬÐÍɟ 
(Á) }ÒØɨĆÍ ÞÕɠ | 

       Indirect oral investigation method suffers from:- 

(a) Biased 

(b) Inaccuracy 

(c) Doubtful conclusion  

(d) All the above 

2. {Þ ÒʬÐȑÍ Öʃ ÑÖȕÑɟ Ã×Ñ yęÛɭÝ¾ ¾ɥ ÒÞɰÏ ÒØ ȑÑÕxØ ¾ØÍɟ ßɮ |                  1 

(¾) ¾ɨÈɟ ŢȑÍÏÜx 

(¿)ÞÖȕß ŢȑÍÏÜx 

(À) ÞθÛÃɟØ ŢȑÍÏÜx 

(Á) }ÒØɨĆÍ Öʃ Þɭ ¾ɨ| Ñßɡɰ 

       In this method sample selection depends on the choice of the Investigator:-  

(a) Quota sampling   (c) Cluster sampling  

(b) Purposive sampling  (d) None of these 

Q3.  ÞÖ×ɟÑȓÞɟØ ÛÀɶ¾ØÌ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤|      1 

   yÎÛɟ    ÛÀɶ¾ØÌ ¾ɟ ¤¾ ÙɟÕ ÔÍɟ¨ɰ |    

               1 

Define Chronological Classification.    OR 

 State a benefit of classification. 

Q4.  _______________ ¾ɥ ÀÌÑɟ Öʃ ÞÕɠ ÖÏʇ ¾ɨ ÞÖɟÑ ÖßĕÛ ȏÏ×ɟ ÅɟÍɟ ßɮ|  1 

(¾) ÞØÙ ÞÖɟęÍØ θÛκÐ 

(¿)ÕɟȎØÍ ÞÖɟęÍØ θÛκÐ 
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(À) ÖĘ×¾ɟ 

(Á) ÔßȓÙ¾ 

In calculation of ____________, all items are given equal importance. 

(a) Simple arithmetic mean  

(b) Weighted arithmetic mean 

(c) Median 

(d) Mode 

Q5.ȑÑĞÑεÙζ¿Í¾ÎÑʇ¾ɨÒïʃ - yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ 

(R)]ÑɠÃɭȏÏ¤À¤ÞßɡθÛ¾ġÒʇÖʃÞɭ¤¾ÃȓÑʃ: yεÕ¾ÎÑ (A): 

yɰ¾ÀζÌÍÖɟĘ×yĕ×κÐ¾Öȕġ×ʇÞɭŢÕɟθÛÍßɨÍɟßɮ] 
¾ɟØÌ (R): yɰ¾ÀζÌÍÖɟĘ×¾ɥÀÌÑɟ¾ØÑɟÔßȓÍzÞɟÑßɮ©Ø×ß¤¾ȒĦÎØ}Òɟ×ßɮ] 
θÛ¾ġÒ:                                                                            

(¾)yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) ¾ɟÞßɡθÛÛØÌßɮ 

(¿)yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) 

¾ɟÞßɡĦÒĥÈɡ¾ØÌÑßɡɰßɮ]                                                                                                   1 

(À)¾ÎÑ (A) Þĕ×ßɮÙɭη¾Ñ¾ɟØÌ (R) ÀÙÍßɮ] 

Á]¾ÎÑ (A) ÀÙÍßɮÙɭη¾Ñ¾ɟØÌ (R) Þĕ×ßɮ] 

Read the following statements - Assertion (A) and Reason (R). Choose one of the  

correct alternatives given below:  

Assertion (A): Arithmetic mean is affected by extreme values. 

Reason (R): It is very easy to calculate arithmetic mean and it is a stable measure. 

Alternatives:  

a. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A)  

b. Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation 

of Assertion (A)  

c. Assertion (A) is true but Reason (R) is false.  

d. Assertion (A) is false but Reason (R) is true.  

 Q6. ÞÖ θÛÍØÌ Øɭ¿ɟ }ʬÀÖ ¾ʃş Þɭ _________ ¾ɨÌ ÔÑɟÍɠ ßɮ|                   1 

Line of equal distribution makes an angle of ________ at the origin. 

Q7. ÙɟØɭęÅ ÛŎ yÒη¾ØÌ ¾ɨ ÖɟÒÑɭ ¾ɥ Őɟη÷¾ θÛκÐ ßɮ      (Þßɡ/ÀÙÍ)                 1 

 Lorenz curve is graphic method to calculate dispersion. (True/ False) 

Q8.   ÞØÙ Þß-ÞɰÔɰÐ ÀȓÌɟɰ¾ ¾ɥ ÞɠÖɟ ßɮ-         1 
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(¾) Üȕę× Þɭ yÑęÍ Í¾ 
(¿)Üȕę× Þɭ  ÌɟĕÖ¾ ¤¾ Í¾ 
(À)  ÌɟĕÖ¾ ¤¾ Þɭ ÐÑɟĕÖ¾ ¤¾ Í¾ 
(Á) ÐÑɟĕÖ¾ ¤¾ Þɭ yÑęÍ Í¾ 

The range of coefficient of correlation is:- 

(a) Zero to infinity 

(b) Zero to minus one  

(c) Minus one to plus one 

(d) Plus one to infinity 

Q9. ×ȏÏ 25% ÖÏʃ 20 Þɭ ¾Ö ßɮ ÍÎɟ 25% ÖÏʃ 40 Þɭ yκÐ¾ ßɮ Íɨ ÃÍȓÎx¾ θÛÃÙÑ ßɨÀɟ ï 

(¾) ȻÒ×ɭ 20 

(¿)ȻÒ×ɭ 30 

(À)ȻÒ×ɭ 40 

(Á)ȻÒ×ɭ 10              1 

If 25% of items are less than 20 and 25% are more than 40, then the quartile deviation 

is: 

(a) 20     

(b) 30 

(c) 40 

(d) 10 

Q10. ȑÑĞÑεÙζ¿Í¾ÎÑʇ¾ɨÒïʃ - yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ 

(R)]ÑɠÃɭȏÏ¤À¤ÞßɡθÛ¾ġÒʇÖʃÞɭ¤¾ÃȓÑʃ:1 

yεÕ¾ÎÑ (¤): ÞɟÖɟę×ÍɩØÒØ, Îɨ¾Öȕġ×ÞȕÃ¾ɟɰ¾¾ɟ}Ò×ɨÀ¾Ø¾ɭÖȓşɟĦÓɥȑÍ¾ɥÀÌÑɟ¾ɥÅɟÍɠßɮ] 
¾ɟØÌ (R): ÒɭŘɨεÙ×Ö}ĕÒɟÏʇ¾ɭÖȕġ×ÖʃÛȗʬκÐ¾ɭ¾ɟØÌÖȓşɟĦÓɥȑÍ¾ɥÏØÖʃÍɭÅɠÑßɡɰzÍɠßɮ] 
θÛ¾ġÒ: 

¾-yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) ¾ɟÞßɡθÛÛØÌßɮ 

¿- yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) 

¾ɟÞßɡĦÒĥÈɡ¾ØÌÑßɡɰßɮ] 

À-¾ÎÑ (A) Þĕ×ßɮÙɭη¾Ñ¾ɟØÌ (R) ÀÙÍßɮ] 
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Á-¾ÎÑ (A) ÀÙÍßɮÙɭη¾Ñ¾ɟØÌ (R) Þĕ×ßɮ] 

Read the following statements - Assertion (A) and Reason (R). Choose one of the  

correct alternatives given below:  

Assertion (A): In general, inflation is calculated by using Wholesale price index. 

Reason (R): The inflation rate does not accelerate due to the rise in the price of petroleum 

products. 

Alternatives:  

a. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A)  

b. Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation 

of Assertion (A)  

c. Assertion (A) is true but Reason (R) is false.  

d. Assertion (A) is false but Reason (R) is true.  

11.  ÞØ¾ɟØ ©Ø ÑɠȑÍ ȑÑÖɟxÍɟ zκÎx¾ θÛ¾ɟÞ ¾ɭ εÙ¤ }Ò×ȓĆÍ ÑɠȑÍ×ʇ ¾ɨ Íɮ×ɟØ ¾ØÑɭ ¾ɭ εÙ¤ 
Þɟɰζ¿¾ɥ× zɰ¾îɨ ¾ɟ }Ò×ɨÀ ¾ØÍɭ ßɮ|Ïɨ }ÏɟßØÌ Þɭ ŢȑÍÒȓȒĥÈ ¾ɥȒÅ¤|                   3 

The government and policy makers use statistical data to formulate suitable policies of 

economic developmentò. Illustrate with two examples.  

12. ŢɟÎεÖ¾ zɰ¾îʇ ÍÎɟ ʬθÛÍɠ×¾ zɰ¾îʇ ¾ɭ ÖĘ× yɰÍØ ĦÒĥÈ ¾ɥȒÅ¤|                     3 

        yÎÛɟ 

ʬθÛÍɠ×¾ zɰ¾îʇ ¾ɭ Ţ×ɨÀ ¾ØÍɭ ÞÖ× ¾ɩÑ-¾ɩÑ Þɠ ÞɟÛÐɟȑÑ×ʇ ¾ɟ Ę×ɟÑ Ø¿Ñɟ zÛĤ×¾ ßɮ|     3 

Distinguish between Primary data and Secondary data. 

    OR  

 What precautions are to be kept in mind while using secondary data? 

13. ȑÑĞÑεÙζ¿Í ÞȕÃÑɟ ¾ɨ ÛȗÍɠ× zØɭ¿ ʬÛɟØɟ ȏÏ¿ɟ{¤:     4 

¤¾ ÁØ ¾ɭ ȑÑÖɟxÌ ÒØ ÛĦÍȓ ģ×× ÐÑØɟεÜ 

ŬÖ 10,000 

|È 3000 

ÞɠÖʃÈ 5000 

ÞɰÀÖØÖØ 2000 

   yÎÛɟ 
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ȑÑĞÑεÙζ¿Í zɰ¾îɨ ¾ɥ Þßɟ×Íɟ Þɭ zÛÍɶ ÔßȓÕÅ ÔÑɟ¨ |                                    4 

yɰ¾ (Þɭ ¾Ö) 5 10 15 20 25 

Äɟŝʇ ¾ɥ Þɰć×ɟ 3 13 33 73 83 

Represent the following information in Pie diagram. 

Item of 

expenditure 

Labour Bricks cement Marble  

Amount       

(in Rs.) 

1000 3000 5000 2000 

     

      OR 

Construct frequency polygon for the following data (use histogram) 

Marks (less 

than) 

5 10 15 20 25 

No. of students 3 13 33 73 83 

 

Q14. ȑÑĞÑεÙζ¿Í z¾îʇ Þɭ ÖɟȒĘ×¾ɟ áɟÍ ¾ɥȒÅ¤:                               4 

ÛÀɟxęÍØ 0-10 10-20 20-30 30-40 40-50 

zÛȗθǡ 5 15 25 8 3 

  

Calculate median from the following set data: 

Class 

interval  

0-10 10-20 20-30 30-40 40-50 

Frequency 5 15 25 8 3 

Q15. ¤¾ ¾ɟģ× ÒɟÉ ŢȑÍ×ɨκÀÍɟ Öʃ Ïɨ ȑÑÌɟx×¾ʇ Ñɭ 5 ŢθÛȒĥÈ×ʇ (ŢȑÍÕɟκÀ×ʇ) ¾ɨ ȑÑĞÑ Ţ¾ɟØ Þɭ 
yɰ¾ ŢÏɟÑ η¾×ɭ ßɮ| ŬɭÌɠ yɰÍØ Þß-ÞĞÔęÐ ÀȓÌɟɰ¾ áɟÍ ¾ɥȒÅ¤|    4 

ȑÑÌɟx×¾ X 90 20 36 78 45 

ȑÑÌɟx×¾ Y 20 70 55 46 52 
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In a poetry recitation competition, 5 participants were accorded were following marks 

by two judges X and Y. Calculate co-efficient of correlation by rank difference 

method. 

X Judge  90 20 36 78 45 

Y Judge  20 70 55 46 52 

Q16. ȑÑĞÑεÙζ¿Í z¾îʇ ¾ɥ Þßɟ×Íɟ Þɭ ÖɟĘ× θÛÃÙÑ ÀȓÌɟɰ¾ áɟÍ ¾ɥȒÅ¤|      6 

yɰ¾ 0-5 5-10 10-15 15-20 20-25 

θÛʬ×ɟκÎx×ʇ ¾ɥ 
Þɰć×ɟ 

4 7 8 5 6 

yÎÛɟ 

ȑÑĞÑ zɰ¾îʇ ¾ɭ zÐɟØ ÒØ ÖɟÑ¾ θÛÃÙÑ ÍÎɟ ÖɟÑ¾ θÛÃÙÑ ÀȓÌɟɰ¾ áɟÍ ¾ɥȒÅ¤|  6 

yɰ¾ 0-4 4-8 8-12 12-16 

θÛʬ×ɟκÎx×ʇ ¾ɥ 
Þɰć×ɟ 

4 8 2 1 

Calculate mean deviation and itôs co-efficient from the following data using median. 

Marks  0-5 5-10 10-15 15-20 20-25 

No of 

students 

4 7 8 5 6 

OR 

Find out standard deviation and its coefficient by step deviation method from the 

following data. 

Marks  0-4 4-8 8-12 12-16 

No of 

Students  

4 8 2 1 

17. )añ(ÞȕÃ¾ɟɰ¾ zκÎx¾ ÔɮØɨÖɠÈØ ßɮ  | òÞÖÆɟ¨ ÞɟÎ ¾ɭ ȐÔɰÏȓ̈ɰ }κÃÍ ¾ɨ ¾ÎÑ À¤ ȏÏ¤ |  

)b(  η¾Ñ ÞÖ× ¾ØÍɭ ÃȓÑɟÛ ¾ɟ ÛÝx zÐɟØ εÙ¤ ¾ɭ ¾ØÑɭ Íɮ×ɟØ ¾ɨ ÞȕÃ¾ɟɰ¾- ¾ɨ ÔɟÍʇ η¾Ñ
Ãɟȏß¤ Ø¿Ñɟ Ö Ę×ɟÑ |                                   

4,2 (6) 

(a) ñIndex numbers are economic barometersò. Explain the given statement with 

appropriate points. 

     (b)What precaution should be taken, while selection of base year. 

 



 

Page 67 of 100 
 

PART (B) MICRO ECONOMICS 

18. yÛÞØ ÙɟÀÍ ¾ɟ ¤¾ }ÏßɟØÌ ÏɡȒÅ¤ | 1  

Give an example of opportunity cost. 

19. ȑÑĞÑεÙζ¿Í¾ÎÑʇ¾ɨÒȏï¤ - yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ 

(R)]ÑɠÃɭȏÏ¤À¤ÞßɡθÛ¾ġÒʇÖʃÞɭ¤¾ÃȓÑʃ: 
yεÕ¾ÎÑ (¤): ¾ɟιÊxÑÙȸȒĥÈ¾ɨÌ¾ɭyÑȓÞɟØ, Øʅ¾¾ɭÞɰÏÕxÖʃ}Ò×ɨκÀÍɟ¾ɨÖɟÒɟÅɟÍɟßɮ]            

1 

¾ɟØÌ (R): 

zÐȓȑÑ¾yÎxÜɟȒĦŝ×ʇÑɭÍ¾xȏÏ×ɟη¾}Ò×ɨκÀÍɟ¤¾ÖÑɨÛɮáɟȑÑ¾ÁÈÑɟßɮ©ØȑÑØÒɭàȼÒÞɭ}Ò
×ɨκÀÍɟ¾ɨÖɟÒÑɟÞɰÕÛÑßɡɰßɮ] 

θÛ¾ġÒ: 

¾-yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) ¾ɟÞßɡθÛÛØÌßɮ 

¿-yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) 

¾ɟÞßɡĦÒĥÈɡ¾ØÌÑßɡɰßɮ] 

À-¾ÎÑ (A) Þĕ×ßɮÙɭη¾Ñ¾ɟØÌ (R) ÀÙÍßɮ] 

Á-¾ÎÑ (A) ÀÙÍßɮÙɭη¾Ñ¾ɟØÌ (R) Þĕ×ßɮ] 

Read the following statements - Assertion (A) and Reason (R). Choose one of the 

correct alternatives given below:  

Assertion (A): According to cardinal approach, utility is a measured in terms 

of ranks. 

Reason (R): The modern economists argued that utility is a psychological 

phenomenon and measuring utility in absolute terms is not possible. 

Alternatives:  

a. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A)  

b. Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation 

of Assertion (A)  

c. Assertion (A) is true but Reason (R) is false.  

d. Assertion (A) is false but Reason (R) is true. 

 

20. ÔÅÈ Øɭ¿ɟ ¾ɟ ÞÖɠ¾ØÌ εÙζ¿¤|               

1 

yÎÛI  
ÞɠÖɟęÍ }Ò×ɨκÀÍɟ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤ |             1 

Give the equation of budget line.  

  OR 

Define marginal utility. 
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21. yÑκÐÖɟÑ ÛŎ ¾ɭ }ǡÙ ßɨÑɭ ¾ɟ ¾ɟØÌ ÞÖ ÞɠÖɟęÍ }Ò×ɨκÀÍɟ ȑÑ×Ö ßɮ )|Þßɡ /ÀÙÍ(        1 

The reason behind the convex shape of Indifference is the law of Equi-Marginal utility. 

              

(True/false) 

22. ¤¾ }ĕÒɟÏ¾ ģ×ÛÞɟ× ÃÙɟÑɭ ¾ɭ εÙ¤  Ì ÙɭÍɟ ßɮ Ùɭη¾Ñ ģ×ÛÞɟ× ¾ɟ ŢÔɰÐÑ ĦÛ×ɰ ¾ØÍɟ 
ßɮ  |¾ɥȒÅ¤ ÒßÃɟÑ ¾ɨ ÙɟÀÍ yɰÍȑÑxȏßÍ|       1 

A producer borrows money to run a business but manages himself. Identify implicit 

cost. 

 

23. ¤¾ ÓÖx ¤¾ ÛĦÍȓ ¾ɥ yκÐ¾ Öɟŝɟ ¾ɭÛÙ ¾ɥÖÍ ¾Ö ¾Ø¾ɭ ßɡ ÔɭÃ Þ¾Íɟ ßɮ  | ÞɠÖɟęÍ }Þ¾ɥ
ÞɰŢɟȒĚÍ )zÀÖ( ___________________ )ÃȓȑÑ¤ θÛ¾ġÒ Þßɡ(            1  

(¾) ©ÞÍ ÞɰŢɟȒĚÍ )zÀÖ (ßɨÀɠ yκÐ¾ Þɭ |  

(¿)©ÞÍ ÞɰŢɟȒĚÍ )zÀÖ (ßɨÀɠ ¾Ö Þɭ |  

(À) ©ÞÍ ÞɰŢɟȒĚÍ )zÀÖ (ßɨÀɠ ÞÖɟÑ Þɭ |  

(Á) Üȕę× ßɨÀɠ | 

A firm is able to sell more quantity of a good only by lowering the price. The 

firmôs marginal revenue, as he goes on selling, would be: 

(a) Greater than average revenue  

(b) Less than average revenue  

(c) Equal to average revenue  

(d) Zero 

24. ¤¾ ÓÖx ¾ɥ ÞɠÖɟęÍ zÀÖ {Þ ÔɟÅɟØ Öʃ ȑÑØɰÍØ ȒĦÎØ ØßÍɠ ßɮ ) :ÃȓȑÑ¤ θÛ¾ġÒ Þßɡ(       1 

(¾) ÒȕÌx ŢȑÍ×ɨκÀÍɟ  

(¿)¤¾ɟκÐ¾ɟȎØ¾ ŢȑÍ×ɨκÀÍɟ  

(À) yġÒɟκÐ¾ɟØ  

(Á) }ÒØɨĆÍ Öʃ Þɭ ¾ɨ| Ñßɡɰ | 

Marginal revenue of a firm is constant throughout under: (Choose the correct 

alternative) 

(a) Perfect competition  

(b) Monopolistic competition  

(c) Oligopoly 

)d(All the above 
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25 .×ȏÏ 5 ÙɟÀÍ ¾ȓÙ ¾ɥ {¾ɟ{×ʇ 30 ßɮ ȻÒ×ɭ |ÙɟÀÍ ȒĦÎØ ¾ȓÙ ©Ø 5 Íɨ ßɮ ȼÒ×ɭ 5 

ßɨÀɠ ÙɟÀÍ ÒȎØÛÍxÑÜɠÙ ©ÞÍ ¾ɥ }ĕÒɟÏÑ ¾ɭ {¾ɟ| Ûɠɰ|                 1 

(¾) 25 

(¿)  6 

(À)  5 

(Á)  1 

The total cost at 5 units of output is Rs. 30. The fixed cost is Rs. 5. The average 

variable cost at 5 units of output is 

(a) Rs. 25 

(b) Rs. 6 

(c) Rs. 5 

(d) Rs. 1 

26.ȑÑĞÑεÙζ¿Í¾ÎÑʇ¾ɨÒïʃ - yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ 

(R)]ÑɠÃɭȏÏ¤À¤ÞßɡθÛ¾ġÒʇÖʃÞɭ¤¾ÃȓÑʃ: 1 

               

yεÕ¾ÎÑ (A): ¤¾yġÒɟκÐ¾ɟØ ÔɟÅɟØÖʃ¾ȓÄÔîɭ θÛŎɭÍɟÒɟ|ÅɟÍɠßʅ] 

¾ɟØÌ (R): ÞØ¾ɟØŢȑÍÔɰÐÙÀɟÍɠßɮ, Íɟη¾ßØθÛŎɭÍɟ¾ɨÔɟÅɟØÖʃŢÛɭÜ¾ØÑɭ¾ɟÖɩ¾ɟÑεÖÙɭ] 

θÛ¾ġÒ: 

¾-yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) ¾ɟÞßɡθÛÛØÌßɮ 

¿-yεÕ¾ÎÑ (A) ©Ø¾ɟØÌ (R) ÏɨÑʇÞĕ×ßʅ©Ø¾ɟØÌ (R) yεÕ¾ÎÑ (A) 

¾ɟÞßɡĦÒĥÈɡ¾ØÌÑßɡɰßɮ] 

À-¾ÎÑ (A) Þĕ×ßɮÙɭη¾Ñ¾ɟØÌ (R) ÀÙÍßɮ] 

Á-¾ÎÑ (A) ÀÙÍßɮÙɭη¾Ñ¾ɟØÌ (R) Þĕ×ßɮ] 

Read the following statements - Assertion (A) and Reason (R). Choose one of the  

correct alternatives given below:  

Assertion (A): In an oligopoly market a few big sellers are found. 

Reason (R): The government imposes restrictions, so that every seller does not 

get a chance to enter the market. 

Alternatives:  

a. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A)  

b. Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation 

of Assertion (A)  

c. Assertion (A) is true but Reason (R) is false.  

d. Assertion (A) is false but Reason (R) is true. 
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27. ÒȕÌx ŢȑÍ×ɨκÀÍɟ Öʃ ¤¾ ÓÖx yÒÑɭ }ĕÒɟÏ ¾ɥ θÛεÕęÑ ¾ɥÖÍ Ć×ʇ Ñßɡɰ ÛÞȕÙ Þ¾Íɠ ßɮ|  1
 Why a firm under perfect competition canôt charge a different price. 

28. y¿ÔɟØ ¾ɥ ȑÑĞÑεÙζ¿Í ãÔØʇ Öʃ Þɭ Þ¾ɟØɟĕÖ¾ yÎxÜɟĦŝ ×ɟ  zÏÜɟxĕÖ¾ yÎxÜɟĦŝ 

θÛĤÙɭÝÌ ¾ÎÑʇ ¾ɨ ÒßÃɟȑÑ¤ ÍÎɟ θÛÛɭÃÑɟ ¾Øʃ:-                    3 

(1) ñÕɟØÍ θÛĤÛ Ôʅ¾ ¾ɭ ģ×ɟÒɟØ ÞȕÃ¾ɟɰ¾ ¾ɭ 23 Òɟ×ÏɟÑ ¾ɥ ÄÙɟɰÀ ÙÀɟ¾Ø 77  ÒØ ĦÎɟÑ Ûʃ
ÒßȓɯÃɟ,ßɮ ÄÙɟɰÀ ÙĞÔɠ ÞÔÞɭ Öʃ ÏɨÛÝʝ ×ß|ò    -The Economic Times 

(2) ÞØ¾ɟØ ¾ɨ ģ×ɟÒɟØ ȑÑ×Öʇ ¾ɟ }ÏɟØɡ¾ØÌ zÀɭ Õɠ ÅɟØɡ Ø¿Ñɟ Ãɟȏß¤| 

- The Economic Times 

Identify and discuss the nature of following newspaper reports in terms of positive 

or normative economics analysis: 

(a) ñIndia jumped 23 points in the world bankôs ease of doing business index to 

77th place, highest in 2 years.ò  

----- The Economic Times 

(b) ñGovernment should further liberalise the business rulesò  

----- The Economic Times 

29.  zκÐ¾ÍÖ ¾ɥÖÍ ȑÑÐɟxØÌ ¾ɟ yÎx ©Ø {Þ¾ɭ ÒȎØÌɟÖ ÞÖÆɟ{¤|                      3 

 yÎÛɟ 

 ¤¾ ÛĦÍȓ ¾ɥ ÖɟɯÀ Öʃ óÛȗʬκÐô ¾ɭ ¾ɟØÌ ßɨÑɭ ÛɟÙɭ ŢÕɟÛʇ ¾ɥ Ŭɰ¿Ùɟ ÞÖÆɟ{¤|      3 

Explain the meaning of ñprice ceilingò and its implication. 

    OR 

Explain the chain effect of ñincrease in demandòof a good. 

30. ¤¾ ÛĦÍȓ ¾ɥ ÖɟɯÀ ÒØ }ÒÕɨĆÍɟ ¾ɥ z× ÔïÑɭ ¾ɭ ŢÕɟÛ ÞÖÆɟ{¤ |         4 

Explain the effect of change in income of a consumer on demand of a good. 

31. ȑÑĞÑεÙζ¿Í ÍɟεÙ¾ɟ ¾ɨ ÒȕÌx ¾ɥȒÅ¤ |        4 

}ĕÒɟÏÑ 

({¾ɟ{×ʇ Öʃ) 
¾ȓÙ ÙɟÀÍ 

 

©ÞÍ ÙɟÀÍ 

 

ÞɠÖɟɰÍ ÙɟÀÍ  

1 70   



 

Page 71 of 100 
 

2 100   

3   5 

4   10 

31. Complete the following table       

Output  

(Units) 

TC 

 

AC 

 

MC 

1 70   

2 100   

3   5 

4   10 

32. ȑÑĞÑεÙζ¿Í ¾ɭ ÒȎØÌɟÖ ÞÖÆɟ{¤:             4 

(¾) ¤¾ɟκÐ¾ɟȎØ¾ ŢȑÍ×ɨκÀÍɟ ¾ɭ }ĕÒɟÏ θÛÕɭÏ 

(¿)ÒȕÌx ŢȑÍ×ɨκÀÍɟ Öʃ ÒȕÌx áɟÑ 
yÎÛɟ 

ȑÑĞÑεÙζ¿Í ¾ɭ ÒȎØÌɟÖ ÞÖÆɟ{¤: 

(¾) yġÒɟκÐ¾ɟØ Öʃ ηÓÖʝ ¾ɭ ÔɠÃ ÒØĦÒØ ȑÑÕxØÍɟ 

(¿)ÒȕÌx ŢȑÍ×ɨκÀÍɟ Öʃ θÛŎɭÍɟ¨ɰ ¾ɥ Ôîɠ Þɰć×ɟ 

 32. Explain the implication of the following:- 

(A) Product differentiation in Monopolistic competition 

(B)Perfect knowledge in perfect competition. 

OR 

Explain the implication of the following:- 

(A)Interdependence between firms in oligopoly 

(B)Large number of sellers in perfect competition. 

 

33. ¥Þɟ }ĕÒɟÏÑ ÓÙÑ η¾Þ Ţ¾ɟØ ¾ɟ ßɮ ȒÅÞÖʃ ¾ɭÛÙ ¤¾ zÀÍ ¾ɥ ÛȗʬκÐ ¾ɥ ÅɟÍɠ ßɮ ÅÔη¾ 
yę× zÀÍʇ ¾ɨ ȒĦÎØ Ø¿ɟ ÅɟÍɟ ßɮ| ¥Þɭ }ĕÒɟÏÑ ÓÙÑ Öʃ ¾ȓÙ }ĕÒɟÏ ÍÎɟ ÞɠÖɟęÍ }ĕÒɟÏ ¾ɭ 
ģ×ÛßɟØ ¾ɨ ĦÒĥÈ ¾ɥȒÅ¤| Øɭ¿ɟκÃŝ ¾ɟ }Ò×ɨÀ ¾ɥȒÅ¤|                          6 

FOR BLIND CANDIDATE  

ÒȎØÛÍxÜɠÙ yÑȓÒɟÍ ¾ɭ ȑÑ×Ö ¾ɥ ÍɟεÙ¾ɟ ÞȏßÍ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤ |           6 



 

Page 72 of 100 
 

What type of production function is this in which only one input in increased and other 

kept constant? State the behavior of total product and marginal product in this 

production function. Use diagram. 

FOR BLIND CANDIDATE  

Explain the law of variable proportions with the help of table. 

34. yÑɟκÐÖɟÑ ÛŎ θÛÃɟØÐɟØɟ ¾ɟ }Ò×ɨÀ ¾Ø¾ɭ }ÒÕɨĆÍɟ ÞɰÍȓÙÑ ¾ɥ ÜÍʍ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤| (6)

    yÎÛɟ 

¤¾ }ÒÕɨĆÍɟ ¾ɭÛÙ Ïɨ ÛĦÍȓ̈ɰ A ÍÎɟ B ¾ɟ }ÒÕɨÀ ¾ØÍɟ ßɮ ÍÎɟ ÞɟĞ×ɟÛĦÎɟ Öʃ ßɮ| ×ȏÏ 
ÛĦÍȓ ¾ɥ ¾ɥÖÍ ÔËÍɠ ßɮ,Íɨ }Ò×ɨκÀÍɟ θÛĤÙɭÝÌ ¾ɭ yɰÍÀxÍ }ÒÕɨĆÍɟ ¾ɥ ÞɰÕɟθÛÍ 

ŢȑÍηŎ×ɟ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤|        

           (6) 

Explain the conditions of consumerôs equilibrium using Indifference curve analysis.  

   OR 

A consumer consumes only two goods A and B is in equilibrium. It the price of good 

B rises. Explain the likely reaction of the consumer under the utility analysis. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Page 73 of 100 
 

SET 9 

Q.N.                                                PART A MAR

KS 

Q.1 . The sum of deviations of items from arithmetic mean is always equal 

to-------- 

   ÞÖɟɰÍØ ÖɟĘ× Þɭ ȑÑ¾ɟÙɭ À×ɭ ÛĦÍȓ̈ɰ ¾ɭ θÛÃÙÑ ¾ɟ ×ɨÀ ÔØɟÔØ ßɨÍɟ ßɮ ------- 

 

Q.2 .Which of the following diagram is the most effective in representing 

monthly rainfall in a year? 

a. Pie diagram                                                    b. Multiple bar diagram  

c. Sub divided bar diagram                             d. Simple bar diagram 

ÖɟεÞ¾ ÛÝɟx ¾ɨ ÏÜɟxÑɭ ¾ɭ εÙ¤  ȑÑĞÑ Öʃ ÞÔÞɭ ŢÕɟθÛÍ zØɭ¿ ¾ɩÑ Þɟ ßɮ 
¤ Òɟ| zØɭ¿                       Ô Ôßȕ ÏɰÊ κÃŝ 
Þ }Ò θÛÕɟÅÑ ÔɟØ zØɭ¿            Ê ÞØÙ ÔɟØ zØɭ¿ 

 

Q.3 

 

 

.-----------is calculated on the basis of the mean only 

     a. Range                                                        b. quartile deviation 

     c. Mean deviation                                       d. Standard deviation 

{ÑÖɭ Þɭ η¾Þ¾ɥ ¾ɭÛÙ ÞÖɟɰÍØ ÖɟĘ× ¾ɭ zÐɟØ ÒØ ÀÌÑɟ ¾ɥ ÅɟÍɠ ßɮ  
(¤) ØʃÅ                           (Ô) ÃÍȓÎx¾ θÛÃÙÑ 

(Þ )ÖɟĘ× θÛÃÙÑ                  (Ê )ÖɟÑ¾ θÛÃÙÑ 

 

 

Q.4.  

 

Which measure of dispersion is based on all the observations 

    a. Mean deviation                                        b. Standard deviation 

   c. Quartile deviation                                     d. both a and b 

 ÒȎØÞàɭÒÑ ¾ɥ ¾ɩÑÞɠ ÖɟÒ ÞÕɠ yÛÙɨ¾Ñ ÒØ zÐɟȎØÍ ßɨÍɠ ßɮ 
(¤) ØʃÅ                      (Ô) ÖɟÑ¾ θÛÃÙÑ 

(Þ) ÃÎȓÍx¾ θÛÃÙÑ           (Þ) ¤ ©Ø Ô ÏɨÑʇ 

 

 

Q.5 . For calculation of --------------we have to construct cumulative 

frequency distribution. 

    a. Mean                                                           b. Mode 

    c. Median                                                        None of these 

ȑÑĞÑ Öʃ Þɭ η¾Þ¾ɥ ÀÌÑɟ ¾ØÑɭ ¾ɭ εÙ¤ ÞɰÃ×ɠ zÛÍɶ θÛÍØÌ ¾ɟ ȑÑÖɟxÌ 

¾ØÑɟ ÒîɭÀɟ  

 ¤ ÞÖɟɰÍØ ÖɟĘ×                 Ô ÔßȓÙ¾ 

 Þ ÖÐɠ×¾ɟ                     Ê {ÑÖɭ Þɭ ¾ɨ| Ñßɡɰ 

 

Q.6 What is the coefficient of range for the following wages of 8 workers? 

          80,65,90,60,75,70,72,85 

       a.35                                           b. 25 

       c.30                                           d. 20 

ȑÑĞÑ 08 
 ßɨÀɟ Ć×ɟ ÀȓÌɟ¾ ØʃÅ ¾ɟ ÛɭÍÑ ¾ɭ ÖÅÏȕØʇ  

   ¤ 35  25 Ô  
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   Þ 30  20                      Ê  

Q.7 --------- is the most commonly used measure of central tendency. 

       a. Arithmetic mean                      b. Median 

       b. Quartile                                       d. Mode  

ÞÔÞɭ yκÐ¾ Ţ×ɨÀ ¾ɥ ÅɟÑɭ ÛɟÙɡ ¾ʃşɡ× ŢÛÍɶ ßɮ  
   ¤ ÞÖɟɰÍØ ÖɟĘ×           Ô ÖÐɠ×¾ɟ  

   Þ ÃÍȓÎx¾                Ê ÔßȓÙ¾ 

 

Q.8 . The raw data can be grouped according to time .Such a classification 

is known as-------- 

     a. Chronological classification          b. Spatial classification 

     c. Qualitative classification                d. Quantitative classification 

  ¾ċÃɭ ÍĖ×ɭ ¾ɨ ÞÖ× ¾ɭ yÑȓÞɟØ ÛÀɶƖÍ η¾×ɟ Åɟ Þ¾Íɟ ßɮ]{Þ ÛκÀx¾ØÌ ¾ɨ 
¾ßɟ ÅɟÍɟ ßɮ 
  ¤ ¾ɟÙɟÑȓŎεÖ¾ ÛκÀx¾ØÌ        Ô ĦÎɟȑÑ¾ ÛκÀx¾ØÌ 

  Þ ÀȓÌɟĕÖ¾  ÛκÀx¾ØÌ          Ê ÖɟŝɟĕÖ¾ ÛκÀx¾ØÌ 

 

Q.9 .Pre-testing of the questionnaire is known as--------- 

    ŢĤÑɟÛÙɡ ¾ɭ ÒȕÛx ÒØɡàÌ ¾ɨ ¾ßɟ ÅɟÍɟ ßɮ-------- 
 

Q.10 . -------- is called positional  average. 

       a. Mode                                            b. Mean 

       c. Median                                         d. None of these 

-----------ßɮ ¾ØÍɟ θÛÕɟȒÅÍ Öʃ ÕɟÀɨ Ïɨ ¾ɨ Þɰć×ɟ ¾ȓÙ ¾ɥ yÛÙɨ¾Ñ  

    ¤ ÔßȓÙ¾                   Ô ÞÖɟɰÍØ ÖɟĘ× 

    Þ  ÖȒĘ×¾ɟ                 Ê {ÑÖɭ Þɭ ¾ɨ| Ñßɡɰ 

 

Q.11 . The following table shows marks in English secured by students of 

class X in your school in their Examination. Calculate Mean marks 

using Direct Method.   

ȑÑÑεÙζ¿ÍÍɟεÙ¾ɟÖʃ¾àɟx 

¾ɭθÛʬ×ɟκÎx×ʇʬÛɟØɟzÒ¾ɭθÛʬ×ɟÙ×ÖʃyɰŐɭÅɠ¾ɭÒÃɴÖʃŢɟĚÍyɰ¾Ţ¾Èη¾¤À¤ßʅ|Ţ
ĕ×àθÛκÐʬÛɟØɟÞÖɟɰÍØÖɟĘ×áɟÍ¾ɥȒÅ¤| 

   

MARKS  0-10 10-20 20-30 30-40 40-50 

NO. 

OFSTU

DENTS 

5 7 18 15 5 

 

3 

Q.12 Assuming 2004 as the base year find out Index Number by Simple 

Aggregative Method 

ȑÑĞÑεÙζ¿Ízɰ¾îʇ¾ɥÞßɟ×ÍɟÞɭÛÝx 2004  

¾ɨzÐɟØÛÝxÖɟÑ¾ØÞØÙÞÖȕȏß¾ØÌθÛκÐʬÛɟØɟ  2014 

¾ɭ¾ɥÖÍʇ¾ɟÞȕÃ¾ɟɰ¾ȑÑ¾ɟεÙ¤ . 
COMMODITY  PRICE IN 2004 PRICE IN 2014 

A 40 50 

3 
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B 28 35 

C 12.5 15 

D 10 20 

E 30 90 
 

Q.13 Which of the following methods give better results and why?        

         a. Census                                                   b. Sample.    

Or  

        Distinguish between Census and Sample. 

    ȑÑĞÑ Öʅ Þɭ ¾ɩÑ Þɠ θÛκÐ ÔɭßÍØ ȑÑÌx× ÏɭÍɠ ßɮ ©Ø Ć×ʇ 
    ¤ ÅÑÀÌÑɟ                   Ô ÑÖȕÑɟ 
ÅÑÀÌÑɟ ©Ø ÑÖȕÑɟ Öʃ yɰÍØ ÔÍɟ{×ɭ 

4 

Q.14 .Write three characteristic of Index Number.  

ÞȕÃ¾ɟɰ¾¾ɥÍɠÑÖȓć×θÛÜɭÝÍɟ¤ɯÔÍɟ¤ɰ] 
4 

Q.15 Find out Median value of the following data.   

ȑÑĞÑεÙζ¿ÍzÛȗȑÍθÛÍØÌ¾ɥÖɟȒĘ×¾ɟáɟÍ¾ɥȒÅ¤| 

WAGE 

RATE  

0-10 10-20 20-30 30-40 40-50 

NO. OF 

WORKER

S 

 

3 

 

4 

 

2 

 

7 

 

10 

 

4 

Q.16 16 (a) Present the following information in a suitable tabular form: 

In 2010, the number of union workers was 1,725 of which 1600 were 

men. Thenumber of non-union workers was 380, among which 155 

were women. 

ȑÑĞÑεÙζ¿ÍÞȕÃÑɟ¾ɨ¤¾}Ò×ȓĆÍÞɟØÌɠ×ÑȼÒÖʃŎÖÔʬÐ¾ɥȒÅ¤| 

 ÞÑ  2010 ÖʃÞɰÁŬεÖ¾ʇ¾ɥÞɰć×ɟ 1725 ÎɠȒÅÞÖʃÞɭ 1600 ÒȓȻÝÎɭ|ÀɮØ ï 
ÞɰÁɠ×ŬεÖ¾ʇ¾ɥÞɰć×ɟ 380 ÎɠȒÅÞÖʃÞɭ 155 ÖȏßÙɟ¤ɰÎɠ| 

WAGE RATE  0-10 10-20 20-30 30-40 40-50 

NO.OFWORKERS 10 20 40 20 10 

(b) Draw the óless thanô Ogive on the graph paper from the data given 

below 

ȑÑĞÑεÙζ¿Ízɰ¾îʇÞɭŐɟÓÒɭÒØÒØóÞɭ¾Öô̈ Åɟ{ÛÛŎ¿ɠɰκÃ¤ 

WAGE RATE  0-10 10-20 20-30 30-40 40-50 

NO.OF 

WORKERS 

10 20 40 20 10 

 

6 
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Q.17 Two ladies were asked to rank 10 different types of flowers. The rank 

given by them are given below. Calculate Spearmanôs Rank 

Correlation  

 ÏɨÖȏßÙɟ×ʇ¾ɨ 10 

θÛεÕęÑŢ¾ɟØ¾ɭÓȕÙʇ¾ɨÛØɡ×ÍɟŎÖŢÏɟÑ¾ØÑɭ¾ɭεÙ¤¾ßɟÀ×ɟÎɟ|}Ñ¾ɭʬÛɟØɟȏÏ×ɟ
À×ɟÛØɡ×ÍɟŎÖ{ÞŢ¾ɟØßɮñ 

 ĦÒɭ×ØÖɟÑ¾ɭŬɭÌɠÞß ï ÞÔɰÐ¾ɥÀÌÑɟ¾ɥȒÅ¤ 

FLOWER  A B C D E F G H I  J 

RITA  6 5 3 10 2 4 9 7 8 1 

GITA  3 8 4 9 1 6 10 7 5 2 
 

6 

Part B- Micro Economics 

Q.No. Questions Mar

ks 

Q.18 Assumption of PPC is/are: 

(a) There are only two goods (b) Resources are not specific 

(c) Resources are fully employed (d) All of the above 

}ĕÒɟÏÑÞɰÕɟÛÑɟÛŎ¾ɥÖɟę×Íɟ ßɮ:- 
(¤)¾ɭÛÙÏɨÛĦÍȓ¤ɰßɮ(Ô)ÞɰÞɟÐÑθÛεÜĥÈÑßɡɰßɮ 

(Þ)ÞɰÞɟÐÑÒȕÌxÍɟȑÑ×ɨȒÅÍßɮ(Ê)}ÒØɨĆÍÞÕɠ 

1 

Q.19 If earthquake takes place, then what will happen to PPC? 

(a) Shifts inward (b) Remains same 

(c) Shifts outward (d) All of the above 

Õȕ¾ɰÒ¾ɟ}ĕÒɟÏÑÞɰÕɟÛÑɟÛŎÒØĆ×ɟŢÕɟÛßɨÀɟ 
(¤) yɰÏØζ¿Þ¾Åɟ¤Àɟ(Ô)ÔɟßØζ¿Þ¾Åɟ¤Àɟ 

(Þ)ÞɟÖɟę×ØßɭÀɟ(Ê) }ÒØɨĆÍÞÕɠ 

1 

Q.20 Theory of production studies the problem of 

(a) What goods to produce and how much to produce 

(b) How to produce 

(c) For whom to produce 

(d) All of the above 

}ĕÒɟÏÑ¾ɟεÞʬÐɟɰÍyĘ××Ñ¾ØÍɟßɮ 

(¤)η¾ÞÛĦÍȓ¾ɟ}ĕÒɟÏÑη¾×ɟÅɟ¤ÍÎɟη¾ÞÖɟŝɟÖʃ 
(Ô) ¾ɮÞɭ}ĕÒɟÏÑη¾×ɟÅɟ¤ 

(Þ)η¾Þ¾ɭεÙ¤}ĕÒɟÏÑη¾×ɟÅɟ¤ 

(Ê)ÞɰÒȕÌx}ÒØɨĆÍÞÕɠ 

1 

Q.21 Price theory deals with: 

(a) Product pricing (b) Factor pricing 

(c) Welfare economics (d) All of the above 

¾ɥÖÍεÞʬÐɟɰÍÞɰÔɰκÐÍßɮ 

1 
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(¤)}ĕÒɟÏ¾ɥÖÍÞɭ                                          (Ô)¾ɟØ¾¾ɥÖÍÞɭ 

(Þ)¾ġ×ɟÌyÎxÜɟĦŝÞɭ                                  (Ê)}ÒØɨĆÍÞÕɠ 

Q.22 When TP is at its point of inflexion, the MP starts______ 

ÅÔ¾ȓÙ}ĕÒɟÏyÒÑɭÆȓ¾ɟÛ¾ɭȐÔɰÏȓÒØßɨÍɟßɮÍɨÞɠÖɟɰÍ }ĕÒɟÏ-------------------- 

1 

Q.23 AR is always equal to ___________? 

©ÞÍ}ĕÒɟÏÞÏɮÛÔØɟÔØßɨÍɟßɮ______________________________________ 

1 

Q.24 What will happento average cost when marginal cost is equal to average 

cost? 

ÅÔÞɠÖɟɰÍÙɟÀÍ©ÞÍ¾ɭÙɟÀÍ¾ɭÔØɟÔØßɨÍɠßɮÍɨ©ÞÍÙɟÀÍ¾ɮÞɠßɨÍɠßɮ 

1 

Q.25 Change in supply is due to _______________________. 

zÒȕȑÍxÖʃÒȎØÛÍxÑ_________________________¾ɭ¾ɟØÌßɨÍɟßɮ 

1 

Q.26 A firm is able to sell any quantity of a good at a given price. The firmôs 

marginal revenue will Be 

 (a) Greater than Average Revenue    (b) Less than Average Revenue` 

(c) Equal to Average Revenue                                    (d) Zero 

¤¾ÓɦÖxÏɡÀ|¾ɥÖÍÒØÛĦÍȓ¾ɥ¾ɨ|ÕɠÖɟŝɟÕɭÅÞ¾ÍɠßɮÔɭÃÓÖx¾ɟÞɠÖɟɰÍzÀÖßɨÀɟ 
(¤)©ÞÍzÀÖ¾ɭÔØɟÔØ(Ô)©ÞÍzÀÖÞɭyκÐ¾ 

(Þ)©ÞÍzÀÖÞɭ¾Ö(Ï)   0  

1 

Q.27 When is firm price taker? 

¤¾ÓɦÖx¾ɥÖÍ ¾ɥÖÍĦÛɠ¾ɟØ¾ÔßɨÍɠßɮ? 

1 

Q.28 Given the market price of a good, how does a consumer decide as to how 

many units of that 

good to buy? Explain 

η¾ÞɠÛĦÍȓ¾ɥ¾ɥÖÍȏÏ¤ßȓ¤ßɨÑɭÒØ¤¾}ÒÕɨĆÍɟ¾ɮÞɭȑÑÐɟxȎØÍ¾ØÍɟßɮη¾η¾ÞÛĦÍȓ¾ɥ
η¾ÍÑɠÖɟŝɟ¿ØɡÏɡÅɟ¤ 

3 

Q.29 Total revenue of a firm rises from ` 400 to ` 500 when the price of its 

product rises from ` 8 

per unit to ` 10 per unit. Calculate the price elasticity of supply. 

¤¾ÓÖx¾ɟ¾ÙÀɟÖ400 ÞɭÔï¾Ø500 ßɨÅɟÍɟßɮÅÔÛĦÍȓ¾ɥ¾ɥÖÍ 8 

ŢȑÍ¾ɟ{ÞÞɭÔï¾Ø10 ŢȑÍ{¾ɟ|ßɨÅɟÍɠßɮ¾ɥ¾ɥÖÍÙɨÃáɟÍ¾ɥȒÅ¤ 

3 

Q.30 Why there are a few big firms under oligopoly form of market 

yġÒɟκÐ¾ɟØ¾ɭyɰÍÀxÍ¾ȓÄÔîɠÒØÖʃĆ×ʇßɨÍɠßɮÍÎɟ{Þ¾ɭyɰÍȑÑxȏßÍÍĖ×¾ɥģ×ɟć×ɟ
¾ɥȒÅ¤ 

4 

Q.31 If market for a good is in equilibrium ,what changes will take place in 

equilibrium price and quantity ,if input price increases, 

¤¾ÛĦÍȓ¾ɟÔɟÅɟØÞɰÍȓÙÑÖʃßɮzÀÍ¾ɥÖÍÖʃÒȎØÛÍxÑ¾ɟÞɰÍȓÙÑ¾ɥÖÍÍÎɟÖɟŝɟÒØ
Ć×ɟŢÕɟÛßɨÀɟŢÕɟÛʇ¾ɥŬɰ¿Ùɟ¾ɥģ×ɟć×ɟ¾Øʃ 

4 

Q.32 How will the following factors affect elasticity of demand of a 

commodity:- 

(a)availability of substitutes 

(b)nature of the commodity 

4 



 

Page 78 of 100 
 

zÒȕȑÍx¾ɥ¾ɥÖÍÙɨÃ¾ɨȑÑĞÑ¾ɟØÌη¾ÞŢ¾ɟØŢÕɟθÛÍ¾ØʃÀɭ 

ÛĦÍȓ¾ɥŢ¾ȗȑÍ 

ŢȑÍĦÎɟÒ¾¾ɥ}ÒÙĜÐÍɟ 

Q.33 What do you mean by consumers equilibrium? Explain the conditions of 

consumers equilibrium with the help of indifference curve analysis? 

What changes will take place if the consumer is not in equilibrium. 

}ÒÕɨĆÍɟÞɰÍȓÙÑÞɭzÒĆ×ɟÞÖÆÍßʅ? 

}ÏɟÞɠÑÍɟÛŎ¾ɥÞßɟ×ÍɟÞɭ}ÒÕɨĆÍɟÞɰÍȓÙÑ¾ɥÜÍʝ¾ɥģ×ɟć×ɟ¾Øʃ]×ȏÏ}ÒÕɨĆÍɟÞɰ
ÍȓÙÑÖʃÑßɡɰßɨÍɟßɮÍɨĆ×ɟÒȎØÛÍxÑßʇÀɭ] 

6 

Q.34 If we make changes in one factor making changes in other factor fixed, 

what changes will take place in the marginal product of the fixed factor? 

×ȏÏ¤¾¾ɟØÌ¾ɨȒĦÎØØ¿Íɭßȓ¤ÏȕÞØɭ¾ɟØÌÖʃÒȎØÛÍxÑη¾×ɟÅɟ¤ÍɨÒȎØÛÍxÑÜɠÙ¾ɟØ
¾¾ɭÞɠÖɟɰÍ}ĕÒɟÏÒØĆ×ɟŢÕɟÛßɨÀɟ 

6 
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SET 10 

SECTION-A (STATISTICS ) 

1 ʬθÛÍɠ×¾zɯ¾îʇ¾ɭÏɨŮɨÍεÙζ¿¤] 

×ɟ 
ÀÌÑɟ¾ɟØ¾ɩÑßɮ? 

Write down any two sources of secondary data. 

       Or 

Who is enumerator? 

1 

2 ÔßȓÙ¾¾ɟÒÍɟÙÀɟÑɭ¾ɭεÙ¤ȑÑĞÑÖʃÞɭη¾Þ¤¾ŐɟηÓ¾θÛκÐ¾ɟŢ×ɨÀη¾×ɟÅɟÍɟßɮ?  

¾) ȏßĦÈɨŐɟÖ¿) ̈κÀÛɭÛŎ 

À) zÛȗθǡÛŎÁ) {ÑÖʃÞɭ¾ɨ|Ñßɡɰ 

Which one of the following graphic method is used to find out Modal value? 

a)Histogram                          b) Ogive curve 

c)Frequency curve               d) None of these  

 

1 

3 ÞɟɰȒć×¾ɥ×Ŭȗɰ¿ÙɟȒÅÞÖʃÛÀxyɰÍØɟÙ¾ɥ~ÒØɡÞɠÖɟ¾ɨÔɟßØØ¿ɟÀ×ɟßɮ ............... 
ÞɟɰȒć×¾ɥ×Ŭȗɰ¿Ùɟ. 
The statistical series in which upper limit of class interval is excluded is known as 

ééééééé statistical series. 

1 

4 ÒɟɰÃθÛÝ×Öʃ¤¾Äɟŝ¾ɭ©ÞÍyɰ¾70 ßɮ. ×ȏÏ}ęßʇÑɭÒßÙɭÃɟØθÛÝ×ʇÖʃ80, 90, 60, 40 

ŢɟĚÍη¾¤ÍɨÒɟɰÃÛʃθÛÝ×ÖʃŢɟĚÍyɰ¾Ć×ɟßʇÀɭ?  

¾) 75                                   ¿) 80  

À) 85                                   Á) {ÑÖʃÞɭ¾ɨ|Ñßɡɰ 

Average marks of a student in five subject is 70. If he secured 80, 90, 60, 40 in first 

four a subjects, what will be the marks obtained in fifth subject? 

a)75                                       b) 80 

c)85                                       d) None of these 

1 

5 ×ȏÏÞßÞɰÔɰÐÀȓÌɟɰ¾Üȕę×ßɮ, Íɨ{Þ¾ɟĆ×ɟyÎxßɮ? 

If coefficient of correlation is zero, what does it mean? 

1 

6 }ċÃÍÖzÛȗθǡʬÛɟØɟÏÜɟx¤ÅɟÑɭÛɟÙɡ¾ʃşɡ×ŢÛȗθǡßɮ-  
¾)ÖɟĘ×¿) ÖɟĘ×¾ 

À)ÔßȓÙ¾Á) ¿ÍÎɟÀÏɨÑʇ 

Central  tendency which is represented by highest frequency is- 

a)Mean                                 b) Median 

c)Mode                                d) Both b and c 

1 

7 yÒη¾ØÌ¾ɥÒȎØÕɟÝɟÏɡȒÅ¤] 

Give the definition of dispersion. 

1 

8 zÐɟØÛÝxĆ×ɟßɮ? 

What is base year? 

1 

9 zÅ¾Ù, ¿ȓÏØɟÖȓşɟĦÓɥȑÍ¾ɥÏØ¾ɨÖɟθÒÍη¾×ɟÅɟÍɟßɮ- 
¾)}ÒÕɨĆÍɟÖȕġ×ÞȕÃ¾ɟɰ¾¿) ηÓÜØ{ɰÊɭĆÞ 

1 
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À)ÒɟĤÃɭÞȕÃ¾ɟɰ¾Á) {ÑÖʃÞɭ¾ɨ|Ñßɡɰ 

Now a days, the retail inflation rate is measured by- 

a)Consumer price Index                         b) Fisher Index 

c)Paascheôs Index                                   d) None of these 

10 

05 ¾ɟÖÀɟØʇ¾ɨȏÏ×ɟÅɟÑɭÛɟÙɭÛɭÍÑ (ȻÒ×ɭÖʃ)  100, 50, 112, 150 ©Ø135 

ßɮ]¾ɟÖÀɟØʇ¾ɨÏɡÅɟÑɭÛɟÙɭÖÅÏȕØɡ¾ɥθÛĦÍɟØ¾ɟÒÍɟÙÀɟ¤ɰ] 
The wage given to 05 workers in term of rupees is 100, 50, 112, 150, and 135. Find 

out the range of the wages given to the workers. 

1 

11 yɰ¾ÀζÌÍɠ×ÖɟĘ×¾ɭη¾ęßɡÏɨÀȓÌ¾ɭÔɟØɭÖʃÞɰàɭÒÖʃεÙζ¿¤] 
×ɟ 
¾ʃşɡ×ŢÛȗθǡÞɭzÒ¾ɟĆ×ɟÖÍÙÔßɮ? ¾ʃşɡ×ŢÛȗθǡ¾ɟ¾ɨ|¤¾ÖßĕÛÔÍɟ{×ɭ] 
Write briefly about any two properties of arithmetic mean. 

                                           OR 

What do you mean by central tendency? Give any one importance of central 

tendency. 

 

3 

12 ȑÑØÒɭàyÒη¾ØÌ©ØÞɟÒɭàyÒη¾ØÌ¾ɭÔɠÃyɰÍØÔÍɟ{×ɭ] 

Differentiate between absolute dispersion and relative dispersion 

3 

13 ŢɟÎεÖ¾zɰ¾îɭĆ×ɟßɮ? {Þ¾ɭĆ×ɟÓɟ×Ïɭßʅ?  

×ɟ 
ŢĤÑɟÛÙɡÞɭzÒ¾ɟĆ×ɟÖÍÙÔßɮ? ¤¾yċÄɟŢĤÑɟÛÙɡ¾ɭη¾ÞɠÕɠÍɠÑθÛÜɭÝÍɟ¨ɰ¾ɨεÙ¿ɨI 

What is primary data? What are its advantages? 

OR 

What do you mean by questionnaire? Write down any three features of a good 

questionnaire 

4 

14 ȑÑĞÑεÙζ¿Ízɰ¾îʇ¾ɭεÙ¤ÖɟÑ¾θÛÃÙÑáɟÍ¾Øʃ-  

ÖɟĆÞx 0-6 6-12 12-18 18-24 24-30 

Äɟŝʇ¾ɥÞɰć×ɟ 3 5 4 5 3 

 

Find out the standard deviation for the following data- 

Marks 0-6 6-12 12-18 18-24 24-30 

Number of 

Students 

3 5 4 5 3 

 

4 
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Part B- Micro Economics 

Q18

. 
ÔÅÈÞɭÈ¾ɨÒȎØÕɟθÝÍ¾ɥȒÅ¤ 

 Define budget set.  

1 

Q19

. 
κÀηÓÑÛĦÍȓ¾ɭεÙ¤ÖɟɰÀÛŎ --------- 
 (y) yÐɨÖȓ¿ɠËɟÙ   (Ô)X yà¾ɭÞÖɟÑɟɰÍØ (Þ) }ĘÛxÖȓ¿ɠËɟÙ  (Ï) Y yà¾ɭÞÖɟÑɟɰÍØ  

1 

15 ȏÏ¤À¤zɰ¾îʇ¾ɭεÙ¤¾ɟÙxÒɠ×ØÞÑθÛκÐ¾ɟ}Ò×ɨÀ¾Ø¾ɭÞßÞɰÔɰÐÀȓÌɟɰ¾áɟÍ¾Øʃ-  
X 5 10 15 20 25 

Y 80 70 60 50 40 

 

Find out the coefficient of correlation by using Karl Pearson method for the given 

data- 

X 5 10 15 20 25 

Y 80 70 60 50 40 
 

4 

16 ÞȕÃ¾ɟɰ¾¾ɨÖɟÒÑɭ¾ɭÏɩØɟÑĘ×ɟÑÏɡÅɟÑɭÛɟÙɡη¾ęßɡÃɟØÞɟÛÐɟȑÑ×ʇ¾ɭÔɟØɭÖʃεÙ¿ɠ×ɭ] 
×ɟ 
}ÒÕɨĆÍɟÖȕġ×ÞȕÃ¾ɟɰ¾Ć×ɟßɮ?{ÞɭÛÝx2010 ¾ɭεÙ¤ȑÑĞÑεÙζ¿ÍÞȕÃÑɟ¾ɭzÐɟØÒØáɟÍ¾Øʃ I 
ÛÝx2010 ¾ɭεÙ¤Öȕġ× ÛÝx2000 ¾ɭεÙ¤Öȕġ× ÛÝx2000 ¾ɭεÙ¤Öɟŝɟ 

4 3 20 

5 5 30 

10 7 10 

5 4 40 

Explain about any four precautions taken while measuring the index number. 

                                                                 OR 

What is the consumer price index? Calculate it for the year 2010 based on following 

information- 

Price for the year 2010 Price  for the year 2000 Quantity for the year 

2000 

4 3 20 

5 5 30 

10 7 10 

5 4 40 
 

6 

17 ÞɰÃ×ɠzÛȗθǡÛŎĆ×ɟßɮ? ÑɠÃɭȏÏ¤À¤zɰ¾îʇ¾ɭεÙ¤Øɭ¿ɟɰ¾ÑʬÛɟØɟÖɟĉ×Ö¾ɟÒÍɟÙÀɟ¤ɯ- 

ÖÅÏȕØɡ 0-50 50-100 100-150 150-200 200-250 

¾ɟÖÀɟØ¾ɥÞɰć×ɟ 5 15 10 15 5 

 

What is cumulative frequency curve? Locate the median graphically for the data 

given below- 

Wages 0-50 50-100 100-150 150-200 200-250 

Number 

of worker 

5 15 10 15 5 

 

6 
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  Demand curve for Giffen goods would be -------? 

(a) Downward sloping   (b) Parallel to X- axis   (c) Upward  sloping   (d) Parallel to 

Y ï axis 

Q20

. 
ÛĦÍȓ¾ɥÖɟɰÀÔɭÙɨÃÏɟØ¾ÔßɨÍɠßɮ ? 
When demand for good is inelastic?  

1 

Q21

. 
©ÞÍ}ĕÒɟÏ¾ɥÀÌÑɟ¾ɮÞɭ¾ɥÅɟÍɠßɮ? 

 How average product is calculated? 

(a)  TP/L        (b)   L/TP           (c) L/MP         (d) MP/L 

1 

Q22

. 
zÒ¤¾ÙÒÞɰÏÀɠÞɭĆ×ɟÞÖÆÍɭßɨ ? 

What do you understand by monotonic preferences? 

1 

Q23

. 
©ÞÍ}ĕÒɟÏÜȕę××ɟ ÌɟĕÖ¾ßɨÞ¾Íɟßɮ ! 
 When Average product can be zero or negative? 

 (y) ÞɰÕÛ      (Ô) ¾Õɠ- ¾ÕɠÞɰÕÛ      (Þ) ¾ÕɠÑßɡɰÞɰÕÛ (Ï) {ÑÖʃÞɭ¾ɨ|Ñßɡɰ 

(a) Possible        (b)   Sometimes possible          (c) Never possible        (d) None of 

these 

1 

Q24

. 
ȑÑ¾ÈĦÎÑɟÒęÑ¾ɥyÑȓÒȒĦÎȑÍÖßĕÛÒȕÌxθÛÜɭÝÍɟßɨÍɠßɮ : 
(y) ¤¾ɟκÐ¾ɟØŢȑÍ×ɨκÀÍɟ (Ô) yġÒɟκÐ¾ɟØ (Þ) ¤¾ɟκÐ¾ɟØ (Ï)ÒȕÌx-ŢȑÍ×ɨκÀÍɟ 

.Absence of close substitutes is an important feature of: 

  (a)Monopolistic competition (b) Oligopoly (c) Monopoly (d) Perfect competition 

1 

Q25

. 
ę×ȕÑÍÖ¾ɥÖÍÞɠÖɟÞɭÙɟÕßɨÍɟßɮ : 
 (y) }ĕÒɟÏ¾   (Ô) }ÒÕɨĆÍɟ  (Þ) ÏɨÑʇ (y) ©Ø (Ô)    (Ï) ¾ɨ|Ñßɡɰ 

Minimum price ceiling benefits the:                                                                                                                  

(a).Producers      (b) Consumers    (c) Both (a) and (b)        (d) None 

1 

Q26

. 
ÒȕÌx-ŢȑÍ×ɨκÀÍɟ¾ɥȒĦÍÎɠÖʃ©ÞÍzĈÖ( z×) .............. ßɨÍɠßɮ 

In case of perfect competition, AR curve is : 

1 

Q27

. 
¾ȓÙÙɟÀÍÔïÍɟßɮ¾ɭÛÙÅÔÞɠÖɟęÍÙɟÀÍÔïÍɟßɮ ! Þßɡ/ÀÙÍ 
 Total cost rises only when marginal cost rises. True/False 

            Or  

©ÞÍȒĦÎØÙɟÀÍÛŎz×Íɟ¾ɟØÒØÛÙ×ÛŎßɨÍɟßɮ! Þßɡ/ÀÙÍ 
AFC curve is a rectangular hyperbola curve. True/ False 

1 

Q28

. 
yÒȕÌxŢȑÍ×ɨκÀÍɟ¾ɭyɰÍÀxÍÞɠÖɟɰÍzÀÖ©Ø¾ȓÙzÀÖ¾ɭÔɠÃÞĞÔęÐÔÍɟ{¤! 
State the relation between marginal revenue and total revenue under imperfect 

competition. 

yÎÛɟ     Or 

¾ȓÙÙɟÀÍ©ØÞɠÖɟɰÍÙɟÀÍ¾ɭÔɠÃÞĞÔęÐÔÍɟ{¤ I 

State the relation between total cost and marginal cost. 

3 

Q29

. 

 

ÕɟØÍÖʃÙɩß©Ø{ĦÒɟÍ}ʬ×ɨÀ}ĕÒɟÏÑ¾ɭθÛεÕęÑÃØÌʇ¾ɟÞɟÖÑɟη¾×ɟßɮ©ØyÔyɰȑÍÖÃØ
ÌÞɭÅȓîɟßȓzßɮ! 
}ĕÒɟÏÑ¾ɭÞɟÐÑʇ¾ɭÒȎØÛÍxÑÜɠÙyÑȓÒɟÍ¾ɭyɰȑÍÖyÛĦÎɟ¾ɨØɨ¾ɟÅɟÞ¾Íɟßɮ,{Þ¾ɭεÙ¤θÛ
εÕęÑÞȓÆɟÛÏɡȒÅ¤! 
Iron and steel industry in India has faced various phases of productionand now 

3 
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sticking to final phase. Suggest various measures by which final stage of variable 

proportion of factors of production can be postponed 

Q30

. 
¤¾ÓÖx̀_ȻÒ×ɭŢȑÍ{¾ɟ|Öȕġ×ÒØ̀___{¾ɟ|}ĕÒɟÏ¾ɥȐÔŎɥ¾ØÍɠßʅ!  
ÒȕȑÍx¾ɥ¾ɥÖÍÙɨÃbßʅ!×ȏÏŢȑÍ{¾ɟ|Öȕġ×κÀØ¾Ø 7.50 
ßɨÅɟÍɠßɮÍɨÓÖxη¾ÍÑɭ{¾ɟ|¾ɥȐÔŎɥ¾ØɭÀɠ I 

A firm sells 1000 units of a product at price of Rs.10 per unit.  

Its price elasticity of supply is 3. 

How many units will the firm be able to sell if price falls to Rs.7.50 per unit. 

4 

Q31

. 
ÅÔŬÖÜȒĆÍÞɰÞɟÐÑ©ØŢɟ¾ȗȑÍ¾ÞɰÞɟÐÑ,  
Ţɟ¾ȗȑÍ¾zÒÏɟ¾ɭ¾ɟØÌÏȓÙxÕÔÑÅɟÍɟßɮÍɨ}ĕÒɟÏÑÞɰÕɟÛÑɟØɭ¿ɟĆ×ɟŢÕɟÛÒîÍɟßɮ? 
 How does PPC affected when manpower resources and  

natural resources become scarce due to a natural calamity? 

4 

Q32

. 
¤¾ɟκÐ¾ɟØŢȑÍ×ɨκÀÍɟ¾ɭyɰÍÀxÍ ñ}ĕÒɟÏθÛÕɭÏ ñ ¾ɥθÛÜɭÝÍɟ¾ɭȑÑȏßÍɟÎx¾ɥģ×ɟć×ɟ¾Øʃ 

 Explain the implication of the feature, product differentiation under monopolistic 

competition 

yġÒɟκÐ¾ɟØÔɟÅɟØ¾ɭyɰÍÀxÍ ñ ÀɮØ¾ɥÖÍŢȑÍ×ɨκÀÍɟ 

ñ¾ɥθÛÜɭÝÍɟ¾ɭȑÑȏßÍɟÎx¾ɥģ×ɟć×ɟ¾Øʃ. 

Explain  the implication of the feature ,Non-price competitionò  under oligopoly 

market. 

4 

Q33

. 
¤¾ }ÒÕɨĆÍɟ ÞɭÛ ©Ø ÞɰÍØɟ ÒØ Öȓşɟ¾ɭ zÉ {¾ɟ|×ʇ ¾ɟ ¿Ãx (ģ××)  
η¾×ɟßɮ! }Þ¾ɥ ÞɰÍȓÙÑ ȒĦÎȑÍ¾ɨ ȏÏ¿ɟÑɭ ¾ɭ εÙ¤ ¾ɟġÒȑÑ¾ yÑȓÞȕκÃ ÔÑɟ ¨ !  

Ûß {Ñ{¾ɟ|×ʇ Þɭη¾ÍÑɟ yκÐ¾ÍÖ }Ò×ɨκÀÍɟ ŢɟĚÍ ¾Ø Þ¾Íɟ ßɮ? 
 A consumer has 8 units of money to spend upon apple and orange.  

Construct an imaginary schedule to show his equilibrium position.  

What maximum utility he can get from these units? 

6 

Q34

. 
ÞɠÖɟɰÍ z× ©Ø ÞɠÖɟɰÍ ÙɟÀÍ yÑȓÞȕκÃ ¾ɥ Þßɟ×Íɟ Þɭ }ĕÒɟÏ¾ ¾ɭ ÞɰÍȓÙÑ ¾ɥ ģ×ć×ɟ 

¾Øɭ !  

 Producerôs equilibrium with the help of MR and MC schedule .Explain. 

Or 

¤¾ ÛĦÍȓ ¾ɟ ÔɟÅɟØ ÞɰÍȓÙÑ Öʃ ßɮ ÛĦÍȓ ¾ɥ ÖɟɰÀ Öʃ ÛȗʬκÐ ßɨ ÅɟÍɠ ßɮ ÔɟÅɟØ ¾ɭ ʬÛɟØɟ 

ÞɰÍȓÙÑ Öʃ ÏɨÔɟØɟ ÞɰÍȓÙÑ Öʃ zÑɭ Í¾ {ÞÒȎØÛÍxÑ Öʃ ßɨÑɭ ÛɟÙɭ ŢÕɟÛʇ ¾ɥ Ŭɰ¿Ùɟ 

ÞÖÆɟ{¤ ©Ø Øɭ¿ɟκÃŝ ¾ɟ Ţ×ɨÀ ¾ɥȒÅ¤ | 

Market of a commodity is in equilibrium. Demand for the commodity ñincreasesò 

explain the chain of effects of this change till the market again reaches equilibrium. 

Use diagram. 

6 
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SET 11 

Section-A    (STATISTICS FOR ECONOMICS)  

1. Define Statistics in plural sense.                                                             1 

Þɟɰζ¿×¾ɥ ¾ɨ Ôßȕ ÔÃÑ Öʃ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤ I 

2. What do you mean by the term- ñLoss of Informationò                                                  

1 

ñßɟȑÑ ¾ɥ ÞȕÃÑɟñ ßɮ ÍɟĕÒ×x Ć×ɟ ¾ɟ  ?  

3. Which is the best measure of Dispersion?                                                                       

  1 

A. Mean       B. Median       C. Mode         D.  Standard Deviation 

¾ɩÑ-Þɟ ÓɮÙɟÛ ¾ɟ ÞÔÞɭ yċÄɟ }Òɟ× ßɮ ? 

y. ÞÖɟęÍØ ÖɟĘ×    Ô  .Þ   ÖɟȒĘ×¾ɟ .Ï   ÔßȓÙ¾   .ȐÔÃÙÑ ÖɟÑ¾  

4. We can find the value of Median graphically with the help of-----                             1 

A. Bar diagram     B. Histogram       C. Ogive          D. None of these 

ÔßȓÙ¾ ¾ɭ Öȕġ× ¾ɨ ÞκÃŝ ȼÒ Þɭ ßÖ----------------¾ɥ ÖÏÏ Þɭ ŢɟĚÍ ¾Ø Þ¾Íɭ ßɮ ï 

y. ÏĔÊ κÃŝ      Ô  .Þ      κÃŝ z×Í .zØɭ¿        Ï   .Ñßɡɰ ¾ɨ| Þɭ {ÑÖɭ  

5. Which of the following alternative is True-                                                                   1 

A. Data collected by investigator is called primary data. 

B. Non- sampling error can be minimized by taking large sample. 

C. Data collected by investigator is called secondary data. 

D. None of these. 

ȑÑĞÑ Öʃ Þɭ ¾ɩÑ Þɟ ȐÔ¾ġÒ Þßɡ ßɮ ? 

y. yęÛɭÝ¾ ʬÛɟØɟ ¤¾ŝ η¾×ɭ À¤ zɰ¾îɟ ¾ɨ ŢɟÎεÖ¾ zɰ¾îɟ ¾ßɟ ÅɟÍɟ ßɮ I 
z. Ô  .ßɮ Þ¾Íɟ Åɟ η¾×ɟ ¾Ö ¾ɨ ŝȓÈɡ ÑÖȕÑɟ ÀɮØ ¾Ø Ùɭ ÑÖȕÑɭ Ôîɭ I 

Þ. yęÛɭÝ¾ ʬÛɟØɟ ¤¾ŝ η¾×ɭ À¤ zɰ¾îɟ ¾ɨ ʬθÛÍɠ×¾ zɰ¾îɟ ¾ßɟ ÅɟÍɟ ßɮ  I 

Ï. {ÑÖɭ Þɭ ¾ɨ| Ñßɡr I 

6. Define Index Number.                                                                                                   1 

ÞȕÃ¾ɟɰ¾ ¾ɨ ÒȎØÕɟθÝÍ ¾Øʃ I 
                 OR 

Give the formula for calculating mean of data given in individual series by direct 

method. 

Ĝ×ȒĆÍ¾ Ŭɰ¿Ùɟ ¾ɭ zɰ¾îɭ Ţĕ×à ȐÔκÐ ʬÛɟØɟ ÖɟĘ× ¾ɥ ÀÌÑɟ ¾ɭ εÙ¤ Þȕŝ εÙ¿ʃ I 
7. Find Median from the following series-                                                              

     1 
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ȑÑĞÑεÙζ¿Í Ŭɰ¿Ùɟ Þɭ ÖκÐ×ɟ¾ɟ áɟÍ ¾ɥȒÅ¤I 

X: 12, 50, 15, 30,80 

8. Define Mode.                                                                                                                1  

ÔßȓÙ¾ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤ I 

9. What is the range of correlation co-efficient?                                                        1 

Þß ÞĞÔęÐ ÀȓÌɟɰ¾ ¾ɟ ȐÔĦÍɟØ Ć×ɟ ßɮ ? 
10. What is Scarcity?                                                                                                1 

zÕɟÛ η¾Þɭ ¾ßÍɭ ßɮ ? 
11. Explain the importance of statistics in economics?                                              3 

                                         OR 

Distinguish between Primary data and Secondary data. 

ŢɟÎεÖ¾ zɰ¾îɟ ©Ø ʬθÛÍɠ×¾ zɰ¾îɟ ¾ɭ ÔɠÃ yɰÍØ ÔÍɟ|×ɭ I 

12. Which of the following method give better result and why?                                 3 

ȑÑĞÑεÙζ¿Í Öʃ Þɭ ¾ɨÑ Þɠ ȐÔκÐ ÔɭßÍØ ÒȎØÌɟÖ ÏɭÍɠ  ßɮ ©Ø Ć×ʇ  ? 
a. Census method           b. Sample method 

y. ÅÑÀÌÑɟ       Ô   .ÑÖȕÑɟ 

13. Prepare a Pie chart from the given information-                                                     4 

Ïɡ À| ÅɟÑ¾ɟØɡ Þɭ Òɟ| ÃɟÈx Íɮ×ɟØ ¾ɥȒÅ¤ I 
ITEMS EXPENDITURE IN Rs. 

Food 12000 

Clothing 10000 

House Rent 6000 

Savings 4000 

Misc. 8000 

                                                                   OR 

What is variable? Distinguish between a discrete and continuous variable. 

ÃØ ØɟεÜ Ć×ɟ ßɮ  ?¾ɥȒÅ¤ ÕɭÏ Öʃ ÃØ ÞÍÍ ©Ø yÞÍÍ I 

14. Calculate mean from the following data-                                                                

4 

ȑÑĞÑεÙζ¿Í zɰ¾îɨ Þɭ ÖɟĘ× ¾ɥ ÀÌÑɟ ¾ɥȒÅ¤ - 
Marks (more 

than) 

0 10 20 30 40 50 60 70 

No. of students 150 140 100 80 80 70 30 14 

 

15. Calculate rank correlation coefficient from the following data-         4 

ȑÑĞÑ zɰ¾îʇ Þɭ Øʅ¾ Þß ÞĞÔęÐ ÀȓÌɟɰ¾ ¾ɥ ÀÌÑɟ ¾ɥȒÅ¤ I 
x 75 73 72 71 63 62 55 50 

y 10 11 15 13 12 20 16 28 

 

16. Calculate Standard deviation from the following data-                        6 

ȑÑĞÑεÙζ¿Í zɰ¾îʇ  Þɭ ÖɟÑ¾ ȐÔÃÙÑ áɟÍ ¾ɥȒÅ¤ I 
10, 8, 6, 14, 12 

                    OR 
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Write down the various steps for the construction of Lorenz curve. 

ÙɩØʃé ÛŎ ÔÑɟÑɭ ¾ɥ ȐÔκÐ  εÙζ¿¤ I 
17. Calculate Price index no. from the following data by using (1) Laspeyres method ( ii) 

Paasche method .             6 

ȑÑĞÑ zɰ¾îʇ Þɭ  {  .|   ȐÔκÐ ÙɭĦÒØɭ  .ÀÌÑɟ ¾ɥ ÞȕÃ¾ɟɰ¾ Öȕġ× ʬÛɟØɟ ȐÔκÐ ÒɟĦÃɭ  ¾ɥȒÅ¤  
Commodity Price in 2009 Quantity in 2009 Price in 2019 Quantity in 2019 

A 20 8 40 6 

B 50 10 60 5 

C 40 15 50 15 

D 20 20 20 25 

 

Section: B (Introductory Micro Economics) 

18. A statement in Economics which is suggestive in nature is called-                               1 

a. Positive economics   b. Normative economics     c. Both a & b     d. None of these 

yÎxÜɟĤŝ Öʃ ȐÔÃɟØɨÍɨÅ¾ ¾ÎÑ ¾ɨ ¾ßɟ ÅɟÍɟ ßɮ ï 
y. Þ¾ɟØɟĕÖ¾ yÎxÜɟĤŝ   Ô    ÖɟÑ¾ yÎxÜɟĤŝ    Þ  .Ï  ÏɨÑʇ  Ô ©Ø y .Ñßɡɰ ¾ɨ| Þɭ {ÑÖɭ  

19. Draw a perfectly elastic demand curve.                                                                         1 

ÒȕÌx Í×  ÙɨÃÏɟØ ÖɟɰÀ ÛŎ ¿ɠɰκÃ¤ I 

20. When total utility is increasing at a diminishing rate, marginal utility must be-         1                   

a. Increase    b. Decrease   c. Constant    d.   None of these 

              ÅÔ ¾ȓÙ }Ò×ɨκÀÍɟ ÁÈÍɭ ßȓ¤ ÔÏ Øßɡ ßɨ Íɨ ÞɠÖɟɰÍ }Ò×ɨκÀÍɟ ï 

y. ÔËɭÀɠ   Ô  .Þ      ÁÈɭÀɠ .ȒĦÎØ      Ï  .Ñßɡɰ ¾ɨ| Þɭ {ÑÖɭ  

21. Define inferior goods.                                                                                                     1 

ÁȏÈ×ɟ ÛĦÍȓ̈ɰ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤ I 
22. The average cost is RS.20 and it is minimum when 4 units are produced. The            1  

marginal cost of producing 4th unit is:                                                                                           

ÅÔ 4 {¾ɟ{×ɟɯ }ĕÒɟȏÏÍ ßɨÍɠ ßɮ ÍÔ  ̈ÞÍ ÙɟÀÍ a_ ßɮ ©Ø ×ß ę×ȕÑÍÖ ßɮ  ÃɩÎɠ {¾ɟ| ¾ɭ 
}ĕÒɟÏÑ ¾ɥ ÞɠÖɟɰÍ ÙɟÀÍ ßɮ : 
a. Rs 20          b. Rs 10     c.   Rs 80         d.  Rs 5 

23. For a price taking firm, average revenue is equal to marginal revenue (True/False)   1 

Öȕġ× ÙɭÑɭÛɟÙɡ ÓÖx ¾ɭ εÙ¤  ,ßɮ ÔØɟÔØ ¾ɭ zÀÖ ÞɠÖɟɰÍ zÀÖ ©ÞÍ I )Þĕ× /yÞĕ× (  

24. Define market supply.                                                                                                    1 

ÔɟéɟØ zÒȕȑÍx ¾ɥ ÒȎØÕɟÝɟ ÏɡȒÅ×ɭ I 

                                                           OR 

Define market demand. 

ÔɟéɟØ ÖɟɰÀ ¾ɥ ÒȎØÕɟÝɟ ÏɡȒÅ×ɭ I 

25. What happens to market equilibrium price due to the imposition of indirect tax?      1 

yŢĕ×à ¾Ø ÙɟÀȓ ßɨÑɭ ¾ɭ ¾ɟØÌ ÔɟéɟØ ÞęÍȓÙÑ ¾ɥÖÍ ÒØ Ć×ɟ ŢÕɟÛ ÒîɭÀɟ ? 

26. Cartel is a feature of -----------market.                                                                            1 

¾ɟÈɴÙ -------- ßɮ ȐÔÜɭÝÍɟ ¤¾ ¾ɥ Öɟ¾ɴÈ I 
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27. The minimum assured price offered by the govt. to the farmer for the purchase of their 

output is called:                                                                                                              1 

a. Ceiling price    b. equilibrium price    c. support price     d. market price 

η¾ÞɟÑ Þɭ }ĕÒɟȏÏÍ ÔĦÍȓ̈ɰ ¾ɥ ¿ØɡÏ ¾ɭ εÙ¤ ÞØ¾ɟØ ʬÛɟØɟ Ïɡ À| ę×ȕÑÍÖ ÞȓȑÑȒĤÃÍ 
¾ɥÖÍ ¾ɨ Ć×ɟ ¾ßÍɭ ßɮ ? 

y. yɰȑÍÖ ¾ɥÖÍ   Ô  .Þ   ¾ɥÖÍ ÞęÍȓÙÑ .Ï     Öȕġ× ÞÖÎxÑ .Öȕġ× ÔɟéɟØ  

28. Explain the central problem ófor whom to produceô?                                                    3 

ó¾Øɭ }ĕÒɟÏÑ εÙ¤ η¾Þ¾ɭ  ó¾ɥȒÅ¤ Ĝ×ɟć×ɟ ¾ɥ ÞÖĦ×ɟ ¾ɭęşɡ× I 

29. Define price ceiling. Write any two consequences of it.                3 

yκÐ¾ÍÖ Öȕġ× ÞɠÖɟ ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤ .{Þ¾̊ ɭ ¾ɨ| Ïɨ ÒȎØÌɟÖ εÙζ¿¤ I 
                                                      OR 

Calculate marginal opportunity cost from the schedule. 

ȑÑĞÑ yÑȓÞȕÃɠ Þɭ ÞɠÖɟɰÍ yÔÞØ ÙɟÀÍ ¾ɥ ÀÌÑɟ ¾ɥȒÅ¤ I 
Maggi(pkts) 100 90 70 40 

Pasta(pkts) 0 25 50 75 

30. Price of the commodity increases from Rs.  50 to Rs. 60 per unit. Quantity demanded 

initially was 200 units. What should be the new quantity so that elasticity of demand 

is to be unity?                                                                                                                 4 

 

¤¾ ÛĦÍȓ ¾ɥ ¾ɥÖÍ d_ ȻÒ×ɭ Þɭ ÔË¾Ø 60 ßɮ ÅɟÍɠ ßɨ ×ȕȑÑÈ ŢȑÍ ȻÒ×ɭ  | ¾ɥ ÖɟɰÀ Öʃ Üȓȼ
Îɠ ×ȕȑÑÈ a__ Öɟŝɟ    |Ù ¾ɥ ÖɟɰÀ Íɟη¾ Ãɟȏß¤ ßɨÑɠ Ć×ɟ Öɟŝɟ Ñ| ˚ɨÃ ¤¾ ßɨ ? 

31. Complete the following table:                                                                                        4 

ȑÑĞÑ ÍɟεÙ¾ɟ ¾ɨ ÒȕØɟ ¾ɥȒÅ¤ : 
OUTPUT(UNITS) AFC MC TC 

1 ------- ------ 72 

2 ------- 10 ------- 

3 20 8 ------- 

4 15 ------- 99 

5 ------- 10 ------ 

 

                                                              OR 

Distinguish between change in quantity supply and change in supply. 

Öɟŝɟ ¾ɥ ÒȕȑÍx Öʃ ÒȎØÛÍxÑ ©Ø ÒȕȑÍx Öʃ ÒȎØÛÍxÑ ¾ɭ ÔɠÃ yɰÍØ ¾ɥȒÅ¤ | 
32. Explain the following feature of market-                                                               2+2=4 

a. Large no. of buyers and sellers 

b. Extra normal profits particularly through trusts and cartels 

ÔɟéɟØ ¾ɥ ȑÑĞÑεÙζ¿Í ȐÔÜɭÝÍɟ ¾ɥ Ĝ×ɟć×ɟ ¾ɥȒÅ¤ ï 
y. Ôîɠ Þɰć×ɟ Öʃ ¿ØɡÏɟØ ©Ø ȐÔŎÍɟ  

Ô.  ¿ɟÞ¾Ø ȐÔĤÛɟÞ ©Ø ¾ɟÈɴÙ ¾ɭ ʬÛɟØɟ yȑÍȎØĆÍ ÞɟÖɟę× ÙɟÕ  
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33.  Explain consumer equilibrium with the help of Indifference curve approach.            6 

}ÏɟÞɠÑÍɟ ÛŎ ȸȒĥÈ¾ɨÌ ¾ɥ Þßɟ×Íɟ  Þɭ }ÒÕɨĆÍɟ ÞęÍȓÙÑ ¾ɥ Ĝ×ɟć×ɟ ¾ɥȒÅ¤ | 

34. Draw firmôs revenue curves in the different markets.                                                    6 

ȐÔεÕęÑ ÔɟéɟØʇ ¾ɭ εÙ¤ ÓÖx ¾ɭ zÀÖ ÛŎ ÔÑɟ×ʃ  | 

Or 

Explain the law of variable proportion. Which is the ideal stage of production for the 

rational producer? 

ÃØ yÑȓÒɟÍ ¾ɟ ȑÑ×Ö ÔÍɟ| ×ɭ  | Þɟ  ÃØÌ zÏÜx ¾ɟ }ĕÒɟÏÑ εÙ¤ ¾ɭ ȑÑÖɟxÍɟ ȐÔÔɭĆÜɠÙ
ßɮ ¾ɨÑ                                     ? 
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SET 12 

PART A: STATISTICS  

Q Question Marks 

1.  The long queues at railway stations, bus-stand, cinema theatres etc. are all 

manifestations of (choose the correct alternative) 

ØɭÙÛɭĦÈɭÜÑʇ, ÔÞ-ĦÈʅÊ, εÞÑɭÖɟκÎ¤ÈØzȏÏ¾ɥÙɰÔɠ¾ÍɟØʃÞÕɠ -------¾ɥyεÕģ×ȒĆÍßʅ 

(Þßɡ θÛ¾ġÒ ÃȓÑʃ) 

(a) Economic development(zκÎx¾θÛ¾ɟÞ) 

  (b) plenty(ŢÃȓØÍɟ) 

   (c) Scarcity (yÕɟÛ) 

(d) publicity (ŢÃɟØ) 

1 

2.  Statistical calculations in classified data are based on ___________ (Fill up the 

blank with  

correct answer)   

ÛÀɶ¾ȗÍÊɭÈɟÖʃÞɟɰȒć×¾ɥ×ÀÌÑɟ -------ÒØzÐɟȎØÍßʅ (Þßɡ}ǡØ¾ɭÞɟÎȎØĆÍĦÎɟÑÕØɭ) 

 

1 

3.  In a statistical table, data regarding literacy and gender is presented. The type of 

classification used in this tabulation is called (choose the correct alternative)

  

¤¾ÞɟɰȒć×¾ɥ×ÍɟεÙ¾ɟÖʃ, ÞɟàØÍɟ©ØεÙɰÀ¾ɭÞĞÔȒęÐÍ zɰ¾îɭ ŢĦÍȓÍη¾×ɭ 

À×ɭßɮ]{ÞÞɟØÌɠ¾ØÌÖʃŢ×ȓĆÍÛÀɶ¾ØÌ¾ɟŢ¾ɟØ¾ßÙɟÍɟßɮ(Þßɡ θÛ¾ġÒ ÃȓÑʃ) 

 

         a)Chronological classification(¾ɟÙɟÑȓŎεÖ¾ ÛÀɶ¾ØÌ) 

b) Qualitative classification(ÀȓÌɟĕÖ¾ÛÀɶ¾ØÌ) 

 

         c)Quantitative classification  ( ÖɟŝɟĕÖ¾ÛÀɶ¾ØÌ) 

 

    d) Spatial classification(ĦÎɟȑÑ¾ÛÀɶ¾ØÌ) 

 

1 

4.  ___________ is based on all observations of the series. (Fill up the blank with 1 
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correct alternative) 

_______ Ŭȗɰ¿Ùɟ¾ɥÞÕɠȏÈĚÒζÌ×ʇÒØzÐɟȎØÍßɮ(Þßɡ}ǡØ¾ɭÞɟÎȎØĆÍĦÎɟÑÕØɭ) 

 

a) Mean, ÖɟĘ×  

b) Median, ÖɟȒĘ×¾ɟ 

c) Mode, ÔßȓÙ¾  
   

d) all the above}Ò×ȓxĆÍ ÞÕɠ 
 

OR 

Which of the following represent Median? (choose the correct alternative) 

ȑÑĞÑÖʃÞɭ¾ɩÑÖɟȒĘ×¾ɟ¾ɟŢȑÍȑÑκÐĕÛ¾ØÍɟßɮ(Þßɡ θÛ¾ġÒ ÃȓÑʃ) 

 

a) Q3               b) Q4               c) Q2                d) Q1 

5.  Shoe size of most of the people in India is No 8. Which measure of central 

tendency does it represent? (choose the correct alternative) 

ÕɟØÍ¾ɭyκÐ¾ɟɰÜÙɨÀʇ¾ɭÅȕÍɭ¾ɟz¾ɟØÞɰć×ɟ 8 

ßɮ]×ß¾ʃşɡ×ŢÛȗθǡ¾ɟ¾ɩÑÞɟÖɟÒÏÜɟxÍɟßɮ? 

 

a)  Mean  ÖɟĘ×  b) Mode ÔßȓÙ¾     c) Quartile ÃÍȓÎɟʋÜd) 

MedianÖɟȒĘ×¾ɟ 

 

1 

6.  The difference between largest and smallest items of the distribution is 

called_______(Fill up the blank with correct answer) 

θÛÍØÌ¾ɥÞÔÞɭÔîɠ©ØÄɨÈɡÛĦÍȓ̈ɰ¾ɭÔɠÃyɰÍØ¾ɨ_______ ¾ßɟÅɟÍɟßɮ 

(Þßɡ}ǡØ¾ɭÞɟÎȎØĆÍĦÎɟÑÕØɭ) 

 

1 
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7.  For a symmetrical distribution, the mean deviation calculated from any of the 

central tendencies will be_______ (Fill up the blank with correct alternative)  

¤¾ÞÖεÖÍθÛÍØÌ¾ɭεÙ¤, η¾ÞɠÕɠ¾ʃşɡ×ŢÛȗθǡÞɭÀÌÑɟ¾ɥÀ|θÛÃÙÑ_______ ßɨÀɠ 

 

a) zeroÜȕę×b)the same ¤¾ ßɡ Öȕġ×    c)differentyÙÀ  d)cannot sayȑÑȒĤÃÍ Ñßɡɰ 

1 

8.  That data whose Co-efficient of variation is the least has ________ (Fill up the 

blank with correct alternative) 

Ûßzɰ¾îɟ ȒÅÞ¾ɟθÛÃØÌ ÀȓÌɟɰ¾ ę×ȓÑÍÖ ßɮ ,Ûß ________ ßɮ 

 

 a) Least consistency ¾ÖÞɭ¾ÖÞɰÀȑÍ 

 b)Leasterror¾Ö Þɭ ¾Ö ŝȓȏÈ 

                              c) Most consistency ÞÔÞɭyκÐ¾ÞɰÀȑÍ 

 d) Most accuracyÞÔÞɭÞÈɡ¾Íɟ 

 

 

1 

9.  In Karl Pearsonôs coefficient of Correlation Method r =  , what is the 

value of x 

(choose the correct alternative) 

¾ɟÙxθÒ×ÞxÑ¾ɭÞßÞɰÔɰÐθÛκÐr = ¾ɭÀȓÌɟɰ¾Öʃ, x ¾ɟÖɟÑĆ×ɟßɮ 

 

                              a) x= (X-   b) x= (X-   

 c)x= (X-               d)x= (X-  

1 

10.  

Column A Column B 

 

a) Laspeyreôs method 

ÙɟÞÒɭ×Ø¾ɥθÛκÐ 

i)Weighted average of quantity relatives 

ÖɟŝɟĕÖ¾ ÞĞÔęÐɠ ©ÞÍÕɟØ 

1 
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Match the following. 

 

b)Wholesale price index number 

Îɨ¾Öȕġ×ÞȕÃ¾ɟɰ¾ 
ii)   

b) Paascheôs Method 

ÒɟÜɮ ¾ɥθÛκÐ 

iii) Rate of inflation 

ÖȓşɟĦÓɥȑÍ¾ɥÏØ 

d)Agricultural production index 

¾ȗθÝ}ĕÒɟÏÑÞȕÃ¾ɟɰ¾ 
iv)   

11.  A researcher is interested in studying the impact of globalization on rural 

economy. He interviewed several farmers in the village. What type of data did 

he collect? What are the benefits of this type of data collection?  

¤¾ÜɨÐ¾ÍɟxŐɟÖɠÌyÎxģ×ÛĦÎɟÒØÛɮĤÛɠ¾ØÌ¾ɭŢÕɟÛ¾ɟyĘ××Ñ¾ØÑɭÖʃȻκÃØ¿Íɟßɮ]
}ęßʇÑɭÀɟɯÛ¾ɭ¾|η¾ÞɟÑʇ¾ɟÞɟàɟĕ¾ɟØεÙ×ɟ]}ÞÑɭη¾ÞŢ¾ɟØ¾ɟzɰ¾îɭ ¤¾ŝη¾×ɟ? 

{ÞŢ¾ɟØ¾ɭzɰ¾Êʇ ¾ɭÞɰŐßÌ ¾ɭĆ×ɟÙɟÕßʅ?     

OR 

Do sample surveys provide better results than Census? Give reasons for your 

answer 

Ć×ɟŢȑÍÏÜx ÞÛɴàÌÞɰÀÌÑɟθÛκÐ ¾ɥÍȓÙÑɟÖʃÔɭßÍØÒȎØÌɟÖŢÏɟÑ¾ØÍɭßʅ? 

yÒÑɭ}ǡØ¾ɭÒà Öʃ Í¾x ÏɡȒÅ×ɭ 

3 

12.  Present the data given below in the form of a Histogram. ÑɠÃɭȏÏ¤À¤ zɰ¾îɨ 
¾ɨz×ÍκÃŝ ¾ɭȼÒÖʃŢĦÍȓÍ¾Øʃ     

ClassÛÀx FrequencyzÛȗθǡ 

0-10 10 

10-15 4 

15-30 18 

30-40 20 

3 
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40-60 60 

 

13.  What is a variable? Distinguish between a discrete variable and continuous 

variable 

¤¾ÃØĆ×ɟßɮ? ¤¾¿ɰιÊÍ ÃØ©ØÞÍÍ ÃØ¾ɭÔɠÃÕɭÏÔÍɟ¤ɰ 

OR 

Distinguish between exclusive and inclusive methods used in classification of 

data. Give examples. 

zɰ¾îɨ¾ɭÛÀɶ¾ØÌÖʃŢ×ȓĆÍyÒÛÅɶ ©ØÞÖɟÛɭÜɠ θÛκÐ¾ɭÔɠÃÕɭÏÔÍɟ¤ɰ ]}ÏɟßØÌÏɨ] 

4 

14.  Find quartile deviation and coefficient of QD from the following data. 

ȑÑĞÑεÙζ¿Ízɰ¾îɨÞɭÃÍȓÎx¾θÛÃÙÑ©ØÃÍȓÎx¾θÛÃÙÑÀȓÌɟɰ¾áɟÍ¾ɥȒÅ¤ 

    

Wages 

ÛɭÍÑ 

50 55 58 60 70 90 95 110 

Workers 

¾Öɶ 

5 7 12 10 8 6 2 9 

 

4 

15.  What is Index Number? Explain the uses of Consumer Price Index number. 

ÞȕÃ¾ɟɰ¾η¾Þɭ ¾ßÍɭßɮ? }ÒÕɨĆÍɟÖȕġ×ÞȕÃ¾ɟɰ¾¾ɭ}Ò×ɨÀ¾ɥģ×ɟć×ɟ¾Øʃ] 
4 

16.  In a fancy dress competition, two judges awarded the following marks to 5 

participants, calculate co-efficient of rank correlation. Also comment upon the 

nature of correlation. 

¤¾ÓʅÞɠŚɭÞŢȑÍ×ɨκÀÍɟÖʃ, Ïɨę×ɟ×ɟÐɠÜʇÑɭ5 

ŢȑÍÕɟκÀ×ʇ¾ɨȑÑĞÑεÙζ¿Íyɰ¾ŢÏɟÑη¾×ɭ, ¾ɨȏÈ 

ÞßÞɰÔɰÐÀȓÌɟɰ¾¾ɥÀÌÑɟ¾Øɨ]ÞßÞɰÔɰÐ¾ɥŢ¾ȗȑÍÒØÕɠȏÈĚÒÌɠ¾Øʃ]  

Mark by Judge.1 85 60 55 65 75 

Mark by Judge.2 60 55 65 50 70 

6 
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OR 

What is scatter diagram? How does it help in determining the form of 

relationship between two variables X and Y? 

θÛàɭÒ θÛκÐ Ć×ɟßɮ? ×ßÏɨÃØX ©ØY ¾ɭÔɠÃÞɰÔɰÐ¾ɨȑÑÐɟxȎØÍ¾ØÑɭÖʃ¾ɮÞɭÖÏÏ¾ØÍɟßɮ?

  

17.  a) In an asymmetrical distribution median is 25 and mean is 28. What will 

be the value of mode? 

¤¾θÛÝÖθÛÍØÌÖʃÞÖɟÍØÖɟĘ×25 ©ØÖɟȒĘ×¾ɟ28 

ßɮ]ÔßȓÙ¾¾ɟÖɟÑĆ×ɟßɨÀɟ? 

b) Calculate median from the following data.

 ȑÑĞÑεÙζ¿Ízɰ¾îɨÞɭÖɟȒĘ×¾ɟ¾ɥÀÌÑɟ¾Øʃ] 

   Marks (yɰ¾ ) No of students (θÛʬ×ɟκÎx×ʇ ¾ɥ 
Þɰć×ɟ ) 

More than  0 (0 Þɭ yκÐ¾ ) 62 

More than 10 (10 Þɭ yκÐ¾ ) 61 

More than 20 (a0 Þɭ yκÐ¾ ) 59 

More than 30 (30 Þɭ yκÐ¾ ) 50 

More than 40 (40 Þɭ yκÐ¾ ) 40 

More than 50 (50 Þɭ yκÐ¾ ) 28 

More than 60 (60 Þɭ yκÐ¾ ) 11 

More than 70 (70 Þɭ yκÐ¾ ) 4 

 

2 

 

 

 

4 

 

PART B:MICRO ECONOMICS 

 

18.  Mr. X got campus selection from three reputed firms at a monthly salary of Rs 

100,000, Rs 120,000, and Rs 80,000 respectively. Assuming the working 

conditions are same, the opportunity cost of the offer chosen is: (choose the 

correct alternative) 

1 
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ŬɠÖɟÑ X¾ɨÍɠÑŢȑÍȒĥÉÍÓÖʝÞɭ1,00,000 ȻÒ×ɭ, 120,000 ȻÒ×ɭ©Ø80,000 

ȻÒ×ɭ¾ɭÖɟεÞ¾ÛɭÍÑÒØ¾ʅÒÞȑÑ×ȓȒĆÍ εÖÙɡ ]¾ɟÖ¾ɥÒȎØȒĦÎȑÍ×ʇ¾ɨÞÖɟÑÖɟÑÍɭßȓ¤, 

ÃȓÑɭÀ¤ŢĦÍɟÛ¾ɥyÛÞØÙɟÀÍßɮ(Þßɡ θÛ¾ġÒ ÃȓÑʃ) 

                  a) Rs.120,000                                      b) Rs.100,000 

      c) Rs.80,000                                        d) Rs.20,000 

19.  Price elasticity of demand for a commodity is (-) 1, what will be percentage 

change in price that will raise the demand from 30 units to 45 units? (choose the 

correct alternative) 

¤¾ÛĦÍȓ¾ɭεÙ¤ÖɟɰÀ¾ɥ¾ɥÖÍÙɨÃ (-) 1 ßɮ, Öȕġ×ÖʃŢȑÍÜÍÒȎØÛÍxÑĆ×ɟßɨÀɟÅɨ30 

{¾ɟ{×ʇÞɭ45 {¾ɟ{×ʇ¾ɥÖɟɰÀ¾ɨÔïɟ¤Àɟ?(Þßɡ θÛ¾ġÒ ÃȓÑʃ) 

                  a)+50%                                         b) (-)100% 

                  c)+30%                                         d) (-)50%  

1 

20.  Which of the following can be referred to as ópoint of satietyô? (choose the 

correct alternative) 

ȑÑĞÑεÙζ¿ÍÖʃÞɭη¾Þɭ'ÍȗȒĚÍ¾ɟȐÔɰÏȓ' ¾ßɟÅɟÞ¾Íɟßɮ?(Þßɡ θÛ¾ġÒ ÃȓÑʃ) 

 

a) Total Utility is falling ¾ȓÙ}Ò×ɨκÀÍɟκÀØØßɡßɮ   

b)Total Utility is rising¾ȓÙ}Ò×ɨκÀÍɟÔïØßɡßɮ 

c) Marginal utility is zero ÞɠÖɟɰÍ}Ò×ɨκÀÍɟÜȕę×ßɮ 
  

d) Marginal Utility is negative  ÞɠÖɟɰÍ}Ò×ɨκÀÍɟÑ¾ɟØɟĕÖ¾ßɮ 

OR 

If price of commodity is zero, the consumer will consume till Marginal utility 

becomes___________ (Fill up the blank with correct answer) 

×ȏÏÛĦÍȓ¾ɥ¾ɥÖÍÜȕę×ßɮ, 
Íɨ}ÒÕɨĆÍɟÍÔÍ¾}ÒÕɨÀ¾ØɭÀɟÅÔÍ¾ÞɠÖɟɰÍ}Ò×ɨκÀÍɟ___________ 

ÑßɡɰßɨÅɟÍɠ(Þßɡ}ǡØ¾ɭÞɟÎȎØĆÍĦÎɟÑÕØɭ) 

1 
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21.  Ravi buys 4 units of apple and 2 units of orange by spending Rs.20. If price of 

apple increases from Rs.4 to Rs 5.His budget line_________ (Fill up the blank 

with correct alternative) 

ØθÛ20 ȻÒ×ɭÖʃ4 {¾ɟ| ÞɭÔ©Ø2{¾ɟ|ÞɰÍØɭ¿ØɡÏÍɟßɮ]yÀØÞɭÔ¾ɥ¾ɥÖÍ4 

ȻÒ×ɭÞɭÔï¾Ø5 Ȼ ßɨ ÅɟÍɠ ßɮƅ. ÍÔ }Þ¾ɥ ÔÅÈØɭ¿ɟ 

_________(Þßɡ}ǡØ¾ɭÞɟÎȎØĆÍĦÎɟÑÕØɭ) 

a) Will shift downward ÑɠÃɭ¾ɥ¨Ø ζ¿Þ¾ Åɟ×ɭÀɠ   

b) Will Shift upward~ÒØ¾ɥÍØÓζ¿Þ¾ Åɟ×ɭÀɠ 

c) Can shift both upward or downward~ÒØ×ɟÑɠÃɭÏɨÑʇ ÍØÓ ζ¿Þ¾ Þ¾Íɠ ßʅ 

d) Will  not shift Ñßɡɰζ¿Þ¾ɭÀɠ  

1 

22.  Which one of the following is the result of increase in price of factors of 

production? (choose the correct alternative) 

ȑÑĞÑεÙζ¿ÍÖʃÞɭ¾ɩÑÞɟ}ĕÒɟÏÑ¾ɭ¾ɟØ¾ʇ¾ɥ¾ɥÖÍÖʃÛȗʬκÐ¾ɟÒȎØÌɟÖßɮ?(Þßɡ θÛ¾ġÒ 
ÃȓÑʃ) 

a) Rightward shift in supply curve Ïɟɰ×ɠ ÍØÓ ÒȕȑÍx ¾ɟ ζ¿Þ¾Ñɟ  

b) Leftward shift in supply curveÔɟɰ×ɠ ÍØÓ ÒȕȑÍx ¾ɟ ζ¿Þ¾Ñɟ 

c) Expansion in supply ÒȕȑÍxÖʃθÛĦÍɟØ   

d) Contraction in supplyÒȕȑÍxÖʃÞɰ¾ȓÃÑ 

1 

23.  When the total Fixed Cost of producing 100 units is Rs.30 and Average Variable 

cost is Rs.3,  total cost is________  (Fill up the blank with correct alternative)  

ÅÔ100 {¾ɟ{×ʇ¾ɭ}ĕÒɟÏÑ¾ɥ¾ȓÙȒĦÎØÙɟÀÍȻ .30 ßɮ©Ø©ÞÍÒȎØÛÍxÑÜɠÙ ÙɟÀÍȻ 
.3 ßɮ, Íɨ¾ȓÙÙɟÀÍ________ ßɮ ?(Þßɡ θÛ¾ġÒ ÃȓÑʃ) 

a)Rs.3     b) Rs.300 

c)Rs.330    d) Rs.30 

1 
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24.  State whether the given statement is true or false: 

Total product always increases whether there is increasing return or diminishing 

return to factor 

ÔÍɟ¤ɰη¾ȏÏ×ɟÀ×ɟ¾ÎÑÞßɡßɮ×ɟÀÙÍ: 

¾ȓÙ}ĕÒɟÏÑßÖɭÜɟÔïÍɟßɮĆ×ɟ×ȏÏ ÞɟÐÑʇ Öʃ ÔËÍɭ ŢȑÍÓÙ Þɭ ÛȗʬκÐßɨØßɡßɮ×ɟ ÞɟÐÑʇ 
Öʃ ÁÈÍɭ ŢȑÍÓÙ ÞɭÛȗʬκÐßɨØßɡßɮ 

1 

25.  Telecommunication market in India is dominated by Jio, Airtel, Idea and few 

other firms. 

They often start price wars. The market can be best classified as; (choose the 

correct alternative) 

ÕɟØÍÖʃÏȕØÞɰÃɟØÔɟÅɟØÖʃJio, Airtel, Idea ©Ø¾ȓÄyę×¾ɰÒȑÑ×ʇ¾ɟÛÃxĦÛßɮ] 

ÛɭyĆÞØ¾ɥÖÍ ×ȓʬÐÜȓȼ¾ØÍɭßʅ]ÔɟÅɟØ¾ɨÞÛɼǡÖȼÒÖʃÛÀɶ¾ȗÍη¾×ɟÅɟÞ¾Íɟßɮ; 
(ÞßɡθÛ¾ġÒÃȓÑʃ) 

a) Monopoly ¤¾ɟκÐ¾ɟØ   b) Perfect 

completionÒȕÌxŢȑÍ×ɨκÀÍɟ  

c) Monopolistic competition¤¾ɟκÐ¾ɟØɟĕÖ¾ŢȑÍ×ɨκÀÍɟd) OligopolyyġÒɟκÐ¾ɟØ 

1 

26.  When a seller sells his entire output at a fixed price, what will be the shape of 

AR & MR curves? 

ÅÔ¤¾θÛŎɭÍɟyÒÑɭÒȕØɭ}ĕÒɟÏÑ¾ɨ¤¾ȒĦÎØ Öȕġ×ÒØÔɭÃÍɟßɮ, Íɨ ©ÞÍ z× ©Ø 
ÞɠÖɟɰÍ z× ÛŎ ¾ɟz¾ɟØĆ×ɟßɨÀɟ? 

1 

27.  The demand curve (AR Curve) of a __________firm is comparatively less 

elastic. (Fill up the blank with correct alternative)  

__________Firm ¾ɥÖɟɰÀÛŎ (AR ÛŎ) ÍȓÙÑɟĕÖ¾ȼÒÞɭ¾ÖÙɨÃÏɟØßɮ] 
(ÞßɡθÛ¾ġÒ¾ɭÞɟÎȎØĆÍÕØʃ) 

a) Monopoly ¤¾ɟκÐ¾ɟØ  b) Monopolistic 

Competition¤¾ɟκÐ¾ɟØɟĕÖ¾ŢȑÍ×ɨκÀÍɟ 

1 
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   c) Perfect Competition ÒȕÌxŢȑÍ×ɨκÀÍɟ    d) OligopolyyġÒɟκÐ¾ɟØ 

28.  Explain the central problem óchoice of techniqueô 

¾ʃşɡ×ÞÖĦ×ɟñÍ¾Ñɠ¾¾ɟÃȓÑɟÛò¾ɭÔɟØɭÖʃôÔÍɟ¤ɰƅ 

3 

29.  How does a firm under monopolistic competition exercise partial control over 

price? 

¤¾ɟκÐ¾ɟØɟĕÖ¾ŢȑÍ×ɨκÀÍɟ¾ɭÍßÍ¤¾ÓÖx¾ɥÖÍÒØzɰεÜ¾ȑÑ×ɰŝÌ¾ɮÞɭ¾ØÍɠßɮ? 

OR   

There is large number of sellers in a perfectly competitive market. Explain the 

significance  

of this feature. 

ÒȕÌx ŢȑÍĦÒÐɶÔɟÅɟØÖʃÔîɠÞɰć×ɟÖʃθÛŎɭÍɟÒɟ×ɭ ÅɟÍɭ ßʅ] 

{ÞθÛÜɭÝÍɟ ¾ɭ ÖßĕÛ¾ɨ ĦÒĥÈ¾ɥȒÅ¤ ] 

3 

30.  Giving reasons, say whether the following statements are true or false?

   

a) If two goods X and Y are substitutes, a rise in the price of X will result in a 

rightward shift of demand curve of Y 

b) The demand for a commodity increases with increase in the income of its 

buyer 

¾ɟØÌÏɭÍɭßȓ¤, ¾ßʃη¾ȑÑĞÑεÙζ¿Í¾ÎÑÞßɡßʅ×ɟÀÙÍ? 

¾) ×ȏÏÏɨÛĦÍȓ¤X ©ØY ĦÎɟÑɟÒęÑßʅ, ÍɨX ¾ɥ¾ɥÖÍÖʃÛȗʬκÐÞɭY ¾ɟ 
ÖɟɰÀÛŎÏɟʁ¨Øζ¿Þ¾ɭÀɟ ] 

b)ŎɭÍɟ¾ɥz×ÖʃÛȗʬκÐßɨÑɭ Þɭ¤¾ÛĦÍȓ¾ɥÖɟɰÀÔïÅɟÍɠßɮƅ 

2+2 

31.  From the following schedule, find the level of output at which the producer is in 

equilibrium  

using marginal cost and marginal revenue approach. Give reasons for your 

answer. 

ȑÑĞÑεÙζ¿ÍyÑȓÞȕÃɠÞɭ, ÞɠÖɟɰÍÙɟÀÍ©ØÞɠÖɟɰÍØɟÅĦÛȸȒĥÈ¾ɨÌ¾ɟ}Ò×ɨÀ¾Ø¾ɭ 

4 
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}ĕÒɟÏÑ ¾ɟĦÍØÒÍɟ¾ØʃȒÅÞÒØȑÑÖɟxÍɟÞɰÍȓÙÑÖʃßɮ]yÒÑɭ }ǡØ¾ɭ Òà Öʃ }κÃÍ 
¾ɟØÌÔÍɟ×ɭ] 

Output(units) Average Revenue(Rs.)  Total Variable cost(Rs.)  

1 8 6 

2 7 11 

3 6 15 

4 5 18 

5 4 23 

 

OR 

The following table gives the total cost schedule of a firm. It is also given that 

the Average Fixed Cost at 2 units of output is Rs.10. Calculate óTotal Variable 

Cost and Marginal Costô at each level of output. 

ȑÑĞÑÍɟεÙ¾ɟ¤¾ÓÖx¾ɥ¾ȓÙÙɟÀÍyÑȓÞȕÃɠ¾ɨ 
ÔÍɟÍɠßɮ]×ßÕɠȏÏ×ɟÀ×ɟßɮη¾}ĕÒɟÏÑ¾ɥ2 {¾ɟ{×ʇÒØ©ÞÍȒĦÎØÙɟÀÍ10 Ȼßɮ] 
}ĕÒɟÏÑ¾ɭŢĕ×ɭ¾ĦÍØÒØ'¾ȓÙÒȎØÛÍxÑÜɠÙ ÙɟÀÍ©ØÞɠÖɟɰÍÙɟÀÍ' ¾ɥÀÌÑɟ¾Øʃ] 

 

 

 

 

 

Output (Units)  1 2 3 4 5 

Total Cost (Rs.)  50 65 75 95 130 

32.  ñChanges in both demand and supply of a commodity may or may not affect its 

equilibrium 

 Priceò Explain this statement with the help of diagram. 
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ñη¾Þɠ ÛĦÍȓ ¾ɥÖɟɰÀ©ØzÒȕȑÍxÏɨÑʇÖʃÒȎØÛÍxÑ,{Þ¾ɭÞɟĞ× 

¾ɥÖÍ¾ɨŢÕɟθÛÍ¾ØÞ¾Íɟßɮ×ɟÑßɡɰÕɠ¾ØÞ¾Íɟßɮ 

ò{Þ¾ÎÑ¾ɨzØɭ¿¾ɥÞßɟ×ÍɟÞɭĦÒĥÈ¾Øʃ] 

33.  In the following table, identify the different phases of the law of variable 

proportions and explain them with the help of the table and a diagram. Also 

explain the causes   

ȑÑĞÑÍɟεÙ¾ɟÖʃ, ÒȎØÛÍxÜɠÙyÑȓÒɟÍʇ¾ɭ 
ȑÑ×Ö¾ɭθÛεÕęÑÃØÌʇ¾ɥÒßÃɟÑ¾Øʃ©Ø}ęßʃÍɟεÙ¾ɟ©ØzØɭ¿¾ɥÖÏÏÞɭÞÖÆɟ¤ɰ]¾ɟØ
ÌÕɠÔÍɟ¤ɰ 

Variable input 

(Units) 

1 2 3 4 5 6 7 

Total Product 

(Units) 

2 6 12 17 20 20 18 
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34.  Define consumer equilibrium. Explain the conditions of consumer equilibrium 

with the help 

of indifference curve analysis. Use diagram. 

}ÒÕɨĆÍɟ ÞɰÍȓÙÑ ¾ɨ ÒȎØÕɟθÝÍ ¾Øʃ] }ÒÕɨĆÍɟ ÞɰÍȓÙÑ ¾ɥ ÜÍʝ ¾ɨ Þßɟ×Íɟ 
Þɭ ÞÖÆɟ{¤ | 

}ÏɟÞɠÑÍɟÛŎθÛĤÙɭÝÌ]zØɭ¿¾ɟ}Ò×ɨÀ¾Øʃ] 

OR        

Define indifference curve. Explain the Properties of Indifference Curve. 

}ÏɟÞɠÑÍɟ ÛŎ ¾ɨ ÒȎØÕɟθÝÍ ¾Øʃ ] }ÏɟÞɠÑÍɟ ÛŎ ¾ɭ ÀȓÌʇ ¾ɥ ģ×ɟć×ɟ ¾Øʃ] 
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